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Instructions:

[1 Read all the questions carefully.

[1 Read the instructions given with the questions before attempting them.
(1 Marks of each question are indicated against them.

Section A (Reading)
Q.1. Read the passage carefully and answer the questions given below :

Education is a sub-system of the wider social system. Although it functions autonomously, it
has linkage with the economic, political, religious and other sub-system which exert a
powerful influence on the goals of the educational sub-system.

Education can rarely free itself from social and cultural norms and has to relate itself to the
needs of society.

Due to globalization and modernization, our society is passing through momentous changes
in its value system. Values of yesteryears have taken a backseat and materialism, corruption,
this honesty and other negative values have come to the fore.

At this junction, all formal and informal agencies of education like Family, School and
community should realise the explosiveness of the situation. It is rightly said values cannot
be taught, they are caught. All the agencies should become role model if we want our youth
to be on the right path.

Absence of a congenial and loving atmosphere and quarrel among parents are the major
hurdles in this direction. In a nutshell, the family has ceased to be an institution for providing
cultural, aesthetic and moral education.

On the other hand, formal education is squeezed between memory and mechanisation. The
teacher has become a businessman doing private tuition instead of institutional teaching.
Race for degrees and jobs has deteriorated the situation further.

The National policy of education 1986 has shown concerned in this regard when it says, “The
growing concern over the erosion of essential values and ends increasing cynicism in society
has brought to focus the need for adjustment in the curriculum in order to make education of
forceful tool for the cultivation of social and moral values.”

The whole system of education needs complete over-hauling. If at all, we the citizens are
desirous of thwarting deterioration in values, teaching at all levels must emphasise on moral
education and character building. Intellect without wisdom can be suicidal.



Questions:

1. What is a subsystem of the wider social system. 1
(@) economics (b)  culture
(c) education (d)  globalization

2. Education system is linked with........ 1
(@) economic (b)  economic, political and religious
(c)  geographical (d) all of these

3. Which factors have great impact on education system. 1
(@) finance (b)  racism
(c) society and culture (d) media

4. What are the main cause of momentous changes in its value system ? 1
(@)  ancient culture (b)  backseat and materialism

(c)  globalization and modernization (d)  all of these

5. What is the primary Institution of education? 1
(@)  school (b)  career counseling classes
(c) home (d)  coaching institutes

6. Give the word from the passage that gives the meaning of ‘pleasant’: 1
(@)  congenial (b)  nutshell
(c) explosiveness (d)  curriculum

7. Cultural aesthetic and moral education can be found in....... 1
(@)  friend circle (b)  religious discourse
(c) family (d) office

8. What is the Rival of institutional teaching ? 1
(@)  society (b)  globalization
(c) moral education (d)  private tuition

9. The national education policy 1986 emphasise on 1
(@) readjustment (b) cultivation
(c) re adjustment in curriculum (d)  wisdom

10.  The noun form of Economics. 1
(@) economic (b)  economy
(c)  economical (d)  economically

Q.2 Read the passage carefully and answer the questions given below:
Homeopathy, a system of alternative medicine, was developed by German

physician Samuel Hahnemann in the late 18th century. The term "homeopathy"
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comes from the Greek words "homoios" (similar) and "pathos" (suffering).
Homeopathy is based on the principle of "like cures like," which means that a
substance that causes symptoms in a healthy person can be used to treat similar
symptoms in a person who is ill.

Homeopathic medicines, known as remedies, are prepared from plants, minerals,
and animal products. These remedies are highly diluted, often to the point where
the original substance is no longer detectable. Homeopaths believe that the
remedies retain a "memory" of the original substance, which allows them to treat
patients.

Homeopathy is used to treat a wide range of health conditions, including allergies,
anxiety, arthritis, and colds. Homeopathic remedies are available in various forms,
including tablets, liquids, and ointments.

Questions:
1. Make notes on the above passage in points. 3
2. Give a suitable title to the passage. 1

Section B (Writing)

Q.3  You are Ruchi Dubey. you have found a school bag in the playground of your

school prepare a notice for school notice board for “lost and found “ column. 4
Or,

Design an attractive poster for ‘Say no to junk food’.

Q.4 You are Rudraksh Sharma write a letter to your friend Anil informing him about
your Diwali festival preparation. 4

Or

You are Shuchita Tiwari residing at 321 Amaltas Complex, Shivaji Nagar,
Bhopal. Write a letter to the SDM of your area requesting him to put a ban on
loud speakers during your annual examination.

Q.5 You have witnessed a train accident. Write a report for a newspaper in about

120 words about the accident using the following details. 4

A. Bus collides with a train B. Location, Time, Date of accident

C. Casualties and relief D. Dead and injured and reactions

E. Blood donors F. Help of local people and high authorities.



Or,
Write paragraph in about 120 words on any one of the following topics:
1. Festivals of India 2. Importance of English language
3. My dream 4. Value of games

Section C (Grammar)
Q.6 Fill in the blanks with appropriate words given in the brackets. (Any five) 1x5=5

i) Mohan is......... M. A. of Vikram university. (a, an, the)
ii) She did not make......... Mistake in the essay. (any, much, many)
iii) When | was at school I........ Never understand physics. (can, could, may)
iv) | help you? (May, will, should)
V) A cat jumped......... the running water. (in, into, by)
Vi) there is life there is hope. (As soon as, As long as, As if)
Q. 7 Do as directed. (any five) 1x5=5
i) He is too old to cross the river (Rewrite the sentence using 'so that')
ii) She knows me. (Change into passive voice)

iii) a) Gopal is my friend.

b) He has topped the merit list. (combine the sentence using 'who')
iv) As soon as | saw her, | knew there was something wrong".

(Rewrite the sentence using No sooner than in the place of as soon as)
V) He purchased a new car. (change into present continuous)

Vi) He failed. He did not study well. (combine the pair of sentences using So)

Section- D (Text Book)

8. Read the following extract carefully and answer the questions given below.
Once upon a time there was a man who went around selling small rattraps of
wire. He made them himself at odd moments, from the material he got by
begging in the stones or at the big farms. But even so, the business was not
especially profitable, so he had to resort to both begging and petty thievery to
keep body and soul together. Even so, his clothes were in rags, his cheeks were

Sunken, and hunger gleamed in his eyes.

Questions:
(i) Name the chapter. (1)
(a) Indigo (b)  The Third Level
(¢c)  The Enemy (d)  The Rattrap



(iif)

(iv)

What is the antonym of the word 'Petty' from the following ? (1)

(@) small (b) of little importance

(c) petit (d) major

What does the Phrase 'keep body and soul together' mean ? (1)
(a) stay alive (b)  stay optimistic

(c)  stay pessimistic (d) stay alone

Name the author of this chapter.

(1)

(@)  Louis Fischer (b) William Douglas

(c) Pearl S. Buck (d) Selma Lagerlof

Write the synonym of the word 'gleamed'. (1)
(@)  sparkle (b)  dull

(c) dark (d)  ugly

9. (A) Read the following extract carefully and answer the questions given below.

Driving from my parent's home to Cochin last Friday morning.

| saw my mother, beside me

Doze open mouthed her face ashen like that

Of a corpse and realised with pain

Questions.

(iii)

(B)

The Shokalskiy had managed to wedge herself into a thick white stretch office

The poetess is driving on which day?

(@) Monday (b)
(c) Sunday (d)
Who is sitting beside the poetess ?

(@)  her Mother (b)
(c)  her daughter (d)

What is the name of the poem ?
(@) Keeping quiet (b)
(c) My Mother at Sixty-six (d)

(1
Friday
Saturday

(1)
her Sister
her Friend

(1
A thing of beauty
A Roadside stand

Read the extracts given below and answer the questions that follow.

between the peninsula and tadpole Island which was preventing us from going any further.

The captain decided we were going to turn, around we did, we were all instructed to climb

down the gangplank and walk on the ocean. So there we were, all 52 of us, kitted out in

Gore-Tex and glares, walking on a stark whiteness that seemed to spread out forever.
Underneath our feet was a metre- thick ice pack, underneath that, 180 meters of living,

breathing salt water.



Questions :

(i) How many students were the part of 'students on ice' programme ? (1)
(a) 52 (b) 54
(c) 56 (d) 58

(i) What did the captain instruct to do ? (1)
(@) togoandswim (b)  to collect the water

(c) to Climb down the gang plank. (d)  towalk on the water

(i)  What is Gore-tex ? (1)
(a) Tax paid to government (b) A Teflon Fabric
(c) Fabric that makes the skin fairer (d) Peninsula and tadpole Island

(iv)  Underneath our feet was thick ice pack, ? (1)
(@) a Meter (b) two Meter
(c) three Meter (d)  four Meter
10. Answer the following questions in about 30 words (any 5) (2x5=10)

(i) What had been put up on the Bulletin -Board ?
ii) What makes the city of Firozabad famous ?
i)  Why was Douglas determined to get over his fear of water ?
iv)  List the places that Gandhi Visited between his first meeting with
Shukla and his arrival at Champaran.
(v)  Who, in today's world, is our chief source of information about personalities?
(vi)  Why did the peddler decline the invitation ?
(vii)  What is Sahab looking for in the garbage dumps ?
11.  Answer the following questions in about 30 words-[any three] (2x3=6)
(i) Why has the mother been compared the "late winter's moon ?"
(i) What will counting up to twelve and keeping still help us to achieve ?
(iii) List the things of beauty mentioned in the poem "A thing of Beauty" ?
(iv)  What was the plea of the folk who had put up the road side stand ?
12. Answers the following questions in about 30 words-[any two] (2x2=4)
(1) What did the Royal infant grow up to be ?
(i) Who was Dr. Sadao ? Where was his house ?
(i)  What does the third level refer to ?
13. Answers the following questions in about 75 words [any two] (3x2=6)
(i) How did Mr. Hamel pay tribute to the French language ?
(i) What could be the reasons for the migration of people from villages to cities ?

(i)  Write the qualities of a good leader.
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14.

15.

Write the Answer of any one of the Following questions in about 75 words.
What is the "sadness" that the poet refers to in the poem" keeping quiet ?
or

What is the 'childish longing' that the Poet refers to ? why it is in vain ?
Write the Answer of any one of the Following questions in about 75 words.
Why is Antarctica the place to go to, to understand the earth's Present,
Pastand Future ?

or

What are the ways in which Mr. Lamb tries to overcome his feelings ?

00

(3x1=3)

(3x1=3)
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IR | g geaRTST: ]IS Qe e T 9@ | SR SIFTEEI g
WS XY e e 96 A | T JAHA qEITSHT Sl WIol: [hAlU aoiRTS
CADGEICE

(@) BRI T SMHUY IS HUdT wara ?

(@) & Frcar Aot feAft aoaRTSt Biddar ?

(1) IERIST: AIST R 99 | i ?

SreNfelRad uerel ufewar YR SR FREGATIRI forad— (3)
JIRE g | dral aierued |
AEE U EeHTE R j9 ||

(@) DY I | it B ?
(@) | AT (ISTTRE) BH STIEI ?
(1) *f&: <6 fpmede emex ?

ST

ot et e wHera—:

AT BT [T FA=TI=<: |
"HRE A #EYR HEYR FIUIT:

ey I3 g1 fdedfa d=: | |
(@) a3 & faeraft ?
(@) GBI B TH AT ?
(1) gr: fob A HER Fquife ?



19.  JEfTRIGATCAT U YA STRIOT FIRIHTTT forRgd— 3)
DIETDIT: — AT e
T — o W F AR uRare sigaeeti |
FERTOTR TRl G (el |
DD~ TAIGHH,
NICICACEE I ICEN SIS IS R E RIS R
et = AE Juferta: | |

(@) <M B uRarg sigfesf ?
() P& gl drag A ?
() AT I =T B8 Ud T ?

S CI

Fdeaol: — oerT: el g WA Jfand: |

ATl —  @ued | AegSiRl |9 H ughn: | Al
e goaT U = SffidaRi, dat
SAFIHT A THRDR: |

A — AT 0! FHet O e ST Fueil I ereifT ?
AR T IRY A Ha Houe |
e el wiasfd |
JATCHTE ATTFANT & SIS 8K/ FAURIGATS |
JMTRIAT, To%: fUqWl o FHrER SAT9Td: |

() T <ered g FEAnT: sifard: iR
(@) &I oIl 7 H yghT: ?
(1) BT HHTEIR Saara:

20. YohIFILH TP AT TS W YRR Bl ABAAR o | (4)
arerar
AR U U U folad, Id AT 9ad: yod fawy fore=m A1 wafq |

aN s - N 4 o : . N aN
21. 3 ?’II@(‘IH\ SYISAITERT YlocdT AGUIT MRATATH SARMNUT XIRPAHNIT Teldd — (4)

HETTRY HGHUR HHRITT: WWWWW?WW@@
IR Y& Tl YGITd Gregucrell: URhen: | SAagt W ° HAfdg §Y
Wmmwmwmﬁﬁlwaﬁmﬁweﬂ%ﬁwm
9gel: TANT: WY 9afd, I HRUN eafiquu geid | URd: AW eI
YARRIGATATRYT fAfSeT= I STAfT | 37T T3 IIRFAT: SR SHThaI ARV
SrfraTEice o | & FIHIIRIY TR U BRI <TEd: UaT: qUSIa A
T TERI AR Fead W Ud &uuin: 7 g @Eed |qd i |
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TR . TEH, T I SEIUIISATE TS, ...
HERTSTRITIRATE ............ RRAT | OTEOT oo HEIUTATEHY 9aTg
ST . I, TG oo |

aFera

S AT—FHRO-JaAT G FeafRifoffasn |

ATATIRATEATT oo fafarsTe g3 oo |

AT D e | TEHATHIRAT ... | frda= fFreme |

....................... TG RRT S RIATANT: | oo, SITCTE |
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Subject - Physics
(Hindi & English Versions)

Total Question Total Printed Pages Time Maximum Marks
20 09 3:00 Hours 70

forder —

(1) = wed Sffvard €| UeH P 6 F 20 Id UAD U H IM<IRG fddhed & T € |

2) U FHHAIG 1,29 4 H UJD U W 6 3P IR TAP IUUTH WX 1 3fd =IilRa 2 |

B) U HHI® 3 5 H AP U W 5 3P 3R AP IuWeH W 1 3fd =IiRka g |

4) U HHI® 6 T 12 dH ISP U W 2 3fd MUiRT 8| T® SR & forv rsg AT
ST 30 IS B |

(5) U HHIB 13 9 16 TP AP U WX 3 3fdh RIRT B | IP SRk @ foru e Arm
R 75 UeR B |

6) U HHIB 17 9 20 TH AP UIT W 4 3fh FIIRT T TP Sk & foIy oreg Amm
ST 120 1 & |

(7) STIIHATIAR Wew Yd AMifhd & 918 |

Instructions :

1. All questions are compulsory. Internal options are given in each question from Question
Number 6 to 20.

2. Question number 1,2 and 4 carry 6 marks for each. Each sub question carries 1 mark.

3. Question number 3 and 5 carry 5 marks for each. Each sub question carries 1 mark.

4. Question number 6 and 12 carry 2 marks for each. The word limit for each answer is
approx. 30 word.

5. Question number 13 and 16 carry 3 marks for each. The word limit for each answer is
approx. 75 word.

6. Question Number 17 to 20 carry 3 marks for each. The word limit for each answer is
approx. 75 word.

7. Draw neat and labelled diagram wherever necessary.




701 TS U & ford fad o fAweui # 9 W81 SRk gaax forRay |

)

Select and write the correct answer from the option given in each question.

a)

b)

AR @RS el & 3R fAg]d &= &1 9149 B4l & |
@) sma (i) T3
(i) 1 (UDD) (v) B & $_reR

YRT T9cd BT SI ATHS & —
() we™ ufd Aler (i) VTR ufa Aie?
(i) M Uiy Ale®  (v)  UROER Ui Hiex

(1X6=6)

e I (SUBRY) H IR B HUSAl & AT Ioa URIY S0 HH H SISl

ST |

i)  droe HWex (i) arfex

(i)  dreer #Hex (v) ufoRwEr ara

T ORT GRYY H arcad aRT 8l § afe uRuy § 8 —
() Paa R (i) T L

(i)  R-L (v) R-C

TR Afee I ad fdhar SIer & —

() w=%F i) c-2m

(iii) c=5T (iv) |<=2?n

TBTIT BT T A1 fhar SIrar & —
() 9P s ITdH (i) UPR D IAEH A
(i) TpTe BN rghed A (v) gdTBRor B Reafcr 4

The intensity of electric field inside a charged hollow sphere is :-
(1)  infinite (i1)  zero

(i11) one (iv) Equal to radius

SI unit of current density is.

(1)  coulomb per metre (i)  Ampere per metre?

(iii) coulomb per metre? (iv) Ampere per metre

2



Y.02

c) In which device a high resistance is joined in series with the coil of galvanometer:
(i)  Voltmeter (1)) Ammeter
(i11)  Voltameter (iv) Resistance Box
d)  Inan alternating current circuit wattless current flows, if it contains:
(i) OnlyR (i) Only L
(i) R-L (iv) R-C
e) Wave vector is express by :-
i) w 2?” i) c-om
(i) ¢ % (v) K- 2?”
f) The colour of light is determined by :
(1)  Velocity of light (11)  Amplitude of light
(iii)) Frequency of light (iv) By position of polarization
Reh I &1 gfd sy — (1X6=6)
(@) BE B AR A BT FAGA, oo o @1 Wifd FIER BT & |
@) vdd RAC §RT @G0, o fqad= &1 STERT T |
() goIae BT fRM T, o BT 2 |
(B) IERWIS HSd B FTAR AT DI BA SO oo Bl 2|
S Ufshar # b AMHG HABY R TS 910 © |
() A rgaretd &1 Uik, Jgfg Mo R ST 2 |
Fill in the blanks -
a)  An air bubble inside the glass behaves like a, -------------- lens.
b)  The diffraction from single slit is example of ------------- diffraction.
c) The rest mass of an electron is ------------- .
d)  According to Rutherford's atomic model the total energy of electron becomes -----
e) In the process of ---------- , the lighter nuclei together make a heavy nucleus.
f) The resistance of semiconductor --------------- . on adding impurity in it.



.03 I I 3 follRgy — (1X5=5)
(@) T (y) faxon @ HeT ewar <gAad gkl 7 |
@) TSSO URHIY B AIFH il — 136 eV Bl B |
(@) gere faEd SIo & foly R a1qy ugad a1 Sl |
(@) <afdaexor, bl TAgRRe Bl 2 |
8) <9 UP o DI G H AR ST & Al SHD! &HAT 9¢ STl @ |

State true or false -

a)  The penetrating power of gamma (y) rays is least.

b)  The ionization energy of hydrogen atom is -13.6 ev.
c) The alkali metals are used for photoelectric emission.
d)  Interference fringes are equidistant.

e) When a lens is immersed into a liquid its power is increased.

U.04 el SIfeAl 9918y — (1X6=6)

T A ST

(@) e qRedl B e e (1) Sek?

@ O geAaelt &Y oA e (2) _u—‘;"(l + Be)

() Agad geHSEl DI AT & (3) %CV2

@) AP BT Holl T 4 1 +%

() arerd A Refier St (5) ‘f—f

(@) fagd woraa &1 A4 (6)  EdsCos@

Make the correct pair -
Column "A" Column "B"

1
(a)  Magnifying power of astronomical telescope (1) 5 g, E?

(b)  Magnifying power of simple microscope @) _u—‘;(’ (1+ u%
(c)  Magnifying power of Compound microscope  (3) %CV2

(d)  Energy density of conductor @4 1+ %

(e)  Potential energy of conductor (5) _f—efo

(f)  Value of electric flux (6) EdsCosf



Y.05

Y.06

Y.07

Y.08

UEH e AT U aia H Sk QIfory | (1X5=5)

(@) fHel ugrl @ gE@E ygfd — 05 T | IE AT USRS 7|

@) WWRe@ &1 SIAEG fofRay |

(@) Ror gfrerd vd el sgfcd &1 wdy faRag |

(®) oRT & F—AEg—A (rms) A9 U4 GRS b1 e fofau |

(5) fafeRor &1 &1 ygfa o1 yeRia &=+ arell yReemsil & 7/ faRkay |

fal]

Write the answer in one word or one sentence -

a) The magnetic susceptibility of a substances is - 0.5, which type of substance is this?
b)  Write the SI unit of self inductance ?

c) Write the relation between inductive reactance and angular frequence.

d)  Write the relation between root-mean-square (rms) value and peak value of current.

e) State the name of phenomena which shows the particle nature of radiations.

fxft factfird gt &1 g9l o1 R SUGT SIHE HF 8 SIdl 8, i 2 (2)

The mass of an isolated conductor decreases, when it becomes positively charged, why?

372791 / OR
3 fagd 91 X@¢ tah R a1 Bt ufoeee e el 7 | @ ?

Two electric lines of force never intersect each other, why?

fae@ uftRig va faf¥re ufeR (UfcRigean) § @i &1 R oty | (2)

Write any two differences between electric resistance and specific resistance (resistivity)
372147 / OR
Pl 9 @ SR URRIY &7 GRMT faRay vd g1 SI A6 T4 v 93 falay |

Write the definition of internal resistance and write its SI unit and dimensional formula.

T ofd, A aR H 35 A (UFR) faega oRT yarf2d 81 W8 21 R | 20 cm (FAL) 0
R Reod 5l g W™ g &5 &1 aRAT S IR | 2)
Long straight wire carries a current 35 A (Ampere). Find the magnitude of the magnetic
field at a point 20 cm from the wire?

3191dT / OR

e Raw e fasiell & AR 4 90 A fIgd a1 gd | uf¥=H @ iR yarzd & <&
2 IR & 15 m A fIgd IRT & HROT IO G &F BT GRATT 1T BTG 2




Y.09

.10

Y11

912

.13

A horizontal overhead power line carries a current of 90 A in east to west direction Find
the magnitude of magnetic field due to the current, 1.5 m below the line ?

AR s gRT BT pell & Sidfds e JAGfd Bl YTl IRT DI ok qll B, FAI?

A capacitor blocks direct current but allows to flow high frequency alternating current,

Why 2 (2)
312rdT / OR

yeaTad ¢RT, RGN Ud IMAD UHTd yeiia T8 erdl 8, @iy ?

Alternating current does not show magnetic and chemical effects, Why ?

FIH BH AT aTell fIgd S TR BT 49 T4 U AT foIRay | (2)

Write the name and one use of the lowest frequency electromagnetic wave.

31erdT / OR
e a1 @1 gy faRay vd s 93 fafag |

Write the definition of displacement current and its formula.

BISSIO URATY H $Hadl U &l Sodg & (] SHD Il WagH H By @MY Bl
2N (2)
The spectrum of hydrogen atom has many lines though a hydrogn atom contains only
one electron. Why?

319147 / OR
AMNDBIT He= 34l b T UrRINe T PRI Soll 9id @ ®U § & Ugad o
g3 © ?
The nuclear fusion could not be used as an experimental and controlled source of energy
till now. Why?

91 (FS1) Ud 918y (31gE) T&dreddl § ls &l =R forvey | (2

Write any two differences between intrinsic and extrinsic semiconductor.

312raT / OR

P UBR Td N UBR & AgaTadl # P ol 3R foRau |
Write any two differences between P type and N type semiconductors.

fera amr faaRor & Hdftra favdes & el o frRag | (3)
Write the Kirchhoff's laws related to the distribution of electric current.
319747 / OR

Adferd @lewe M dq BT [Jga uiRu a91d gU SHHT NG I HIfoy |

Establish principle of balanced Wheatstone bridge by drawing its electrical circuit.




914 dRI-wae & fa9 faRav den g9 99 &1 afeer wu foRkau | (3)

State Bio-Savart law and write it's vector form.

3121aT / OR

R &1 aRuefy form foRay vd Rig ifvig |

State and prove Ampere's circuital law.

Y15 UHR & AfGIHRO & foIU B IR Maedd ufase () foRay | (3)

Write any four necessary conditions for interference of light.
31e1dT / OR

UHTeT & gaol Bl YRATT foRay | UehTer & gaor &1 Jerd &1 a9 iRy |
Write the definition of polarization of light. Write the Malu's law of polarization of light.

16 SI—sTell ai T 82 SI—sTell DI G AT FHIHRIT AT HIY | (3)

What are de-Broglie waves? Establish the de-Broglie wave equation.
31erdT / OR
UhTel fggd U9Td RIT 57 UbTel fagd U9d @ dig &l e forfey |

What is photoelectric effect? Write any two laws of photoelectric effect.

U417 P-N W SRS &1 RRAMWART gd ued AR H fdgd uRuYy 991 gU S9! Brifafe
|HSId 8 falay | (4)
Write with explanation the working of P-N junction diode in forward bias and reverse
bias by drawing electric circuit.

31e7dT / OR

feedHoT 1 87 P-N A SHIIe &1 Y a7 fAeadRl & wU H IUIRT &7 quid =
Sl @& Td DI |

1. faga aRRuer

2. HRfafer

3. ol va fofd ReHe &1 a=T w9 |
What is rectification? Describe the use of P-N junction diode as a full wave rectifier
under the following heads.

1. electrical circuit

2. Working

3. Wave form of input and output signals

U188  Ife Yh1er fhvol ny 3MUId-Id drel HIEIH 9 n, TUdd-idh dlel ATEIH H Mol uddd

U H Ul Al § 99 g iy i — (4)
Nz D1 _ D27y
\% u_ R

(&t ddal b1 AT 3ref B)
7



If rays of light are incident from a medium of refractive index n; to refractive index n,

in spherical refractive surface then prove that
N Ny Np—1I4

\Y u R
(Where the symbols have their usual meanings)

3127t / OR

G RGN BT fR0T 3R AT Y S| SMMAei &HdT BT qF AT DI |
Safe sifow ufafde T gfte @t =9 <0 W & |

Establish the formula for magnifying power of astronomical telescope by drawing ray
diagram when final image is formed at least distance of distinct vision.

U9 YATadl oRT gRue R L, ¢ Ud R 2ol #§ S 87| S TTUET Sifeig | (4)
1. OROTHT fa9ar=R
2. gfaawEr
3. VUd I & #eg AMR

4. faga grv
Calculate in an alternating Current circuit in which the L, C and R are connected in
series.

1- resultant potential difference

2- impedance

3- phase difference between V and I

4- electric current

3ferar / OR
CTRABIER BT o AfeiRad fowgall & SaR R By |
1. Rygid
2. SHifded @

3. URUM 31UTd &1 A
Describe the transformer on the basis of following points
1- Principal
2- Labeled diagram
3- Formula of transformation ratio

g20 T fega & SR el Refa § Red el fowg w fagd & &1 dadn &1 doi®
YT BT | (4)

Establish the expression for the electric field intensity at a point, due to the electric
dipole located in the axial position.



312rdT / OR

FHITR =fc FIIRT &1 gIRAT 3 ST AU DISTY | gIRAT DI BIFT—bF H DR
g PR 2 |

Establish the expression for the capacitance of a parallel plate capacitor. What factors
affect its capacitance.

XXX



SAMPLE QUESTION PAPER FOR PRACTICE ONLY
HIGHER SECONDARY EXAM 2025
SUBJECT- CHEMISTRY
(Hindi & English Version)

Total Questions | Total Printed | Time (Hours) Maximum
Pages Marks
20 11 03:00 Hrs. 70

frder :

(i) Ty AT ARt B
(i) U FHHF 1 W 5 b IGTS T & D o1 ofd 28 T |

(i) U FHHIG 6 H 12 qPb, TS T¥H 2 3(d &7 2| (g AT 30 IT<8)
(iv) U HHIG 13 H 16 qb, UAD UeH 3 3iF &I 2| (Tg AT 75 IR)

(v) U BHIB 17 F 20 db, YD U9 4 3 BT 2| (Isg AT 120 )
(vi) U9 HHIB 6 W 20 Th YD ¥ 3faR® fAweu A T g |

Instruction

(1) All Questions are compulsory.
(i1))  Question Nos 1 to 5 are objective type question each carries 1 mark total 28 Marks.

(iii))  Question Nos 6 to 12 each question carries 2 marks. (word limit 30 words)

(iv)  Question Nos 13 to 16, each question carries 3 marks. (word limit 75 words)
(v)  Question Nos 17 to 20, each question carries 4 marks. (word limit 120 words)

(vi) Internal choice is given in every question from question Nos. 6 to 20.

1. 98 fdwer g fafay —
() TR T IEFTE -
(a) P=Ku/k
(c) P=Ku-x
(i) ™RER A 1 ST = # 3 e gfaa # vygad gar € -

(a) &GO A
(c) i 9

(ili) HAY T DI IR USRI B o, Rifh ITH 8ld & —

(1) IO IR HeEd
(c) 3l& IRd HedH

(b) x-Ku/p
(d) Ku=P-x
(b) aret =S
(d) e =S

(b) I geracly gad Herd

(d) R wers

1x6=6 3D



(iv) S O IR /WA F e forilve (Herh) &1 G Hearh © —

(a)  SATRATHIOT HE&AT (b) HHGIT HUS

(c)  3IYFI H&T (d) SUHSEIIST G0
(v) wrIffe UHE B EREAT —
(a) HAAIEHADIY (b) II<HADY

(c) Framig (d e
(vi) AR ST B IHIH! TG BT HROT & —
(a) 3Tl 98 & SuRefa (b) &R T B IuRefa
(c) T &R el d SuRefT (d) U 31T 9 T &R T8
CARSEIESI]

Choose and write the correct option —

(1) Formula of Henry's Law is.

(a) P=Ku/x (b)) x-Ku/p
(c) P=Ku-x (d Ku=P-x
(1)  In which of the following device mercury cell is used -
(a)  Auditory device (b)  Wall clock
(c) Callbell (d)  Alarm clock
(i11))  Transition elements show paramagnetic behavior because the possess -
(a)  Full filled orbital (b)  Paired electron orbital
(c)  Half filled orbital (d)  Vacant Orbital
(iv)  Number of Ligands attached with central metal ion/atom is called -
(a)  Oxidation Number (b)  Co-ordination sphere
(c)  Reduction Number (d)  Co-ordination number

(v)  Structure of Primary amine is -

(a)  Tetrahedral (b)  Octahedral
(c)  Trigonal (d)  Pyramidal
(vi)  Amphoteric nature of Zwitter ion is due to -
(a)  Presence of acidic group (b)  Presence of basic group
(c)  Presence of two basic group (d)  Presence of one acidic & one

basic group



Raa = wRY — 1x6=6 3ih

(i)  9reT arex H el graweIr =

(i) TS W o rfaforar grhl 2|

(iii) foerf= B-12# ... B T IR % |

(iv) Iord SUOT GO .o ST & |

(v) e U, fedi T o gofl # e SINDE

(vi) I T H FHRIHS FE -CHO B AT TT o NE
Fill in the blanks -

(1)  Solute phase in soda water is .....................

(A1) e reaction occurs at Anode.

(i11)  Central metal atom in vitamin B-12 is .....................

(V) e, shows silver mirror test.

(v)  Primary amines are ................. basic than secondary amine.

(vi) If a sugar contains functional group -CHO then sugar is .......................

g /3y ferfay — 1x6=6 3®
() foer= <1 a1 <1 9 1w <ragdl &1 A ST BT 7

(i) URR™ &1 Yk ATcddd HETT 2 |

(iii) C;HsOH AFERfE® Vehleid e ¢ |

(iv) WIfSTd d9ve BT SUANT Wrel uRRRer § T § |

(v) HATecH UwIgH ATC @ Tl H SIisfueae $l IURT T8l HRdT & |

(vi) EMFR 9T B URT 9 IR H garfad grd) SurdrRil fhanet &1 e axd ©
Write True / False.

(1)  Solution is the homogeneous mixture of two or more than two components.
(1))  Reciprocal of resistance is conductance.

(i11))  C2HsOH is not a monohydric alcohol.

(iv)  Sodium benzoate is used as a food preservative.

(v)  Maltase enzyme does not catalyze the hydrolysis of maltose to glucose.

(vi) Hormones regulate the metabolic process in body through the flow of blood.

3



e SISt g8y — 1x5=5 b

()  uafe o (a) Wi

(i)  afshaor o (b) TG
(iii)  dTell geliUeh (c) oIl 3R
(iv) wEaferd 3T (d B

(v)  USldSiE (e)  IrIohAYNA

Match the column

(1) Primary Cell (a)  Freon

(i1) Activation energy (b)  Esterification

(i11))  Polyhaloalkane (c)  Energy barrier

(iv)  Carboxylic acid (d)  Dyes

(V) Azo benzene (e)  Irreversible

TP I /91 ¥ Sx falRaw — 1x5=5 3®

() HsHEH # Fad setagMl @ ww=m fotffay |

(i)  Cr’" 3 &1 7 fefay |

(iii) PPl B G forRay |

(iv) fgdad Uepleld & SMRIGIOT | UId 819 dTel ScdTe &l A foIfRay |

(v) DN B AHE ST ¥ fhar 89 W) 9 Aiffte w1 9 faRag |

Write answer in one word / sentences

(1) Write the number of unpaired electrons present in cadmium.
(i)  Write the colour of Cr*" ion.
(i11)  Write the structure of Catechol.
(iv)  Write the name of product obtained from oxidation of secondary alcohol.
(v) Write the name of compound obtained by the reaction of Bromine water with
glucose.
fafire aret@ar @1 gy vd sars fafay | 2 3i®
Write the definition and unit of specific conductivity.
AT or
Aol ReRie &1 ulRTST Td gah1g foTRay |
Write the definition and unit of cell constant.

4



10.

NIRRT ATHAT & 97T BT IR &R faIRag | 2 3P
Define the rate of a chemical reaction
AT or
JAATHAT BT 3MMVaehar ®I IRATYT PR forfRey |
Define the molecularity of a reaction.

TS @ gl SUANT fIfRau | 2 3P

Write two uses of Lanthanides

SRAAT or
KMnO; & &1 SuanT forlRey |
Write two uses of KMnOg4
SUTEHATST AT B YRYTST I U IaT8xvT foTRay | 2 3ih

Write the definition and one example of co-ordination number.
3dT or
BT ST URATY] BT URHTET T U ITev0T forfay |
Write the definition and one example of central metal atom.
fforRaa Suedare Al & §3 faRag | 2 3
() deRrm cgrrsiRe Nae (1)
(i) <V THETEAIRS! didee (I1) FARES

Write the formula of following co-ordination Compounds.

(i)  Potassium tetrahydroxido zincate (II)
(ii)  Tetrammine aquachlorido cobalt (III) Chloride
3dT or
fereferia Sudswars Al & TUPAC -4 ol |
(i) [Pt (NHs3)2 C1 (NO»)]
(i)  [Co(Cl) (en)]
Write the [IUPAC name of following co-ordination compounds.
(i) [Pt (NH3)2 C1 (NO2)]
(i)  [Co(Cl) (en)]



11.

12.

13.

14.

arsfAiferd Ballgs T URA Ballss H Ush IR foRau | 2 3@
Write one difference between Vinylic halide and aryl halide.
3IdT or
vfetfore 2aligs g dfifeld walge d Ta <R forfay |
Write one difference between Allylic halide and Benzylic halide.
99 & IRR H fJerfim— ¢ |fea =21 g @i ? 2 3i®
Vitamin — C is not stored in human body, Why ?
AT or
o1 B TR § ReIA-D <R 8 o 8, i 2
Vitamin — D is stored in human body, Why ?
34 ARl @ dife & T HIRE, e a1 2oid 8 — 3 3P
() T =K[A]"*[B]*

(i) T =K[A]¥*[B]!

Calculate the order of reaction which has rate expression —
@)  Rate=K[A]"*[B]¥*
(i) Rate=K[A]¥*[B]!

AT or
fr=faRaa a1 ReRrial & ifafhar s @ ggae HINH |
(i) K =2.3x10% L mol! S
(i) K=3x10* S

Identify order of reaction by following rate constant —

(i) K =2.3x10°> L mol! S’!

i) K=3x10* S'!

d &l & Tcd gRE SATRATAROT FT YafRid &Rd & @i ? Iaervl forgy | 33

d- block elements exhibit variable oxidation state, why ? Write with example.

AT or
d < & dd I [0 J&Rid BRd &, dl ? IaTexv foIfy |

d- block elements exhibit magnetic properties why ? Write with example.

6



15.

16.

17.

SHIGCT & IR FHEgaral § SN g SN2 sffehar &1 srwfharefierdr &1 % rHr-id
o oy | 3 3P

Assume the order of reactivity of SN! and SN? Reaction for four isomers of Bromobutane.
3T or

fFrferRad ®refe AiRTel @1 Fvamr faRay |

() 2 — @RI — 3 — HAfYAU<HA

(i) 1, 4 — SRAMYS — 2 — 34

(iii) 1 — TR — 4 — YRreaTSadiedi

Write the structure of following organic compounds -

(1v) 2 — Chloro -3 — Methyl pentane

(V) 1,4 — dibromobut — 2 ene

(vi) 1 — Chloro — 4 — Ethyl cyclohexane

ferrferRae aRac= &d & ? faRay | 33i®

(i)  aIF A ARl
(i) domEsS ¥ Vel
How will you convert ?
(1) Benzene to Aniline
(i)  Benzamide to Aniline
ST or
fr=faRaa aRada & &t ? foRag |
(i) eSS 9 N- Ufedhe ddHES
(il) 9T TEARES 9 N, N- SRHRAG M #eHHH
How will you convert ?

(1) phthalimide to - N — alkyl phthalimide

(11)  Benzyl chloride to N, N dimethylphenyl methenamine.
(i) TS H IIF DI GRFINT ST 9 FHT Alcteardl | Fael Rq1fid HifvT |
4 3D
(iii) TP AUA U | 36g DIt DI 1 kg ST | el T 1.013 IR @ R I8
STet T A WR el ? ofd & ol Kp = 0.52 K kg mol! & |




18.

(1)
(ii)

(1)

(i)

(1)

(i)

(i)

(i)

(1)

(ii)

Define the elevation in boiling point and establish a relation of it with molality.
36g of glucose, CcH120s, is dissolved in 1 kg of water is a saucepan, At what
temperature will water boil at 1.013 bar ? K, for water is 0.52 K kg mol.

3YCT or

HIN S d9 W IS d e Gied R goldol S+ 8 o, i ?
Udh UIEH BT 200 cm’ STeild fdeae # 1.26g WEH & 300 K IR 39 fded &1

TRTERYT €19 2.57 x 10 -3 R URT 1T W & AN Sa BT URdbe PIfoT |

Fizz / Bubbles are produced on opening of a bottle of soda water at room
temperature, Why ?

200 cm?® of an aqueous solution of a protein contains 1.26g of the protein. The
osmotic pressure of such a solution at 300 K is found to be 2.57 x 10~ bar. Calculate
the molar mass of protein.

Ife e enfeads aR # 0.5 YPYTR @) o7 2 Gvel @ forg yarfd Bkl @ af aR #
I faq gorde™ ydrfed 8 | 4 3D
frforRaa siffdhar # Cr,07% Al & Us Al & U & folg S H fagd
®I fha A3 @1 MaeIAHAT BRI —

Cr207% + 14H" + 6" —» 2cr** + TH20

If a current of 0.5 ampere flows through a metallic wire for 2 hours, than how
many electrons would flow through the wire ?
Considers the reaction Cr.07> + 14H" + 6 —» 2cr’" + 7H,0. What is the
quantity of electricity in coulombs needed to reduced 1 mol of Cr,O7*

3T or
0.025 mol L' #i2Migd 31T &) aTctbdl 46.1 S cm? mol™! 2 | g9 e 9

vd oo ReRies &1 gReba diforr | fdar = & & A[H] = 349.6 S cm? mol™!
vd A[HCOO] =54.6 S cm? mol”!

The conductivity of 0.025 mol L' Methanolic acid in 46.1 S ¢cm? mol™!. Find

out the Rate of dissociation and dissociation constant.



19. WA T Uaid uelRid a=ar g @i fofRay |

Phenol shows acidic nature, why ?
AT
PreferRad RIS iRl &1 ol iR |
(1) N=N-Cl
H,O

—

/A Cux,

(ii) SO;H
(i) NaOHA
(i) H

(iii) Cl

+ NaOH 623K

—>

300 atm

(ivy RCOOH LiA 1H,
—
H,0

Complete the following chemical reactions.
FeferRad e sfifdharal o gl BIfew |
(1) N=N-CI

H,O

—

A CU.X2

(ii) SO;H

(i) NaOHA
(i) H'

4 b



(iii) Cl

+ NaOH 623K

—>

300 atm

(ivy RCOOH LiA IH,
—
H,0

20. T Bl © o9
(i) 2HCHO +NaOH  —»
(i) ~COOH =g HNO;

»

ag HNO;

(111) COOH Br/Fe

—

(iv) R-COONa NaOH +CaO
N

What happens when —
(1) 2HCHO + NaOH —
(i1) COOH g HNOs

»

@ HNO;

(111) COOH Br/Fe

—

(iv) R-COONa NaOH + CaO
A >

10

4 3P



3ferar
UAS  H DI AT I TS BT |
(1) CH3C02H or CHQFC02H

(i) CH,FCO,H or CH,CIO,H
(111) CHzFCH2CH2C02H or CH3CHFCH2C02H

(iv) FsC or HsC

COOH COOH

Which of the acid is stronger in each pair.

(i) CH;COzH or CH,FCO,H

(ii) CH2FCO;H or CH,CIO,H

(ii1)) CHFCH,CH,CO,H or CH;CHFCH,CO,H.

(1v) FsC or H;C

COOH COOH

11



Had R B T T 9
Sample Question Paper for Practice only
TRR DS GNIem —2025
Higher Secondary Examination —2025
favg — <= i@

Subject Name —Higher Mathematics
(Hindi & English Versions)

Total Questions Total Printed Pages Time

Maximum Marks

23 13 3 Hour

80

facer :
(i) ¥ e <ifard € |

(ii) T2 T 1 W 5 TH D SUNLH UAH 1 3B B ¢ |
(iii) e =T 6 A 15 TP UAD 2 3F D B |
(iv) Te9 =T 16 H 19 AP UAD 3 3(F D 2 |
(v) 9 GR&T 20 W 23 TP UAR 4 3B D T |

Instructions :
(1) All questions are compulsory.

(11) Sub-questions of Question numbers 1 to 5 carry 1 mark each.

(i11) Question numbers 6 to 15 carry 2 marks each.
(iv) Question numbers 16 to 19 carry 3 marks each.

(v) Question numbers 20 to 23 carry 4 marks each.




(1) <& fdpeq gadx forfdy : 1x6=6
i) afe A={1,2,3} & d 3@q (1,2) dTcl JoIar Haell Bl G 8 —

a) 0 b) 1 c)2 d) 3

(i) sin™! @1 =T AR P IRA 3—

a) (0,m) b) [-3,7]
c) R d) (0,2m)

i) af A=[7 7] & a4t @ aE -

o 7] m[%
o5 o7 4l

) af | X2 =|0 2 e rawe

a) 6 b) £6 c) —6 d) 0
V) Al <7 Afee @ 9o b & 99 & BT 6 ¥ Wd d.bh =0, 79 6 R T —
a) 1 b) 7 ) > d)m

vi) I8 fa=g [0 @1 7 = =1 + 2k + p(41 + 4] + 4k) ToRaT & —
a) (—1,2,0) b) (4,4,4) ¢) (0,0,0) d) (—1,0,2)

Choose and write correct option -

i) If A = {1,2,3} then number of equivalence relation with element (1,2) is—

a) 0 b) 1 0 2 d) 3



i) Range of principal value of sin™ ! is

a) (0,m) b)[->,7]
c)R d)(0,2m)

iii)IfA = [_31 ;] then value of A2 is
o [; 5] »[Z5 3]

c) [_62 ﬂ ) [:?1) —12]

iv)lf|1x8 )Zc|:|168 glthenvalueofxis

a) 6 b) +6 0) -6 d) 0

v) If angle between @’and bis®and d.b = 0, then  is equal to—

a) 1 b) g c)

e

d) n

vi) The point through which the line7 = —i + 2k + p(41 + 4f + 4k) passes is —
Q) (=1,20)  b)(444) c)(0,0,0) d) (=1,0,2)

(2) Raa =l @ gfid Sifog — 1x6=6
() I A W aRWIG Fde R ... ... ... HEAT & Tl TAD
a€A® U (a,0) €R
i) IfC E Ud F Wdd "geAN 8 P(F) #0 @ P(E|F) = ...
i) I A v Ay gafd amegg e ar A = ... ...
iv) I BIs I Mg JYHANI § dd |A]| =.....2 |

v) log|secx| BT 3ddbold WTa......... 2 |

Vi) Bed f & Wd H U g ¢ B W f'(c) =0 B f Bl.......[d

PHEATAT 2 |



Fill in the blanks -
i) Relation R defined on set A for everya € A (a,a) € R then relation R is called......
ii) If E and F are independent events, P(F) # Othen P(E | F) = ........
iii) If A is a skew symmetric matrix thenA = ... .....
iv) If A is a square non invertable matrix then |Alis.........
v) Differential coefficient of log|secx| is ... ...
vi) A point ¢ in the domain of a function f at which f'(c) = 0 is called

a.......point of the function f.
(3) /3w fofgy — 1x6=6

i) f (x) = 2x §RT Usd B f:N - N Tdhal 2|
i) forely TTA® SN @ fAd0t & ) 3raud §o+ 81 2 |

i) f (x) = |x| gNT YT Bew Aad BT © |

. _q 3

iv) cot~1(,/3) &1 g A — T

V) STade AR L = eX*Y T AIH T eX + eV =C T

vi) IR Pife aret fixdl radmdl THIHRU & ATUH 8 H SURT WS 3R DI
AT 4 B B

Write true and false -

i) The function f: N = N given by f (x) = 2x is one — one.

ii) All the elements of the diagonal of an identity matrix are equal.
iii) The function given byf (x) = |x| is continuous.

iv) Principal value of cot ~*(,/3) is 3?”

dy
dx

V)The differential equation -= = e**” has a general solution e* + e ™ = C

vi)The number of arbitrary constants present in the general solution of a differential

equation of order four is 4.



(4) € SISI T8 — 1x7=7
A H H
. 2
) J tanx dx a) %\/x2+a2+a7 loglx + Vx% + a2 + ¢
i ! b log|secx + tanx| + c
i) o dx ) logl |
N c log|secx| + ¢
i) fm dx ) gl |
iv) [Vx? +a? dx d = i I
2a a—x
V) [ secx dx e) sin1I4c
a
. 1 2
vi) J = dx f) %\/xz—az—a? loglx + Vx% —a?| + ¢
vii) [Vx2 —a?dx g) log|x +Vx% — a2|+c
Match the correct column -
Column A Column B
. 2
. [tanx dx a) fz\/x2+a2+a7 loglx +Vx% + a?| + ¢
Ny 1
i. [ — dx b) log|secx + tanx| + ¢
1
. f\/ﬁ dx C) lOng@CXI +c
iv. [Vx?4+a?dx d) = log ﬂ| tc
2a a—x
v. [secxdx e) sin"1Z +c
a
. 1 2
vi. faz_xz dx f) %\/xz —a? _% loglx + Vx% —a?| + ¢
vii.  [Vx? —a?dx g) log|x +Vx? — a?|+c




(5) T 9 /9= ¥ SR forlag — 1x7=7
i) [ sin?x dx &1 49 forfay |
ii)WWﬂZ—z+(sinx)y=cosx B THIG o Ay |

iii) 3TTh A HHIDNUT ( )3 (—y) +sm( )+ 1=0 3 =g [y |

iv) f(x) =x% ,x € RV US Bead f Bl s a9 folRay |

vi)afe d=21—j,b=1+2] @ dxb & 94 faRau |

vii) Ife E 9T F &1 a4 gc] 81 a9 P(E N F) &7 99 &1 8r?

Write answer in one word/sentence -

I.

1l

1il.

iv.

Vi.

Vil.

Write the value of [ sin®x dx.
Write the integrating factor of the differential equation Z—z+ (sinx)y =

COSX.

2
Write the degree of the differential equation ( )3 ( ) +

sin (Zx) +1=0.

Write the minimum value of function f givenby f(x) = x? ,x €R
Write the modulus of the vector d=1 — 2j.
Ifd= 2i—j,b=1+2j thenwrite thevalueof d@Xb

If E and F are two independent events, then what will be value of P(E N F)

(6) g IR 5 Urpa TN & AN % R = {(x,¥):y = x + 5AATx < 4} §NT
Uacd Weg R A WHAT &, 7 O Wged © 3R 7 GHHD ¢ | 2



(7)

®)

Prove that the relation given by R = {(x,y):y = x + 5and x < 4} in the set of
natural numbers N is neither symmetric nor reflexive nor transitive.

grerar / OR

RIg PINT F f(x) == R IRWINT BT f: R, - R, UD D! AT MBTEH ©
et R, a1 S ardfds Al & 9w & |

Rlr

Prove that the function defined by f(x) = % ,f:R, = R,is one-one and onto

where R, is the set of all nonzero real numbers.

foU T BT BT AReaq Wy # forlRau | 2
tan™? ((2), 2 <x <2
1-sinx 2 2

Write given function in the simplest form

tan‘l( enad ), Sl ex<l

1-sinx 2 2

3rerar / OR
tan~1 /1'“’”,0 < x <1 B A S BT |
14+cosx

Find the value of tan™? /1_Cosx ,0 <x<m
14+cosx

tan~1 (9) = cos™ ! (E) + sin~ 1t (i)
16 5 13

Prove that —

tan~1 (@) = cos~ ! (E) + sin~? (i)
16 5 13

aferar / OR



Rig PIfSTT —

_, (V1 +sinx + V1 — sinx X T
tan _ _ =3 ,XE(O,—)
V1 + sinx — V1 — sinx 2 2

Prove that —
V1 + sinx + V1 — sinx X T
tan‘1< =2 x€ (0,_)
V1 + sinx — V1 — sinx 2 2

dZ
9) Iy =tanx T‘ﬁd—szlfﬁrﬂﬁgﬂﬁ PITY | 2

1 : d*y
If y = tan™"x then find the value of TxZ

x2
1erar / OR
IfS y + siny = cosx ?‘ﬁz—zgﬂﬁ HIFSTY |

If y + siny = cosx then find Z—Z

(10) f(x) = —sinx, x € (0,%) G Y& BT & R IeadH 3R g foeraa
| S BT | 2

Find the local maximum and local minimum values of the function given by
f(x) = —sinx, x € (0,%)
3rrar / OR

faargy f& e werT f(x) = x3 — 3x% + 4x S8 x € R, R R I99 %A 2 |

Show that the given function f(x) = x3 — 3x% + 4x where x € R is an increasing
function on R.

(11) T% RTINS 89 BT fHIRT 3cm/s BT & 9¢ Y& & | g9 BT mIgad fbd
X ¥ 93 &1 & 9Id(h BRI 10 T4 <41 2§ | 2

The edge of a variable cube is increasing at the rate of 3cm/s. At what rate is the
volume of the cube increasing when the edge is 10 cm long?



(12)

(13)

arrar / OR
f(x) = 3x* 4+ 4x3 — 12x% + 12 RT Uad Bdd & RIMII Iz 3R R

a9 A9 SITa BTy |

Find the local maximum and local minimum values of the function given

by f(x) = 3x* + 4x3 — 12x? + 12.

2
WW%=1”EBTCMN¢€HSHGWI 2

1+x2

_ , . : . dy _ 1+y?
Find the general solution of the differential equation d—y = 1:2

3erar /OR
JaDhe FHIDN (e¥ + e *)dy — (e¥ — e ¥)dx = 0 BT AMUYDh Bl ST HITSY |
Find the general solution of the differential equation

e*+e™Mdy—(e*—e ™ )dx =0

AT 50— j + 2k & 3T Uh AR A1 PHIFY ST gRATT 8 ST B | 2
Find a vector in the direction of the vector 5 — j + 2k which has magnitude

8 units.

3rrar / OR
afeer @ 3R b Wwé,l%ﬁ|a|=3sﬁ?|5|=§awaxﬁww
e 8, d R b & 1 BT PO AT DI |
The vector @ and b are such that,|d@| = 3 and |B| = \g—iand& X b is a unit vector,

find the angle between d and b.

(14) I T @1 Sl X,y 3R z &l & AT HAL: 90°,135° IR 45°D[0 §ARH &

ar 89 NGl & Rp—hIg S dIfoiy 2

If a line makes angles 90°,135%and 45° with axes x,y and z respectively then

find the direction cosines of the line



grerar /OR
N1 g 7 = 31+ 2] — 4k + A(L + 2] + 2k) 3R 7 = 51— 2] + u(3i + 2] + 6k)
& T BT DI ST DI |

Find the angle between the pair of lines #= 31 + 2j — 4k + A(i + 2j + 2k) and
7= 51 — 2j + u(3t + 2j + 6k).

(15) 3fe

Ifd =

=2i+j+3k 3R b=30+5/—2k B A |dxb| T HRAY

N

Q

N
>

+J+3kand b = 3+ 5] — 2k then find |d@ x b|.

3rMEr/ OR
afeer fafy 9 @ e & aa%a 9 Sife e o &g
A(1,1,1),B(1,2,3) 3R €(2,3,1) &
Find the area of a triangle by vector method whose vertices are A(1,1,1),B(1,2,3)
and C(2,3,1).

(16) ?JT%{A=[C(.’S°C _Si"‘x]asﬂA+A’=1 Al o BT HF ST BT | 3
Sin K C0S X
If A= |

CoS X
sin «

—sin oc] and A + A' = I then find the value of «
C0S X
arerar / OR
_[4 6 12 3

a2 -v=|g JJenx-zv=|% []dx ey aw Al
4 6
8 0
(17) FHIHSAT BT TN A §Y b y? = 9x V@RI x = 2,x = 4 Ud x—3feT 9 fiR

&3 BT YA IJATY H &dFhel AT DI | 3

By using integration find the area of the region bounded by the curve y? = 9x
lines x = 2,x = 4 and x axis in the first quadrant.

If 2x —y = [ CJandx-2v=[% J]thenfindXandy

grerar / OR

HATHST BT YANT BRd gU qraded 9x2 + 16y% = 144 9 foR &5 &1 &%l =
I |

By using integration find the area enclosed by the ellipse 9x? + 16y? = 144.



A

11

(18) 3merdry faf grr =1 YRad WUTHH THRT B 8 DIV

19)

= TR’ @ Sfad x +3y <60, x+y =10, x <y, x>0, y >0

z = 3x + 9y BT =FAdH HIF =TT DIFY | 3

Solve the following linear programming problem by graphical method :
Minimise z = 3x + 9y subject to the constraints:
x+3y<60, x+y=>10, x<y, x>0, y=>0
3ferar / OR
TG Ay gRT 71 RGP AT FHARIT Bl B DIfOIY |
9 @R @ Sfavdx +y <50, 3x+y <90, x>0, y=>0
z=4x+y @ ABAHHIOT B

Solve the following linear programming problem by graphical method :

Maximise z = 4x + y subject to the constraints :

x+y<50,3x+y<90, x>0, y=>0

TPh IT A H 3 I%He Ud 4 o] Ig & 3R 9l B § 5 9%g UG 6 ol 9iQ © |
59 Il § ¥ Up Tig Hbrell 9l ® IR Ig AT IR Wl & ) 9l B 9 39

I & MeTer o1 ATl |d HIfoY | 3

A bag A contains 3 white and 4 red balls and bag B contains 5 white and 6 red
balls. If a ball is taken out from these bags and it is found to be red, then find the
probability of taking out this ball from the bag B.

3erar /OR
Uh U1 A9 IR SBIAT Sirdl 8 | Uiddl =g dIfoie 6 &9 9 &89 Tah dR

fayH 3fd 31y
A dice is thrown three times. Find the probability that an odd number comes up

at least once.



A

12

(20) kK & 9 A Bl ST PG T IS B

1—coskx, .q.%x +0

f(x) — xsinx x=0 W . %ﬁl
% ,aﬁx =0
Find the value of K for which the given function
1—-coskx ifx =0
flx) =4 *m , is continuous atx = 0
E, ifx=0

3@ /OR

afSy = (tan~1x)% @ AU & (x2 4+ 12y, + 2x(x2 + 1)y, = 2
If y = (tan™'x)? then show that (x2 + 1)y, + 2x(x%2 + 1)y, = 2
@21 v T e~ Her o eE A | g8 Iy —

x+2y—3z=-4

2x+3y+2z=2

3x—3y—4z=11

Solve given system of equations by matrix method .
x+2y—3z=—-4

2x+3y+2z=72

3x—3y—4z=11

gerar /OR
1 2 -3
g A=[2 3 2|ar 4! sd R
3 -3 —4
1 2 -3
IfA=12 3 2 ]‘chenfindA‘1
3 —3 —4

(22) g FIRMY JZ logsinxdx = —glogz

Prove that [2 logsinxdx = —glogZ



13

3erar / OR

2 X
[V gy T HM ST B |

(x+1)2

(x2+1)e*
(x+1)2

dx

Find the value of [

(23) FrEfaRead @Rl & 9 &1 =Aaq g9 A1d HIfey— 4
7= (1 + 2f + 3k) +1(21 + 3] + 4k);
7 = (20 + 4f + 5k) +p(31 + 4f + 5k)

=
=

d the shortest distance between following lines.
7 = (1+ 2] + 3k) +1(21 + 3] + 4k);
7 = (20 + 4f + 5k) +n(31 + 4f + 5k)

3rerar / OR
TS Xl BT BT Td A wY S dIog Sif (g (—2,4,—5) & Sl @

TIT =& x;3=y;4=2;8a‘>ﬂwé|

Find the Cartesian and vector form of the straight line which passes through the

point (—2,4,—5) and parallel to the line x;rg = y;4 = Z:;B
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20 09 3:00 Hours 70
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(i) U< HHIB 1 Y 5 TP IS U & | TP ud & fod 1 3fd Feild &1 $ot uw
28 B

(iii) 7= SHIP 6 T 20 TP 3MTdND fddhey &g T B

(iv) U= SHHID 6 T 12 TP i TY ITRIT U= g| TAD U= BT ITR THIT 30 Teqi
¥ fafau| U@ w2 3% YiRa g

(v) U= HHIE 13 F 16 TH 7Y FURNT U g| TAD U= BT IR ATHT 75 Wal d
forfau | ude u= W 3 3w Feiia g

(vi) U= HHID 17 T 20 dP <Y ITRIT Uz 8| AP U= BT IR THT 120 sl H
foIfau | U v WR 4 3k MuiRa g

(vii) T8I I g, WY g AHifhd R s9rsu|

Instructions:

(i) All Questions are compulsory.

(ii) There are 28 objective questions from question no. 1 to 5. Each Question
carries 1 mark.

(iii) Internal options are given from question No. 6 to 20.

(iv) Question No. 6 to 12 are very short answer type question. Answer each
qguestion in about 30 words. Each question carries 2 marks.

(v) Question No. 13 to 16 are short answer type question. Answer each
question in about 75 words. Each question carries 3 marks.

(vi) Question No. 17 to 20 are long answer type question. Answer each
question in about 120 words. Each question carries 4 marks.

(vii) Draw well labelled diagram if necessary.

1




1.8} fawe go= fafau- 1x6=6

i, TgasToia Uret & e TorH BT -IF -
(a) &S (b) e (c) g™ (d) {1
i 3{T~ap I P AfehadT I B4 aTel I &-
a) ¢t (b) HIR (c) TS89 (d) YA
iii. TRIThIR & [ 1 SAHR gl [dbed ol FiHT-

(a) TS, dl-TSiRrm, %ﬁnwmﬁ 8°r ¢hied, 3- SiSueH $ab,
wwﬂﬁﬂ

(b) F-ufUsfify, T-werdiftrm, S-17e IRd, 3- ciieH, Th- JISUeH $Hadb,
A

(c) T-TUsHy, W-TSriRmH, Th-A WRd, 3- ¢Uled, T- FISUeH $Hab,
Sl-PAfded

(d) F-ufUsfiy, T-wesrdiftrm, th-a8 |Rd, 3- cUieH, Si- JIeueH $Hadb,
T-TSit
iv.  SIARI® SRS T 3fUad el ! dve ITANT o i 8-

(a) DNA TIdHRSl (b) DNA <ITE7ISl

(c) sicidel (d) Y= TuSyfaRITS
V.S 9 ! fobg w0 A RSy foran i &-

(@)D (b) P (c)N (d)d
vi.a R Riegiw ¥ Uiyd safed # urga ot fRufa g1 -

(a) 44 + X (b) 44 + XXY

(c) 44 + XY (d) 44 + XXX




1. Choose the correct option and write-

[. In angiosperm plants the site of sexual reproduction is-
(a) Seed (b) Fruit (c) Flower (d) Embryo

ll. The disease caused by activation of oncogene is-
(a) T.B. (b) Cancer (c) AIDS (d) Asthma

lll.  Select the correct option by looking at the picture of the young anther-

(a)a- epidermis, b-endothecium, c-middle layers,d-tapetum, e-
sporogenous tissue, f-connective

(b)b-epidermis, c-endothecium, d-middle layers, e-tapetum, f-
sporogenous tissue, a-connective

(c)b-epidermis, c-endothecium, f-middle layers, e-tapetum, a-
sporogenous tissue, d-connective

(d)b-epidermis, c-endothecium, f-middle layers, e-tapetum, d-
sporogenous tissue, a-connective

V. Used as molecular scissors in genetic engineering-
(a) DNA polymerase

(b) DNA ligase

(c) Helicase

(d) Restriction endonuclease

V. Population density is designed as-

(a) D (b) P ()N (d)d
VI. The condition of chromosomes in a person suffering from Turner syndrome
will be-
(a) 44+ X (b) 44+XXY

(c) 44+ XY (d) 44+XXX




2. Fvaa w9 gfd #2 fafee- 1x6=6

l.
Il.
II.
V.
V.
VI.

200 fgdiad Yeb HIRMBISA ... LT ST |

YA YRS MR BT .o gl

. Fill in the blanks and write-

From 200 secondary sperm cells. ......... sperm will be formed.
The number of hydrogen bonds between adenine and thymine in a DNA
molecule is............

Penicillin is obtained from ..................... fungus.

Organisms whose genetic composition has been altered are called......
V. Name of the first transgenic cow is ...........
VI. Every ecosystem depends on... for energy.
3.9 T 39 gfu- 1x6=6
. GIFT TR &I Fafd #= &1 faf 51
Il. TSR ¥& AFa &t ST T 1400cc HTHR B gl 5
. fa=a &1 $a g fafaydt § YRd &1 IRER! 8.1% g
IV. 3ad Gat- gRTgoIRI & WAl H UTqUl &1 Id B o1 [afd &g uaeq
HEdm g
V. olg iewamRi yaiavur 1 69 ugand Bl
VI. SR ogfegH &1 AT guor & gar g

3. Choose true or false-

I. GIFT is a method to control birth rate.
[I. The cranial cavity of Neanderthal man is 1400cc in size.
lll. India's share in the total biodiversity of the world is 8.1%.
IV. The method of producing thousands of plants through tissue culture is called
micro propagation.
V. Biopesticides harm the environment.
VI. The corpus luteum is formed in the testis.




4. Match and write the correct pairs-

Column A

I. Angiosperm embryo sac

Il. Malaria

[ll. Homology

V. Palindrome

V. Mutualism

5.9% g9 H Ix fofae-

II.
V.
V.

ZIFT &1 1 9 fafau|
STS! a-aT] Rigid &1 gHIHRu forfay)

JH1% H U1 OfF aTdl g RS J4™-E i &1 9 faRag|

Column B

1x5=5

(a) Convergent evolution

(b) ++
(c) Seven-celled
(d) GAATTC

(e) Plasmodium

e &1 g o o §¢ gRT It X8l 82

IJUCN &I ORT AT ferRau|

5. Write the answer in one sentence-

l.
Il.
II.
V.
V.

Write the full form of ZIFT.

Write the equation for Hardy-Weinberg theory.
Write the name of the harmful chemical compound found in tobacco.
By which bond are the two chains of insulin held together?

Write the full form of IUCN.

1x5=5




6. SRET fahie & & HRUT ke | 2

Write two reasons for population explosion.
SHYdl/ or

TR = 8?2

What is amniocentesis?

7. Hed & yHIfaar & fRuw o Wy Siforg| 2

Explain Mendel's law of dominance.
HYdl/ or

3rquf guTfaeT & Wy Hifom|

Explain incomplete dominance.

8. TR 5 {3 1 872 2

What is divergent biological evolution?

AHYdl/ or
AP IR 3 Sita Bt ST & 3= TN § fob-for 7t o forgyor Iuan fosare?

Which mixture of gases did scientist Miller use in his experiment on the origin of
life?

0.9 &I gedh 141 & =19 ferfau| 2

Write the names of the constituent gases of biogas
SHYdI/ or

STaIp D o fSHIS I WY HIfg|
Explain Biochemical Oxygen demand.

10.519 fafaear ot &ifd & o1 g RO ferfau| 2

Write any two reasons for loss of biodiversity
SYdI/ or
T R TREUT U4 §Tel R TREO1 H Bls &l 3ieR feifeu|

Write any two differences between in-situ conservation and Ex-situ conservation

11. SRS §RT STAUR! &) fhg UBR AT o Johd] g2 2

How can Biopatent prevent Biopiracy?
SHYdI/ or

SN P & 7 oid MNfIT & Bl a1 U forfau|

Write any two applications of biotechnology in agriculture.




12 gshitadT Td GgHiforar & &is & iR fafau) 2
Write any two differences between symbiosis and commensalism.
SYdl/ or
e faT T4 O+a iY@ 3y RIS A, ‘B! U6 'C! BT &R DHIfS qT I A1
fT T gt & IR ferRaT:

ECii =

Rk i

W‘I\é B ]
‘A

: -
(a) fox1fire 'B' duT'C' &1 ggda™ o= faRau|
(b) FoRT MYR W Iuad FURIAST &1 ST fopan man, 34 faRdu|

Study the age pyramids 'A’", 'B' and 'C' of the human population given below and
answer the questions given below it:

Post-reproductive E;

Reproductive '

Pre-reproductive [ ‘ﬁ?
‘A?

(a) Identify pyramids 'B' and 'C' .and write it.
(b) Write the basis on which the above pyramids have been drawn.

13 919 U A Tl &1 918 T qun G2 I gid ¢ o) 39 %l ¥ 814 arell A1
&1 guii=iar &t IR @ o gRT wefRia sifsm 3

With the help of diagram show the inheritance of colour blindness in the children
born from a normal woman who marries a colour blind man.

3HYdl/or

T1g: GO § SAwIRE A7 81 S 8, Ao &t 39! argeh gl €, PRUI Wy
DI

Usually men suffer from haemophilia, but women are its carrier, explain the
reason.

14. 7 o QY B AqoTd R & T T 3T F1 {HT Il 82 B8 di R i@ 13
Why mother’s milk is considered the best for a newborn baby? Write any three
reasons.

3HYdl/or
[T S 1 fohdT3MT BT T g1 HIfSTg |

Give a diagrammatic representation of the process of spermatogenesis.
7




15. difedHd T 82 I8 g ford B RS 341 § ? &1 o sRu i | 3
What is sewage? Why is it harmful to us? Give any three reasons.
3HYdl/or

A gea Sfat 31 =it - &1 E B 1 U0 gRT SAfed Uh-Ush IdTG & A 9l
Iuan fafau|

(a) TERISTAY AR

(b) CTEPISAT TMCRURH

(c) HHRDHY RIS

Three microbes are listed below. Name the product produced by each one of
them and mention their use.

(a) Aspergillus niger

(b) Trichoderma polysporum

(c) Monascus purpureus

16.51d HR &1 foR1fire WY1 Ud Ieel S UBR BT 81 Tbdl §, 31801 gRT WP
PHIfoTT| 3

The pyramid of biomass can be both straight and inverted, explain with example.
S{Ydl/or
e Rl U9 Qe S | dhig a4 3R fafau|

Write any three differences between food chain and food web.

17. BITY UHISITT BT WY FXdl U 3B Bls o [a=uang forag| 4

Explain DNA packaging, and write any three characteristics of it.
SYdl/or

I Ao & srered fordn &1 s fAequr S|

Give a diagrammatic representation of the transcription process of protein
formation.

18. fgMY=H (Double fertilization) Td BRIA (Triple fusion) &1 fovdl 1 Ty
ﬁ%ﬂzl 4

Explain the process of double fertilization and triple fusion.
S{Ydl/or

TS DI WY Hd §U 3Ub &l ¥ fafau|

Explain the Apomixis and write its two importance.




19.99% T SHiaTy] gRT Bha- ard fbwg! IR AN &b A, HRP d T .Uh A&l
iz 4

Write the names, causes and one symptom of any four diseases caused by
bacteria in humans.

AHYdl/or
iy ud fAfswry uforen § 15 IR SiaR forau|

Write any four differences between active and passive immunity.

20. &3 T fg § PCR & TRUN & A fafaw ud 391 aufq SIS vd 59 &I
ot Swa e , 4

In the given figure, write the names of the steps of PCR and describe them. Write
any three uses of it.

S{Ydl/or
AT HaTe® &1 Pis IR AR forad g¢, fh! &l Faif-v argd! & IR |
fafau|
Write any four characteristics of cloning vectors and also write about any two
cloning vectors.
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() I Uy 5 AT A B

(ii)

(iii)
(iv)

(V)
(vi)

(vii)

Uy HHIH 01 T 05 d% axg- U¥ g | S ad Uy wHie 01 # gl fawe
-06 3ih, UY HHi® 02 H Rad R -06 3%, UY HHiH 03 H I / 3T
06 3i®, 04 H TBI SIal 07 3 Td UH 05 H TP a1 § IR 07 3ih
Geieft s 81 | e a1 8q 01 3idh RUTRa 81 Fd 1x32= 32 3iF &
UY hHID 06 T 23 db H HdRep fdb ey feT M gl

U ShHID 06 T 15 dPb TP UY & fo1T 02 3 MUiRa € 3iR Ud® Uy
BT IR AHaH 30 Uea! H @1 B

Uy HHIB 16 T 19 db P AW 03 3 MY § 3R UAP UY BT I
3HfIpan 75 Weal A fr@ 1 B

UY HHIH 20 T 22 TP UAH UY & T 04 3 HYid g 3R &1 ud®
UY T IR Hbad 120 WUea! H forRa1 21

U HHIP 23 P oI Yo AR H 3041 TR 3ifdhd &3 | 39 U & folg
04 3ip FRyia g1

(viii) Pad =P Tifda el & e, Uy wHie 23 & WM R T Sifafad

JgT~ah Uy f3ar T 2, T 3R Ush Xe 31UdT Uh arey | faar ST

g

Instruction:

(i)
(ii)

All questions are compulsory.

Question No. 01 to 05 are objective type questions. In which Q.No 01
choose correct option carries 06 marks, Q. No. 02 fill in the blanks
carries 06 marks, Q. No. 03 True/False carries 06 marks, Q. No. 04
correct match carries 07 marks and Q. No. 05 answer in one sentence
carries 07 marks. Each objective type question is allotted 01 mark.
Total 1x32=32 marks.

Nll\l



(i) Internal options are given in Question No. 06 to 23.

(iv)  Question Nos. 06 to 15 carry 02 marks each and answer should be
written in maximum 30 words each.

(v)  Question Nos. 16 to 19 carry 03 marks each and answer should be
written in maximum 75 words each.

(vi) Question Nos. 20 to 22 carry 04 marks each and answer should be
written in maximum 120 words.

(vii)  Question Nos. 23 should be answer in the given map. The question
carries 04 marks.

(viii) Only for visually impaired candidates, an additional theoretical
question has been added in place of question No. 23, which has to be
answered in one word or one sentence.

1- Fafafad usi & foe Tet oo g fafae- 1x6=6
i) Riy o @ad ¥ T 91y 3 B ITH & 16T AT -
(3) PHIAET @) YA
CIISIEIR (@ g
(i) SHyHPF 24 fERY -
CORREIEEI CREEIN
@ enfeny @) BUHG

(i) TSR I~y & TaY & T8l HUT ¢ -
(30) YT B RG] Ydd o< = B |
@) HWUIad I & YYTd TG AfGRITe! g1 7T 41|
[ drclieiel gg e & ot faRieRT Rig ga|
@ T8l B Y-IIoRd AR AgaeR] Joren 9 ofkd ot
(iv) JaRd BT JSFAT B -
(3) HEaR! Sled @) TERRY dead
@) IR deled (@) e Salawd
(v) FafaRed o 9 fog o Targ R qeren e A fofewr URa &1 yqor
A gU TR ATl & IR § S BT Ty foba -
(3) oI TR faee () He HigH HIedrg
(&) YIS HT TR (@) SATER d1d Ag&
(vi) URd o1 Ifdur s I i -
(30) 15 3T 1947 @) 26 SHARI 1947
@) 15 3K 1950 (@) 26 SIHART 1950

N2l\l



Choose and write the correct option for the following questions-
(i)  Inthe Indus Valley Civilization, evidence of growing two crops
simultaneously has been found at-

(@) Kalibangan (b) Lothal
(c) Dholavira (d) Harappa
(ii) The 24th Tirthankaras of Jainism was —
(@) Parshvanath (b) Mahavira
(c) Adinath (d) Rishabhdev

(iii) The correct statement regarding the Vijayanagara Empire is -
(@) It was founded by the Suluva dynasty.
(b) The empire became powerful after Krishnadeva Raya.
() The Talikota battle proved disastrous for the empire.
(d) The land revenue system here was inspired by the
mansabdari system.
(iv) The Sunset Law relates to —
(@) Mahalwari settlement (b) Permanent settlement
() Ryotwari settlement (d) Dahsala settlement
(v) On the advice of which of the following, Mahatma Gandhi visited
the British India and tried to know about the people here:
(@) Bal Gangadhar Tilak (b) Madan Mohan Malaviya
()  Gopal Krishna Gokhale (d) Jawaharlal Nehru
(vi) The Constitution of India came into force —

(@) 15 August 1947 (b) 26 January 1947
() 15 August 1950 (d) 26 January 1950
2- Nad ®iF &1 gfd Pif - 1X6=6
() Ty Taar d ge9 vgd Wil T 1RRG ... gl
0 J— AR P ST A A DI IUTY YR B |
D J— o gg 3! Rgnef w19 Bl
(iv) STST-U-3HE ... CARCEIN
(v) SIS A AU D TG .o D] Hadbl AR HR faar a1l
(vi) TR TR 1916 5. F ... fayfaemers & srisy o =mild gul



Fill in the blanks-

i) The earliest discovered site in the Indus civilization is .............

i) The rulers of the ........... dynasty assumed the title of ‘Devputra’.

1) R is a collection of the teachings of the Buddha.

iv) Ain-i-Akbari is the composition of ...............

v) The British exiled .................... the Nawab Awadh to Calcutta.

vi) Mahatma Gandhi attended the programme of ............... University in
1916 AD.

(
(
(
(
(
(

3- fAgfafea o va / s fafae- 1x6=6
() Higd Slas! § TIHT 700 $U Y|
() Y 1eR faaTe B & sfiefdarg weTomar |
(i) AIFTT, fag firees T UM § |
(iv) T IR 3 a@S § 1857 & fagig &1 Aqd farar|
(
(

v)  STHGINT 3G BT UR™ 1930 H g3l
vi) TRGR geaY HIE Ued A e HT H 3e=0 Udd Uqd |

Write True /False in the following-
(i)  There were about 700 wells in Mohen jodaro.
(i)  Marriage outside the unit is called exogamy.
(iii)  The Therigatha is a part of the Vinaya Pitaka.
(iv)  Nana Sahib led the revolt of 1857 in Lucknow.
(v)  The Non-Cooperation Movement started in 1930.
(vi) Sardar Vallabh Bhai Patel presented the Objectives Resolution in
the Constituent Assembly.

4 - g1 SIS! §918T - 1x7=7
TAH-1 TAH-2
i)y Qds! (@) JWd
(i)  DxaEd @) Iyt
(iiiy d&d WL
(iv) SIAaR @ IR
(v) fQeud ©) TART
vi) gy @ d9id
(vi) A @) Wb



Match the columns-

Column-1 Column-2
(i) Khetri (@) vaishnav
(i)  Rudradaman (b)  Santhal
(iii)  Takshak (c)  Service
(iv)  Alvars (d) Rajasthan
(v)  Khidmat (e) Ellora
(vi)  Sidhu (f)  Barout
(vii)  Shah Mal (g) Saka
5- frgferfad usl & IR U a1 | faRag- 1x7=7
() DI & o § Adel |1 U?
iy forg fac=h gl 7 RIS & te Rifecid & w0 & & fear
(i)  TOT YiGd TRURT AT | ?
(iv) oo TR Qg & RATYAT food &1 2
(v) SIS A &S O SAERRT dateRd ol o faear?
(vi)  SUS A Il U1 Bl FHT B & o ST DHd &7 ?
(vii) TYH TS T 7 FRY® aifad gam?

6 -

Answer the following questions in one sentence-

(i)

(if)
(iii)
(iv)
(v)

(vi)
(vii)

A ey # AoHIfae Bl ot RITYET ol &1 15 A

What was Meluha in Mesopotamian texts?

Which foreign traveler served as a physician to Dara Shukoh ?
What is Saguna Bhakti Tradition?

Who established the Vijayanagara Empire?

Why did the British introduce the Permanent Settlement in
Bengal?

When did the British make a law to abolish the practice of Sati?
Why did the first Round Table Conference prove meaningless?

Why did political centers established in the Mauryan Empire?

HYdT / or

YT TR B Fgfad & Ui A1 e 3RNe &1 a1 I3 UT?

What was the motive of the Mauryan Emperor Ashoka behind the

appointment of Dhamma Mahamatta ?

N5l\l



7- 3 foei bt aeinsl § I HINT I 2 1 ggaT faar 2
How did Albiruni's knowledge of language contribute to his travels?
314l / or
ST A P T Hed T UT ?
Why did Ibn Battuta give importance to travels ?
8- WaIR = YRd & AUR &1 &1 JUH b1 g ?
How did Tavernier describe the trade of India?
S{Ydl / or
Wi SR A D Te TRI & RIfaR TR & B
Why did Francois Bernier call Mughal cities “Camp Town"?
9- SfS@PMA?
Who was Andal?
S1YdT / or
INUIBCEIS R
Who were Lingayats?
10 - Taog TR IET § SERAAS T Hgadyul d ?
Why were the amara-nayakas important in the Vijayanagara empire?
314l / or
faory TR & HeHaH! fSss i gyl o ?
Why was the mahanavami dibba important in the Vijayanagara?
11 - T BT § UierS fob s YR b1 YfH ot 2
What type of land was Polaj in the Mughal period?
SHYdl / or
TTd 1at § SHigRT @t Fet 8Rad & & sRur fafau |

Write any two reasons for superior status of zamindars in the Mughal

Period.
12 -1875 3. § gur dat ¥ gU faxig & favg! & HRull ! fafau | 2
write any two reasons for the revolt in Supa Mandi in 1875AD?
SHYdl / or
IASTHES & UBITSTT ANT Siia- o 5 hRd o ?
How did the Paharias of Rajmahal survive?
13 - 1856 T 3l A Teh YR YRS a1 A A 1 i?

Why did the British introduce one-time land revenue system in 18567




314l / or
3fa8 DI "SI STHT B Ul Rl gl STl AT ?
Why was Awadh called “the nursery of the Bengal Army"?
14 — FfAY GUT T ST, o= UTG 1 T YHDT 217 2
What was the role of Dr. Rajendra Prasad in the Constituent Assembly?
S3{YdT / or
WRER Ued - gy HaffeeT ot 31 o o1 Ufdfosar €
How did Sardar Patel respond to the demand for separate electorates?
15 — wrgure Rig = Giaur Ju1 | 1 fagr @2 2
What did Jaipal Singh speak in the Constituent Assembly?
Yl / or
syt gl o1 gRT Tfau™ qu § e i oe @ 7S o 2
What concern was raised in the Constituent Assembly by Shrimati Durga
Bai?
16~ TG oliGe! (Yd AR MR HT a0 Hd gU SUDT Yo WY
BIfeTT| 3
Describe the Great Bath at Mohenjodaro and explain its purpose.
S3{YdT / or
Hig SiGs! & T8 RITY B o1+ [ARIVd131 &1 quiH Pifory|
Describe any three features of the domestic architecture of
Mohenjodaro.
17— T YR BT H chad &30 81 oM 81 Jebd ¥ ? WY DI 3
Could only Kshatriyas be kings in ancient times? Explain.
HYdT / or
HETHRA ¥ THR T TTa=ie T 87 IGI6x0 Algd quid Hif |
How is the Mahabharata a dynamic text? Write with examples.
18- Fgfdardt iR Hifdrerard! ot # 3ftk Wy Sife| 3
Differentiate between fatalists and materialists traditions.
HYdl / or
SIRTG WU & Y 811 & HRUN DI faxgd AR DIfoT |
Explain in detail the reasons for the destruction of Amaravati Stupa.
19 — faoigFR fRd fage widR o fa=wdrsh &1 qui4 Hifo| 3
Describe the characteristics of vitthal temple situated in Vijayanagara.
S{Ydl / or




PUGA G P SUATSA] T gUH BT
Describe the achievements of Krishnadeva Raya.

20 — HTY & D] B! EQATHIET TTY & IhY b1 HgayUl HRUT T IR
P 4

The ambition of the rulers of Magadha was an important reason for the

rise of Magadha. Explain.
HYdl / or
A T & U@ e 1 9o SifoTe |
Describe the main features of the Mauryan empire .
21 — QY] A Hdl ¥ Yy - &1 Jarg Rl fbare Wy Hifo | 4
Why did the rulers try to establish relations with the saints?
HYdl / or
HAR & ISR B fada B
Discuss the teachings of Kabir.
22 — TS B WaAdl HgY o] gyl Je FI § 77 412 WF oy 4

Why did the salt law become an important issue of freedom struggle?

Explain

HYdl / or
HRTE et 3 T B SH ATl &1 ave fa@- & g HiF ¥ dRid 3g-T?
Ty HIfo |

What did Mahatma Gandhi do to make himself look like ordinary
people? Explain.

23 - FEfaRId B1 HRd & HFRE TR GRi3T- 4
() ARANY
(i) ~OTeforg
Giy  fOSIgTR
Gv) 9rat
On the map of India mark the following:
(i)  Sarnath
(i) Pataliputra
(iii)) Vijayanagara
(iv) Sanchi



3HYdl/Or

frafeRad &1 HRd & Al IR gRIigu-
i RS

@iy ORI

iy RAR

(v) Il

On the map of India mark the following:
(1) Meerut

(i)  Sopara

(i)  Girnar

(iv)  Ujjayini

Ae- fRufafad uy Saa edarfea dhenfial & e uyy 9@ 23 & ™”F R g1

Note-The following question is only for visually impaired candidates in place
of question number 23.

23-- fAufafaq vyl & SR & g 91 U 9Ty | fafae-
(i) Wﬁ'&'eHSS?%Iadlsaﬂﬁqaﬁwmw?
Gy A fbd GdT H TP §G0T8 TR U
Gi)  HREd BT WU fra Isu A 82
(v) S 3 3T TYH JUSY gl T ?

Write the answers of the following questions in one word or one
sentence :
(i) Where did Kunwar Singh lead the revolt of 18577

(ii) Lothal was a port city in which civilization?

(i) In which state is Bharhut stupa located?

(iv)  Where did the Buddha give his first sermon 2.
~ 9 ~



3HYdl/Or

fFrafefad ugl & W e W= a1 te 9 | fafau-
() HRISE HEl B! AGART ot ?
iy RIR e fFaTodfRae:?
iy TY P YRS AT DT A iRy
(v)  SERTE U fora I /2

Write the answers of the following questions in one word or one

sentence :

(i)  Where was Meera Bai the princess of?

(i) In which state is the Girnar rock edicts located?
(i) Write the name of the early capital of Magadha?

(iv) In which state the Amaravati Stupa is located?
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(i) A HHI® 18 5 dHh IS T 7 1 o gt faswed o6 3i Rad R 06 3 , T /3™ 06
3i®, Tl Slie! 05 3f®, TH a1dd H IR 05 3P B Y g |

(iii) T% SHHIP 06 J 20 I H U H 3fidRD fApeu G gl

(iv) T3 HHI 06 T 13 Teh 31fa TLTT U B 1 TP U & il 02 3ieb 3difed B 1 Wee THAT 30 T B

(v) UH HHTD 14§ 17 T TYITIT U 8 | TP U & oW 03 i 3Mrafed g1 2eg T 75 Ueg B

(vi) T8 ShHiop 18 1Y STRIT U B 1 U4 & T 04 3fcp 31dfed 81 Xse T 120 TsZ B

(vii) T8 SHHE 19 g 20 fay TUT YRA & IHRE R 3emd 81 Qe U & g o5 3ic 3mdfed g

(viii) ¥ HHE 19 3y & AR H <2T T & / T & UgaHaR 39 A AHRE # fafag qur
T ShHIP 20 HRA b 168 T AFRE Uy H 38 T RATl/ 8F 1 a=1Tex Stk gRadl § Jed B |

(ix) Paa efP I1fdrd wienfial & fore uer i 19 9 20 % RIM W (fAy TUT HRA & AFRE UTR) TH Usa
3YQT Tep Te H IR SR Agifrp Uy 2|

Instructions:

(i) All Questions are compulsory.

(ii) Question No.1to 5 are objective type questions. Choose the correct options 06 marks. Fill in the blanks
06 marks, True/False 06 marks, Match the column 05 marks, answer in one sentence 05 marks.

(iii) Internal options are given in Question No. 06 to 20.

(iv) Questions No.6 to 13 are very short answer type questions. Each question carries 02 marks. Word limit
is 30 words.

(v) Questions No.14 to 17 are short answer type questions. Each question carries 03 marks. Word limit 75
words.

(vi) Questions No. 18 is long answer type questions. Question carries 04 marks.Word limit is 120 words.

(vii) Question No. 19 and 20 are questions based on the map of the world and India. Each question carries 05
marks.

(viii)Question No. 19 Identify the areas/places shown in the map of the world and write their names on the
map and Question no. 20 show the areas/places shown on the given map of India and attach them in
the answer book.

(ix) Only for visually impaired candidates, instead of question numbers 19 and 20 there are one word or one
sentence based theory questions.(based on the map of the world and India.)



1. 98! faweu gaox fafau (1x6=6)
(i) TFE YId & HH-Y SUNTH A fordht U= &1 faareordT &t ugam &3 IR aa foan oirar ot »
(37) 3ANT 3R faarur
() U R fazawor
() &g fave
(@) RIS G

(ii) SMEeBTE Fate SN Bl HIF-F &=t & famar ST 3-
(31) IUT Hfedhy e o
(@) YA IR &3 o
(@) T B & o
() 2fd weadig & o

(i) T3 1 T T H ATy I AT R -
(31) SR TRId TS AR
(@) ST Sfedifed T Anf
() f&roft =i Sget Ant
(@) Gefoft sredifcd Tt Ant

(iv) 2011 B} STTUFT & SFIAR HRA B! S BI AIND Jfeg & fdva- Tla=ia a1 ?
(31) 2.22 Tfa=rd
(@) 2.16 Ufa=d
(4) 1.96 Ufa=G
(@) 1.64 Ufa=Id

(v) STTOFT Y 2011 H YRA B TRIGIUN BT TR o= ufa=rd o1 2
(31) 31.16 Ufa=Id
() 27.78 U<
() 25.71 Ufa=Id
(@) 23.34 U2

(vi) TR YRd & Il B A b =Y H HH-U B a1 ol 6-
(31) BT
(d) STSIRT
(H) Hah
(@) T34l

Cheese and write the correct option:

(i) In which approach of human geography, the amphasis was on identifying the
unigueness of any region?

(A) Exploration and description
(B) Regional differention
(c) Regional differentiation.

(D) Spatial organisation



(i) In which areas is primitive subsistence agriculture Practiced?
A) In the Tropical zone

B) In the Mediterranean regions

c) Inthe Temperate zone

D) In the Frigid zone

~ A~ A~

(iii ) The world's busiest trade sea route is —
(A) The North Pacific sea route
(B) The Northern Atlantic sea route
(c) The South Pacific sea route
(D) The southern Atlantic sea route

(iv) According to the 2011 Census, what was the annual growth rate of India’s population-
(A) 2.22 Percent
(B) 2.16 Percent
(C) 1.97 Percent
(D) 1.66 Percent

(v) What was the level of urbanization in India in the census year 2011?
(A) 31.16 Percent
(B) 27.78 Percent
(C) 25.71 Percent
(D) 23.34 Percent
(vi) Which is sown as Rabi crop in Northern Indian states ?
(A) Coffee
(B) Bajra
(c) Maize
(D) Mustard

Zﬁﬁmﬂﬂqﬁﬂﬂﬁq . (1x6=6)
TEaTd! (RfSwma) foaRyRT = e & HRUT SeH SR WA SR S SReT & fad
................................................ Srgia®r gxaam fean

(ii) <féroft smfves & Yot & uew & Tee §, S A1 3iSieTs 1 & UHT dUT & SN &P .o gl
(iii) 2011 I STATUMT & HTIR DT TG <. BT SRS Tcd HRA H I 31 B
(iv) HRA B TR BT GG W@rgaﬂ%ﬂ

) R T R hT 31 T 34fh SIR IdTed HRaTg |

(vi) SFRRTTIEN TR U H.oooo] Y T Rpad g



Fill in the blanks:

(i) Radical school of thought employed .................. theory to explain the basic cause of
Poverty, Jeprivation and social inequality.
(i) In South America, railway lines are concentrated in two regions, namely the Pampas

of Argentinaandthe ..., of Brazil.
(iii) According to the 2011 census, the Union Territory of ..........c.......... has the highest
Population density in India.
(iv) Towns flourished since........ccceevevevvecveecreeennen. times in India.
() I state Produces more than half of the country's jowar.
(vi) Indira Gandhi canal originates .........cccceeeueneee. from the dam in Punjab.
3.9 / 9 AP fafee - (1x6=6)

(i) SHifPHT Gohru Rigid & Ugd TR H USH-=iddr 3R A gl & o1 fiR1de 31t 81
(ii) foga anforsg s Y & Ufd Tehs IUS %A gt o

(iif) S TSt STHA 3R Frercls ¥ giaR vaied gt €1

(iv) 3T IadTe H YR fay § TuH RiF R g

(v) T8 3R & WIeH & fod HTiST Ueh Heaqul Sl ATd g |

(vi) A% T gaf dc R f¥Yd Te A ga- § 9 T B

Choose and write True/False:

(i) In the first stage of the demographic transition theory both fertility and mortality
decline significantly

(i) In extensive commercial grain farming has low yield per acre .

(iii) The Rhine river flows through Germany and the Netherlands.

(iv) India ranks first in the world in cereals production.

(v) Manganese is an important raw material for the smelting iron ore.
(vi) Chennai port is one of the oldest ports located on the eastern coast.

4. g NS g1 ferfau - (1X5=5)
p— —
() aiie e S T (3) I, FAICH, HX
(i) Side YN URAR (@) PN
(i) HRd H S-5e fawhie &f 3@y (F) 1979
(vi) SEYE (€) 1951-81
(v) Ui fehareang (3) ORI




Match and write the correct pair :

A ug”
(i) Highest Peanut producing state (A) Tamilnadu, Karnataka, Kerla
(ii) Dravidian language family (B) Agriculture
(iii) Periods of Population explosion in India | (C) 1979
(iv) Aryabhatta (D) 1951-81
(v) Primary Activities (E) Gujarat
5. T 9T § I fafae - (1x5 = 5)

(i) @a fADH B SGYRON &1 Uferare fordds gRT fdar mar o1 2
(i) RIMR 3R I fF UHR & Ua-l & ISTER0I§ ?

(i) HRT T g & &1 2N I o4t & 14 ey |

(iv) YR B! SHEe B! [ UTaRIT H gfg av o Ay ot 2

(v) HRd & I S AT HEAT 1 BT IR H5l A Hol ab 6 2

write the answer in one sentence:
(i) The concept of human development was propounded by whom?

(i) Singapore and Honolulu are examples of what type of ports?

(iii) Write the names of top two wheat producing states in India.

(iv) In which phase the growth rate of India's population was very low?

(v) From where to where dose India's National waterway Number 1 extend from?

6. UM Yiidi & &1 & =1 foifay | 2

Write names of fields of human geography.
SHYdl / Or
T . Y & TR A YT B aiRHTST fafay |

Write the definition of human geography according to the Ellen C. Semple.

7. U9 B YT B T BRPI & &l JHE HIH-9 8 ? 2
What are the two groups of factors that influence migration?
31Ydl /OR
U AT &1 S gfa Rigid /g ?
What is the population growth theory of Thomas Malthus?

8. THJ fadhT & IR W™ HH-T G ? 2
What are the four pillars of human development ?
3{Ydl /Or
SRS O e Hgd § ?
What is population density?




9. Ufies &= & Sfcvid i are febarepaal & =¥ ferfae |
Write the names of activities which comes under primary sector.
HYdTl /Or
g faig B fo uaen & &1 STl § 2 39 TR frfae |

In which regions is intensive subsistence agriculture practiced? Write its types.

10. SEEAT oA J &1 SR § ?
What is meant by population composition ?
34l /Or
HIAH T qUT FYT &7 fohd Fead § 2

What are physiological density and agricultural density?

11.4Rd 1 T SRGAT &b IR YDRI b 14 feaRay |
Write the names of four types of rural settlements in India.
3{YdI/Or
YR & P13 &1 YT 7RI & AT fafe |

Write names of any two ancient cities of India.

12. 9 st a7 8 e Fed © 2
What is called Net sown area ?
3Ydr /Or
T Tg-dl &1 0T fohd bR J BT 1l § ?

How is crop intensity calculated ?

13, AT 17" HRIHH & &1 Iga=d AT |
Write two objectives of “Namami Gauge Programme”.
3{Ydl / Or
T UGNl o Fdidl & A fRaT |

Write names of sources of water pollution .

14. ST Ig TshHUT B I+ RIS I fda=mT Bifeu|
Discuss the three stages of demographic transition.
3YdTl /Or
fay & S & IR0 Td 9 &1 GHIfad = aTdl i HINITcies BReb! T JuM HIfor |
Describe three geographical factors that affect the distribution and density of population
in the world ?

15. [aId OIS HY &1 Dl o1 [ARIVATS fIRIT |

Write any three characteristics of extensive commercial grain farming.
3YdT / Or .
S HY Bt eI A9 faRiwaTg fafau|

Write any three characteristics of mixed farming.



16. YRd B SRS B 3! e fRUfA & SR fora= wggt & favfora fear man g 2 3

Into how many groups is the population of India divided according to their economic
status?

3{YdT / Or
HRA &I SIS & ATGTIRIS Fae ol faarur S|

Give details of the occupational composition of India's population.

17. YR HY B BIg <14 THATSN BT quiH DI | 3

Describe any three problems of Indian agriculture.
31YdT /Or
H P TUT 3T PV T Bl i SR Y BT |

Explain any three differences between dry agriculture and wet agriculture.

18. TS FgR TYUT G-I 18R H g1 DIT | 4
Compare the Suez Canal and the Panama Canal.
HYdTl /Or

fraferRad & SicR Ty BT -

(31) feunfifes TR 9 9g-uififes IR
(&) SR UTH T STel U

Explain the difference between the following-
(A) Bilateral trade and Multi-lateral trade

(B) Inland ports and Out ports.

19. fay % o2 T gl # 2w U g &3 / T & UgaHeR 3% AW iUl (1x5=5)
(i) A MReT & anfewre fafe By &
(i) =T o HICrS T AR
(jii) SiTeferan 1 aforey ST P &t
(iv) ST
(v) SRE-urgaiE Xa anf

Identify the following areas/places shown on the given map of the world and write the name:
(i) Primitive subsistence farming areas of central America
(i) New York to Cape Town sea route
(ili) Commercial grain farming sector of Australia
(iv) Alaska
(v) Trans-Siberian railway

Pad eRaTed gdeniial & fow Uy sHie 19 F ®IM R f9y aFRE snuia Sgifas Uy -

(i) He smfenT ud Bfere! § sfeaTei Hafe Y PI F1 Hel ol g ?
(i) SPeR T WHIGH I AN HH-T TSR F IR oIl /7

(iii) SfCTeraT & =T oy & HeM & fbg A A AT oIl g 2

(iv) SICTRGT {3 =T BT I B2

(v) <G argaRa ¥ Anf ) oS fbai § 2




Theoretical question in place of question no. 19 world map based only for Visually impaired candidates
(i) What is the primitive subsistence agriculture in central America and Mexico called?
(i) The Vancouver to Yokohama waterway passes through which ocean?

(iii) By what name are the temperate grasslands of Australia known?"
(iv) Alaska is a state of which country?
(v) What is the length of the Trans Siberian Railway?

HYdi / Or

fay & 132 T " # geiv A e &3/ RIFT 31 ugareR 3% I fafeu|
(i) Hifead
(i) SiTeeferaT 1 STt HfYy &t
(iii) 9ATHT I8}

(iv) Peail Uy BT HGH
(v) 3MTPIhT HETEIU T Ja 3 STEeT arell o

Identify the following areas/places shown on the given map of the world and write the name:
(i) Montreal
(ii) Australia's dairy farming sector
(iii) Panama Canal
(iv) Canterbury grassland.
(v) The most populous country in the African continent

Pad e aTd gl & 1T uy sHid 19 & M R fay i snuid Sgifas Uy,
(i) Tifcaa g <=1 $1 ¥0d €WIH &2
(ii) 3t & forg ymT & 378 SN o1 B fohar S 82
(iii) 3NNUed TaaUg Yd AN fbd ARTEIU & fRa & 2
(iv) Peas urg HT AeH frg e # g2
(v) SBIhT & T 3 ST aTell X -7 87

Theoretical question in place of question no. 19 world. map based for visually impaired candidates only.
(i) In which country is the Montreal railway station located?
(i) In which part of Australia is dairy farming practiced?
(iii) In which continent is the Oriental Express railway route located?
(iv) In which country is the Canterbury grassland located?
(v) Which is the most populous country in Africa?
20. YR & 3T T AT & (49 &1 gwigy - (1x5=5)
(i) YRd 1 g4l Iad IdTeH I
(i) YR BT IATH U Gl &R AT o
(iii) URTGIY §aATg
(iv) 3fPAR TS I IaTGH &7
(v) XIS e &
shew the following in the given map of India:
(i) Largest Rice Producing state of India
(i) state with the highest population growth rate of India
(iii) Paradweep Port

(iv) Ankleshwar mineral oil producing area
(v) Raniganj coal field



Fad et wdenfial & fow uy HHiE 20 T AG <P Uy

() HRdH A9 HT JIY 93 IATEH T BT 919 e § |

(i) 2011 P STATUFAT TR Ta 31 TAIR gfG &R Tl T HIH-1 82
(ili) TRTEIT U fg et & ST R R E 2

(iv) SfFHaR dd & fPg T ARG g 2

(vi) IS Ige & YRd & fog ITou & Ry 2

Theoretical question of question no. 20 only for Visually impaired candidates only.
(i) Name the largest rice producing state in India.
(i) According to 2011 census, name the state having the highest Population growth rate?
(iii) Paradweep port is located on the delta of which Rivers?
(iv) In which state is Ankleshwar oil field located ?
(vi) In which State of India is the Raniganj coal field located?
SHYdT /Or

YRd & 3 T At # Fufifad 3 iz -
(i) DI ST
(i) P TS D WG
(iii) RRYef P weH
(iv) HIRd T Fallfieh T2 IdTdh g
(v) BIPRURT ATNDII Holl bs

show the following in the given map of India:
(i) Kochchi Port
(ii) Kudremukh Iron Ore Mine
(iii) Singrauli coal mine.
(iv) Highest sugarcane producing state of India
(V) Kakarapara Nuclear energy station.

Had =¥ T Wienliat & fw gy 20 & siyar & Sgifas uy

(i) DI deTe fFa T A 32

(i) DT e fPA I A G ?

(iii) RITRIeT Piaen wer fow Isa & f¥q g2

(iv) YRA § DF-91 9 IHaH T4 SdTed Bl 67

(v) PTERTURT AT Sl URAToHT ford Io9 H U 87
Theoretical question of question No.20 Or only for visually impaired candidates:

(i) In which state is the Kochi port located?

(i) In which state is the Kudremukh mine located?

(iii) In which state is the Singrauli coal mine situated?

(iv) Which state in India produces the maximum sugarcane?

(v) In which state is the Kakrapara nuclear power plant situated?
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$ad AT g AT UY T
Sample question paper for practice only
BRI AH UG ULIET 2025
Higher Secondary Exam 2025

- IS 2T
Subject - Political Science
(Hindi & English Version)

Total Questions Total printed Pages Time Hours Maximus Marks
23 10 03:00 80
Y - 03:00 U quiie - 80
-
i g uy fFard B
i- UYHAD 1Y 5P IS UN ¢ | TP 39 UY WR 01 3 3MTdfed 7l
i- U AP 6 Y 23 db UdD UY T 3idRe dpey 33 T g
iv-  UY D 6 15 db YD UY W 02 3fh Muikg g1 Ik forgs ot Tsg Har TwrT
30 IS B
v-  TUY HHDB 16 T 19 TP Ud® U¥ WX 03 3 [uiRd g1 IR fom &) weg din
AT 75 TG B
vi-  UY HHIH 20 ¥ 23 db Ud®d UY W 04 3fh [HuilRd g1 IR foma &t I Iian

U 120 5 B

Instructions-

Vi-

All questions are compulsory.

Question number 1 to 5 are objective questions. Each sub-question carries 01
mark.

Question number 6 to 23 have internal choices in each question.

Question number 6 to 15 carry 02 marks each and answer should be given in
about 30 words.

Question number 16 to 19 carry 03 marks each and answer should be given in
about 75 words.

Question number 20 to 23 carry 04 marks each and answer should be given in

about 120 words.




UY1- G5! fddhed TR fafeu|

(i)

(ii)

(iif)

(iv)

(vi)

(a)

PIUT 9 & Fvs § AR @ -

() 10 @ 12

@) 13 @ 14
SIaRifad i~ el gs o |

(3f) I (d)

() =9 (@)

T 0T TRIT Bt WITYAT § TRATHI Fel 8-
(3) Ta,1961 @) TH,1971
@)  Tad,1951 @) gaTH,1961
& S 2014 &1 YR BT 29 af IT & -
(3) TUARTE @)

() qa (@) %
YRd U & sl R g 31T -
(31) 1990 H @) 1999 H
E) 1996 H @ 19959
Rifder &1 URA H faerg sa g o -
(31) 1975 @) 1974

&) 1973 @ 1972

Choose the correct option and write it.

The flag of European Union has stars -
(@) 10 (b) 12
(C) 13 (d) 14

Where did the Bolshevik Revolution take place.
(@) France (b) England
(¢) Russia (d) Germany

(1x6=06)



Where is the establishment and headquarters of Amnesty International -
(@) London, 1961 (b)  New York, 1971
(c) London, 1951 (d) New York, 1961

On 2 June 2014, India's 29th state was formed -
(@) Chhattisgarh (b)  Maharashtra
(c) Telangana (d)  Andhra Pradesh

Kargil war took place between India and Pakistan -
(@) In1990 (b) In1999
(c) In1996 (d) In1995

Sikkim's accession to India When did the merger take place -
(@) 1975 (b) 1974
(c) 1973 (d)y 1972

o M &1 gfd eIy | (1x6=06)

Fill in the blanks.

Those who voluntarily leave their home country are called ..........
The book “Limits to Growth” was published by...............
Globalization gives birth to.............. in the economic field.

The main leader of the syndicate was..............

The slogan of total revolution was given by....

The success of 1977 elections made.............. a Loknayak .



g / 39 farfad |

i) 11 RIAWR 2001 B1 foied T Sfiddrard! g g3 ATl

i) T3t 3RT Ay N Jad §87 9 IUTGH S 3

iy fafts 3= SR TSl WR AfiesuT 1 UHTg THH 6T B
iv) 3feUsc aar urdf & YRS S HiRmE sieasax U

v) "TRIE! BeT3il" BT ART Al gfaxy e = fear

vi) Wdd URd & YUY YT H3! 91 SHTsiiad 34 U |

TY3- (1x6=06)

(
(
(
(
(
(

Write True/False.

(@) Terrorist attack took place in Britain on 11 September 2001.

(b)  Saudi Arabia is the largest oil producing country in the world.

(c) The impact of globalization on different countries and societies has been the
same.

(d)  Dr. Bhimrao Ambedkar was the founder of Independent Labour Party.

(e) The slogan of "Garibi Hatao" was given by Mrs. Indira Gandhi.

(f)  First Labour Minister of Independent India was Babu Jagjivan Ram.

UY4- Tal Sliet a8 - (1x7=07)

3 g

(i) AT Y BT STIRITBRI (31) THT= el

(if) g T (@) T

(iii)  SIRISTT &I BTN (9 &g ad

(iv) T 3fegd THAR @l @) =H

(v) Ycd gsdid (3) ¥ SISl BAle o

(vi) SIEHIOT gREG COEICIREAERY

(vii) T HeTaHIad () Ay foT STawIT ot GG



Make the correct pair -
A B

i) Successor of Soviet Union A) Seemant Gandhi

i) Durga Thapa B) Nepal

iii) International Monetary Fund

( (A)

( (8)

( (c)
(iv) Khan Abdul Gaffar Khan (D) Russia
( (E)
( (F)
( (

Regional parties

v) Railway strike E) George Fernandes

vi) Assam Gana Parishad F) Industrialization

vii) PC Mahalanobis G) Overseeing the global financial system

Y 5 - U aieg § IR [l | (1x7=07)
i) Td~AdT P! IIVON B dTdl Ugdl Aifaad TR &1 A forkad |
i) TR &1 R A1H fafad |

(

(

(iif) T JTY T DT RITGAT fead HF HATIT SI1l 5 |

(iv) HTSTHY SR TR TTfd HRA T Ugall I DI I T
(

(

(

v) APUTd BERA 3feil 3(gHE o TUTd DIe b UIHUT b i T
vi) ST 3R HIAR GrTeA HfAHaH & 11
vii) fCaTaR 1996 T TrawT U foh <=1 & o1d g3

Write the answer in one sentence.

a
b

(a) Write the name of the first Soviet republic to declare independence.
(b) Write the full form of ASEAN.

(c) When is the foundation day of the United Nations celebrated?

(d) Which was the first state of India formed on the basis of language?
(e) When did President Fakhruddin Ali Ahmed declare emergency?

(f)  When was the Jammu and Kashmir Reorganization Act passed?

(g) Between which countries was the Farakka Agreement signed in December

19967



UH6- 1974 H f9gR H foom qur i sfrata fobar, faRkad|

Write who started the movement in Bihar in 1974 and why ?

3HYdT / Or
RaR® ToRa=<! &1 A7 3 g forfedy |

Write the meaning of preventive detention.

UH7- SRYM &L TR A7 T, ferkay |

Write what was Operation Blue Star.

HYdT / Or
HRA &b b YRId Il & ¥ falRad |

Write the names of the Union Territories of India.

UY8- hiHt IR P71 31 forfad |

Write the meaning of creamy layer.

3HYdT / Or
1990 & NP H HRIT I T 3R DS &l dedld §dgy |

Tell any two changes that took place in Indian politics in the 1990.

WY - TETH WHR FT B! &1 TID! Dl &l FANaal [arad |

What is a coalition government? Write any two challenges of it.

HYdT / Or
1989 & §I¢ IR HRAI ULYFHEAD & A HH I faRad |

Write the names of four Indian Prime Ministers after 1989 in order.

uy10- UG fd wed g fafad |

What is called Privy Purse, write it.

3HYdT / Or
1960 & TP DI WARTD D H Bl Sldl & ? PIs &l PRI fAldY |

Why is 1960 called a dangerous decade ? Write any two reasons.

6

02

02

02

02

02



UH11- U ad & UYd &1 1 31 g, fafad |
What is the meaning of dominance of one party? Write.

3HYdT / Or
YR S99 & RITUAT Hd 9 foga &t falkad |

Write when and who established Bhartiya Jana Sangh.

Y12 - TYH Uqu IS &1 ST Hd g5, SUP| dig &l [aRINdTE Sarsy|

When did the First Five Year Plan start? Tell any two characteristics of it.
3H{Ydr / Or
T ST BT T3 Hd AT TP P ol TIE B [ |

When was Niti Ayog formed? Write any two important functions of it.

UY13 - Rl UeihTd T 8§ , HRd 3 39 I TR gXd1aR o b iy |

What is Kyoto Protocol? Write when did India sign this treaty.

AYdT / Or
e T gt 8, ffd |

Write how global warming occurs.

Y14 - MiHiae T fPY H8d 82 3% I 8d H's of U fafdy |
What are natural resources? Write any two measures to save them.
3{Ydr / Or
TR 1 IS & A foriad |

Write any two demands of the natives.

UY15 - IR0 1 §, SUB! s o [Ade fafad |

What is globalization, write any two characteristics of it.
3{Ydr / Or
iR B TN &1 o1 ANTgH §, JHesU|

Explain the contribution of technology in globalization.

7

02

02

02

02



Y16 - T SITARIT & I & TG HRUN o] THTHR (oY | 03

Explain and write the main reasons for the growth of Chinese economy.

3H{Ydr / Or
TRIGIY Y B GUTGRITA! I dTd SReb] ! JHARR Ry |

Explain and write the factors that make the European Union effective.

W17~ JRET A 1 82 HRA B JR&f H1fd & T gl &l bR f[alad | 03
What is security policy? Understand and write the main components of India's
security policy.

3{Ydr / Or
TR S AATDH- DAY | GRI & YIE Widl dI GHASY

What are the new sources of threats? Explain the main sources of threats.

wY18- 7Y a1 g2 0y i fs g gl &1 geemer fafed | 03
What is nation building? Explain and write the main challenges of nation building.
3{Ydr / Or

T TG SHTIRT 61 764 Hd g3 | 3P IR RIGIRRN &I foikad |

When was the State Reorganization Commission formed? Write its four

recommendations.

WH19- 3UTAHIA o1 § ? SHD DI &l GRUTHI DI IGTEI SR e | 03
What is emergency? Write it's any two consequences with examples.
3A{Ydr / Or
S{TUTIeTd ohdl AN fohdT 7T AT | SHTUTAHTA & QIR U &l FaeT-d Saiem &
qHeR fofad |

When was the Emergency imposed? Explain and write about two constitutional

amendments made during the Emergency.



WH20- Yich AR T &, TP UHT TRV &) FHET 04
What is shock therapy, Explain its main results.
3{Ydr / Or
for SR ¥ frarsd Mafdg Wifagd ¥o & YUR & T 9187 gU Ieerv afigd 3o
foaR ferfad |

write your views along with examples on why Mikhail Gorbachev was forced to

bring about reforms in Soviet Union.

UY21- NAHT & Sy oy BT HRA TR T UHTG UST, I8 0l Iied U+ fa=r forad | 04

What impact did the ethnic conflict in Sri Lanka have on India? Write your views

with examples.

3{Ydr / Or
grfchea B 3 & g1 a1l Isifded IYd QU ¥ YR ST B 1 YU TSl
g, SRITd Jra § 397 faaR Igrervr ufgd sarsu|

What impact does the daily political upheaval in Pakistan have on Indian politics?

Tell your views with examples in relation to the above.

WH22- YRE&T URYE BT T3 d 3D BRI BT [A¥gd U DI | 04
Describe the Details the formation of Security Council and its functions.
S{Ydr / Or
UG Y TG BT GRATTI Bl ¢! GIFRIY T H YR & INTGH DI IaTER0T SR
JHIART |

Where is the headquarters of the United Nations. Explain about India's contribution

to the United Nations by giving examples.



WY23- URd &I WHAMY ifd fay I & U smoxge g, SNed T o 30A
ICEIRERIEY 04

India's nuclear policy is necessary for world peace. Tell your views in relation to the

above.
3HYdT / Or

YRA A g b TRUTHT &1 YR TSI TR o1 THT TST, IGT6R0N g JHESU|
What impact did the results of the India-China war have on Indian politics? Explain

your views with examples.

0000

10



Hael AT 5g AT I

Sample Question Paper for Practice Only

ERR QhUS TRIET—20

25

Higher Secondary Examination-2025
fvg—agaarg g
Subject-Business Studies

(Hindi & English Versions)

Total Questions Total Printed Pages Time Maximum Marks
23 06 03:00 Hours 80

fder—

(1) 7 99 & HRT A £ |

() U HHIG 1 ¥ 5 P IS T 8| TS SU-Ued & forg 1 oiw FufRa g

(M) 99 HHD 6 A 15, TP U 02 3P, g AT 30 I |
(IV) U39 pHib 16 W 19, YD U 03 3P, g AT 75 Ve |

(V) 9 HHiP 20 § 23, UAS U 04 3, I WAT 120 I |
(V) U3 pHib 6 ¥ 23 O AdRe A g 17 &
Instructions-

() All questions are compulsory.

() Questions no.1to 5 are objective type questions. Each sub-question carries 1 mark.

(1) Questions no. 6 to 15, each question 02 marks, word limit 30 words.
(IV)  Questions no. 16 to 19, each question 03 marks, word limit 75 words.

(V) Questions no. 20 to 23, each question 04 marks, word limit 120 words.
(VI)  Questions no.6 to 23 have internal options.
1. a8 v g folRag— (1X6=6)

() 9 B 9
(a) TS HadH (b) @ SRR
(C)USP CIRATHTR (d)Th IeUTE SOlfIR
() «rmfere Refa &1 Hdyg 28—
(a) 3Mfies aRder 3 (b) fdes gRawr &
(c) PTLAT aRaer & (d) SIeBfere aRaer 3
() Sgew B ARy
BEIEt (b) SIfeat
(c) ATIBTR® (d)Us weia

(lv) ffaRed § ¥ P31 siEar U T IFHVT T8 BT & —

(a) FRITHD FITSH (b) ST e

(c) 3iu=Re ¥TeH (d) IFT=TR® FTa+
(v) fgfemasor o Heg 8 —

(a) ISP BT | (b) Mfde Ted A

(c) Am™IfST® eh I (d) AFO Tgcdh I




(v1) =T ufsham &1 9o =R & —
(a) 9ISIC I
(c) FreITE BT HedThT DHRAT

(b) T TR BAT
(d) faarer=i &1 gaT o mET

Select the correct answer of the following-

() Henry Fayol was a-
(a) Social Scientist
(c) Accountant

(b) Mining Engineer
(d) Production Engineer

()  Topographical conditions of country are related to-
(a) Economic Environment (b) Physical Environment
(c) Legal Environment (d) Cultural Environment

(111) Objectives should be-
(a) Ideal (b) Rigid

(c) Realistic (d) One Sided

(IV) Which of the following does not follow the scalar chain-
(a) Functional Structure (b) Divisional Structure
(c) Formal organisation (d) Informal organisation
(V) Staffing Relates to-
(a) Political aspect (b) Economic aspect

(c) Social aspect (d) Human aspect

(VI)  The First step in controlling process is-
(a) Preparing the budget (b) Setting up of standards

(c) Measuring of performance (d) Finding the deviation

2. Raw et & gfef difsre—

() T6T D RIGIT oo TR IMETRT Bl & |

() Iy AT o gqRfa Bl 2 |
() RBBROT o ARBTRAT B PRIIR BT HH BT ¢ |
(Iv)  f3reTor =emafl & &7 ST aTetl | BT oo PEd B |
(V)  FRFOT BT b § FER—IP Rig BT B |
(VI) i gee O Y&el BT Ub 91T 2 |

Fill in the blanks-
(I)  Principles of management are based on.........ccccecuevruenenee.

() Standing planis of .....cccccevevrvreeeennen. nature.

(1) Decentralisation lessens the workload of ........ccccoevvivvinenenns Executives.
(IV)  The recruitment in educational institution is called ............coueveenenen..
(V) Controlling helps in minimising the ......cccccveevveveenienee..

(V1)  Financial management is a part of ........cccevvvvvrvennns management.

(1X6=6)



3- U/ ¥ SaR AfTg—
(1) Yo v # arfefia Yoh o afafea fear sar 2

(1) et Frfaal @ gaver Sreereld BNl 3 @1 Sl © |

() T yEy & 9 WRi UR AR BT ¥ |

(IV) "R IR YRR SRE & WRiderd a1 aRS dHaRI gIRT e SIram 2

(V) fa9oH Yevee ITed ST BT ¢ |

(V) DIEd BT Aade SUHE & ol TR Bls 9g T8 uedl 2 |

Answer the following in True/False-

(1 In the capital structure working capital is included.

(1 The arrangement of fixed assets is made from long term funds.

() Controlling is applicable on all management levels.

(V) “On the Job training” is provided by supervisors and senior worker of enterprise.

(V) Marketing management is customer oriented.

(V1) Price does not affect the profit of business enterprise.

4. TE SN TAEAI—

(1)
(1)
(1)
(IV)

(V)
(Vi)
(V1)

A
SIZRNEER)
IBISESNERER]

U & IR Heardl 8
AT e Horal o aganT
™ HRAT

CIEk|

IFIATRE AU

g

c

Match the columns-

(1)
W)
{ID)
(V)

(V)
(Vi)
(Vi)

A

Top Level Management
Lower Level Management
Essence of Management is called

To Provide support in the
decisions of directorate
Bonus

Informal communication

Leadership

(a)
(b)
(c)
(d)

(e)
(f)
(g)

(a)
(b)
(c)
(d)

(e)
(f)
(g)

facia arfaoRor

Nfa FHeriRor

Followers
Monteray Motivation
Oral

Policy Making

Coordination
Supervision

Middle level management

(1X6=6)

(1X7=7)



5.

10.

TP A /A H IR AR (1X7=7)

(1)  afreror o) srafer # ufde] o1 o1 Ut gram 27

() & Sumpa & aca fhamlt &1 iz foae grT fear siar 87
() T ATl BT A R & e 5 ool &1 ganT farar Srar 27

(Iv) fafr= fauos framl & forg o8 18 ifa &1 &1 Fea 27

(v) foeme fS@! & 9o @ ford JMUATS ST dTell ddriid &I 9T ded 87
(VI) SUdTET "9 b fhds wWR 8?7

(VII) ST ARET0T ST 2019 & SfHId 10 BRIS R W Af&H & GH0T B Gdrg

fhg JMART & BT Sl 27

Answer the following in one word/sentence-
() What does an apprentice get during the training period?

() Who controls the financial activities of an undertaking?
(1) Which capital is used to purchase raw material?
(IV)  Which policy is created for various process of marketing?
(V)  Which technique is used for increasing current sales?
(VI)  How many levels are there in consumers forum?
(VIl)  In which commission the hearing for value of more than 10 crores rupees in done
under the Consumer Protection Act,2019 ?

ve B pR folkay | (@ <)

Write the functions of management (Any two)
31erdi/or
"gde fasm B 1 W Bifor |

“Management is a science.” Explain.

T P Aed ARy | (@1F )

Write the importance of coordination. (Any two)
31241/ or

SR U8 @ B Ry | (@1 /)

Write the functions of Top Level Management. (Any two)

Fediaxor @ wiE Rdva fifag | (@1 )
Write the main characteristics of globalization. (Any two)
312141/ or
STRITRY | FT AT & ?

What is meant by liberalisation ?

TqETIe gafaRor & Al B GHISY | (@1 )

Explain the dimensions of business environment. (Any two)
31erdi/or

e & an foRag | @1 )

Write the advantages of demonetization. (Any two)

e &Y gl AT |

Define Planning.
312141/ or
“fRIST T o ufshar R 1 SHEEY |

“Planning is a continuous process.” Explain.

4



11.

12.

13.

14.

15.

16.

17.

18.

e WreT oI5 <1 fadva] faRag |

Write any two characteristics of functional organization.
31ed1/or

frrTeT® e 91 3 a1 favivag fofag |

Write any two characteristics of divisional structure of organization.

AMr=Re 1o & PIg o o falag |
Write any two advantages of formal organization.
31erdr/or
AMHR AR HT A8 fARIT | (@15 )
Write the importance of delegation of authority. (Any two)
AHHRY] BT FT SGLIT 87
What is the purpose of Branding?
312141/ or
oo fisor & &8 <1 7l &1 aviE BRI |

Explain Any two elements of Marketing Mix.

ST BT fH2T T ToRamell &7 qoie BT |

Describe Any two problems of consumers.
31ed1/or

“$H—HID " T 9T 8?

What is “Eco-Mark”scheme?

SUHIEIT RO P |l B HE | (B )
Explain the ways of consumer protection. (Any two)
31edr/or

e STiteT ®IRF &1 9 PR |

Explain the District Consumer Forum.

IRHR RV TF fadm=iavor # iR qar=d |

Differentiate between Delegation of Authority and Decentralisation .
31241/ or

e uftear # fAfga wRol B wEEY |

Explain the steps involved in the process of organization.

Sqea @ Rt ARt @ <G8 F gaEd |

State in brief various styles of leadership .
31erdr/or

JHifa® AAUROT & TR wUl &1 quH I |

Describe the important forms of non-monetary motivation.

fori=or wfebar @Y e § wHeSy |

Explain In brief the process of controlling .
312141/ or

iz & S sy |

State the objectives of controlling.



19.

20.

21.

22

23.

o e & 950 & WEsd |

Describe the importance of financial planning .
31241/ or

e fAviy & wfad &9 91 9 farag |

Explain the factors affecting dividend decision.

Th.SY.coR g1 IR dsnfe wey & frsl o Rigial &1 avi $ifdrg |

Explain any four principles of scientific management given by F.W.Taylor.

31erdr/or
gy & Rigral o Ygfa sy |

Explain the nature of principles of management.

I g AIfd # iR forfay |

Differentiate between objectives and policy.
312141/ or

o™ 31 el B S BIRTT |

Explain the limitations of planning.

frgfdaeor ufear & |ae wFsEd |

Explain the stages of staffing process.
31ed1/or
uRRrerr vd e § 3ok qaEd |

Distinguish between training and development.

fuvE @ SRt & gHsTEY |

Explain the functions of Marketing.
312qdT/or
YBRAT |/ FIT AN 8?7 FHST HEd gy |

What is meant by packaging? Explain its importance.
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A

I. 9 T g9 FET A § |
II. WeAHAIR 1 H5 TF IS I § | T&F IT-TF & fow 1 3= Raifa 8
III. YT HATH 6 F 15,TAF T 287,958 HIAT 30 5% |
IV. ST HHIE 16 F 19,TAF T 3 3, s HHAT 75 5% |
V. TS HHIE 20 § 23, TAD T 4 3, M5 AT 120 9155 |
VI. WeAHH® 6 & 23 T ol § Aqieh fases "I ™ g |
VII. eI YeAt & ersq HT FT FIS §o+ 75l 3 |

Instructions:

I. All questions are compulsory.
II. AQuestions no.lto5 are objective type questions. Each sub-question
carries 1 mark.
III. Questions no. 6 to 15, each question 02 marks, word limit 30 words.
IV. Questions no. 16 to 19, each question 03 marks, word limit 75 words.
V. Questions no. 20 to 23, each question 04 marks, word limit 120 words.
VI. Questions no.6 to 23 have internal options

VII. There is no limit of words in numerical questions.

1. Gg! fawer e fafea
I.  OTHGEN & 6 F dae grar g -

(a) TATHY 3T T FT (b) ¥ FT

(C) e &7 (d) URTIERTIT &7
II. ST 5

(a) TH 9 G (b) TH TS FHT

(C) U&H qq a¥ T (d) TH FHH TR
TIT. SO § F QIET AT HeT T2 AToT AT FgeA 1l g -

(@) TN I (b) T ST

(C) ©TH AqUTd

(d) B srgaTa

(1X6=6)



IV. stasgfa e g-

(@) ST AT (b) ARTEAT AT

(c) deftra Brfe (d) T BT
V. T=rg & &gl Sar 8-

(a) #far free (b) =Tl fAawor
VI. #Eel g3 ST 2T ATy -

(@) 1:2 (b) 2:1

(c) 2:3 (d) .

Select the correct answer of the following-

I. The relationship of partners with the firm is-
(a) As owner and Agent (b) As Servant
(c) As manager (d) As monopolist

II.Goodwillis-
(a) A Current asset (b) A fixed Asset
(c) A tangible Asset (d) An artificial Asset

IIT.When old ratio is deducted from new ratio, it is called-
(a) Sacrificing Ratio (b) Equal Ratio
(c) Gaining Ratio (d) Loss Ratio

IV. Security premium is-

(a) Capital Profit (b) Revenue Profit
(c) Capital Loss (d) Revenue Loss
V. The balance sheet is called-
(a) Assets Statement (b) Liabilities Statement
(c) Position Statement (d) Income Statement

VI. ldealliquid Ratio should be —

(a) 1:2 (b) 2:1
(c) 2:3 (d)1:1
2. = et fr gfd fifor- (1X6=6)
1. WAERRaEtEEREE. L LA T TRAAT g ATRT |
TI. SN ATTFATET H. oo gt g |
IIT. FTEMELE R ATRSHF .. ... . &7 T AT FATAT AT 2 |
1v. o o Y e # uftatdad ST ST et e, S, FEd 2 |
V.  Sm A EamT R AT et e HET ATAT 2 |
VAT 11 1 70 R B I - BN IERIE

Fill in the blanks-
l. To be a partner of a firm, the person must have ability of.....................

Il. Goodwill is....ccceeeeeeennns to earn profit.

M. The balance of share forfeited A/C is shown in ......cccevvuvenne. side of the balance sheet.
V. The debentures which can be converted into shares are called...................... debentures.
V. The bank overdraft is treated as ................... liability.

VI. Cash received from the issue of shares is ................. activity.

2



3. 9/ 9y ¥ SR ey - (1X6=6)
I.  HTHERT GHAIT 6 AT § A1 s Isit o srqora # oA simar g |
II. WTHASRT BH HT Gt Af=ard 981 2 |
TIT. THAHSATST @TaT €90 & (6T 9 a91d & |
IV. H o foFed 9¥ o[arl &I fhgT T37 [T age ard 7 Sfae i smar g |
V. U Al st sferEeer S Agl wedl g |
VI. AN U UFE AT g |

Answer the following in True/False-
I. In the absence of partnership agreement, the profit is shared in capital ratio.
II. Registration of partnership is not compulsory.
III. Revaluation accountis prepared when the assets are sold.
IV. Ondissolution of firm, payment made to creditors is debited to realisation account.
V. A private company doesn’t issue a prospectus.
VI. Depreciation is a non-cash item.

4. GEI AT I - (1X7=7)
(A) (B)
I. EIGECIG] (@) AT T THTIA
IT. Rl 9EeR (b) qotest ET
111, GRfA @ AR BT OUET (¢) SRR arEd ST
Iv. oOUIRG ¢ud (d) =ams oSt fAfer
V. IUYR Y (e) e&fad qfa
VI. BUT S () T ATHIT T ITAATIR
vir. dfad geit (g) Aty am=r
Match the columns-
(A) (B)
I. Current Account (a) Winding Up Of Company
II. Sacrificing Partner (b) Fully Paid
III. Part Amount of Reserve (c) Creditors Turnover Ratio
IV. Trade Payable (d) Fixed Capital Method
V.  Credit Purchase (e) Compensation
VI. Debenture Stock (f) Executor Of Deceased Partner
VII. Reserve Capital (g) Sundry Creditors
5. U 919 H IR fif@w - (1X7=7)

I.  UF FH § AT 6l ATwad gaed| il H97 F7 82

II. @i THTT-10 fee dafaq g2

III. AT 6 AT Tavd T Ha1erd T il Fgd @ 2

IV. STed (ohd T et T asd AT Fgarar g2

V. Ol & ard & g | e oftde & seaeia e Smar g
VI. JTEH & 9TH Abg Fid | ThaTell &1 AbS YaTE 872
VIT. fohe o | AT qod T 90 b1 e Fgemar g2




10.

11.

Write answer in one sentence.
I. What is the maximum number of members a partnership firm can have?
II. Accountingstandard-10 is related to?
III. The document which is related with internal management of a company is called?
IV. Sale of forfeited share is called?
V. Under which heading profit of company is shown in the balance sheet?
VI. Whattype of activity of cash flow is receipt of cash from customers?
VII. lIssue of shares at a price higher than its face value is called?

TR ol &7 F47 75 82 2
What is partnership Deed?
AJAT/OR
HH H FT AT B2
What is meant by Firm?
T HTHET 6 (F g gl o his & HI0 Jarsd| 2
Mention any two reasons for the retirement of a partner.
AAT/OR
AT I | FAT AT 82
What is meant by internal fund?
FEAT @I T THAT | 2
Explain the realization account.
AIET/OR

WY % Tree % 0T FF 7 Grd @il ATde ?
Which accounts are prepared on dissolution of firm.

ATH AT F AT 9T 22 2

What is meant by minimum subscription?

AI4T/OR

terFd Ioft e T €2

What is Authorized capital?

U FHOT F X100 AT 15, 000 FHAT (9T AT H A1Hq 03 | FFIOT (T T q9d I &l
TRAT| FHOAT T TEART AT USil T TeFT hifor| 2
A company issued 15,000 equity shares of X100 each to the public. All amounts have been
received in lump-sum. Pass the necessary journal entries in the books of company.

AJ4T/OR
ThY FATE ?
What is stock?
STQTT o qHIOT & AT o1 g2 2
What is meant by Surrender of Shares.
AI4T/OR

STQTT 2 g7 | T q1ead g2

What is meant by Forfeiture of shares?



12. 9T AT TAT TEA TAATT § FlE &T ¥ e | 2
Write any two difference between Current ratio and Liquid ratio?
AJAT/OR
S[E ATH SALIATT T TOET shitord :
4
[ ATH 80,000
EER 12,80,000
IEERECIRE 80,000
Calculate net profit ratio-
4
Net Profit 80,000
Sales 12,80,000
Sales Return 80,000
13. XSS A HATE 2 2
What are Non cash item?
FIET/OR
e IigaTg | FAT AT g2
What is meant by cash outflow?
14.  afEdaefier sHrT= & FAT qTead 82 2
What are meant by convertible debentures?
IJ4T/OR
T T=H T 22,20, 000 FF AT HT F (AL HT =67 | aga'zrgwﬁ#m TTARe T AT
3100 Tl 10% RO o fAvrae & foram s <far 2o ot qeaht § siraeas osft Jrateat
FIorT |
Ravi trades purchased furniture costing %2,20,000. It was agreed That the purchase
consideration be paid by issue of 10% debentures of 100 each. Give necessary journal entries
in the books of Ravi traders.
15. AT ATAAT | FAT ATHT g 2 2
What is meant by calls in Arrears?
AIET/OR
| == 7 o fafa |
Write the meaning of calls in advance?
16. EATIA T IcqTT o s q1 10T forfe | 3
Write any three causes of origin of goodwill.
AIET/OR

S, AT AR G9F 3:2:1  AATT | ATH ATAT HA AT ATARE g | o ATAST & ATH [
4:3:1 % STITT § ATAT FIA I TZHT g0 | SATATT H TATA o6 HILT A ATHAGTE & ATH
IT AT & AT ol 0T HY |

Jay, Vijay and Sanjay are partners sharing of profit in the ratio of 3:2:1. The Partner agreed to
share future profit in the ratio of 4:3:1. Find out the share of gain and sacrifice of each partner
as a result of this change.




17.

18.

19.

HT ST SAT 3:2 % AqITT § ATHGT & ATH T qled g | Irgid 1 STTa<l 2023 Hl o7
T 1/4 BF & U arEEr a9 T ™H 9 g/ d i S 8§ aRM ST H aqT1 8 | AT 220, 000
TSI ST 28, 000 BAT & T ATAT S | SAF9TF AhcAd gl TATSTT I ToTT | 3
Hemant and Jayant are partners sharing profit and losses in the ratio of 3:2. They agreed to
admit Ajay into partnership on 1%t January 2023 and give him % share of profit which he acquire
equally from Hemant and Jayant. Ajay brings Rs. 20,000 as capital and Rs. 8,000 as goodwill.
Pass necessary journal entries.

AJAT/OR

ToReft o & 9 iR T |TEraTe 1 9T ST 82 Fie J I T ot |

Why is a new person admitted to partnership firm as a partner? Write any three reasons?

IR I I 0T I § IS A1 q o | 3

Write any three difference between Shares and Debentures.
AYAT/OR

sreiq forfes ot 72100 a1 6%, 8,000 RO 97 10% dg I¥ AATHT 64 | & X
340 TH Y A& I¥ a7 gl FUAT Sl [eahl H 9T sl qaAts Fforg |

Anant limited issued 8,000, 6% Debentures of X100 each at a discount of 10%, payable 40 on
application and balance on allotment. Pass necessary journal entries in the books of company.

et wet 1 Foet F Rufa e o e e g o - 3
3
CRERIECE] 15,00, 000
N 3,75,000
oo T wiasgfaat 3,00,000
TFE 75,000
SITITI I qTa 1,95,000

Show how the following items will appear in a company’s balance sheet-

2
land and building 15,00,000
Goodwill 3,75,000
Marketable securities 3,00,000
Cash 75,000
Trade Receivables 1,95,000
AA4T/OR

FHAAT ATATHIH 2013 & ATHAT FAAT 6 =g F THAT TF ITAcq 987 % Tq@ i & 919
forfeam

Write the major headings of the “Equity and Liabilities” side of the company’s balance sheet
as per company’s Act 2013.



20.

21.

22.

o1 ToIee T 9[F 3 Ed @9 21, 68, 000 Wday g, Mafad st 210, 00,000 &, WA &0
ATHTT 3T 12% g, ATHAST &7 9Ifi® 224, 000 g1 A&y & gsineor fater g et
Y T T | 4
The net average profit of Yash Ltd. is $1,68,000 per year. Capital invested is $10,00,000. Rate
of return is 12%. Remuneration of partners is $24,000. Calculate goodwill by capitalisation of
super profit method.

AI4T/OR

TN ST I AT AT § fa< ferfam |

Write the Difference between Sacrificing ratio and Gaining ratio.

wH H 9T g aTel ATHETT I &1 ST aTeit T197 hf T[0T e STl STt g2 4

How is the amount paid to a partner retiring from the firm calculated?

FIET/OR
od, FEm A Raa uw w9 § 3:2:1 % oqurd § @19 ated g w31 fREaw, 2023
T AR TSI FLAT 2| TH (& ATARIIN a0l Ioif @1l & AT FAM: 26,000, 35,000 AT
34,000 2| SATId &1 JoF X4, 500 AT TAT, ST [ETHI | Aol AT AT [THATRA
AT 9T qfT 21,200 FATFHY 800 FF F¥ fam T gfewer =won & forw 2280 #f=a
TR0 T2 SaT T T 2600 FH HT A ML AT Ude, SEE i go 2300 91, A
g1 AT ATT T THTAST @TaT TAT ATHGT & Gl @i aq1s 0|

Paras, Vikas and Nitin are partners in a firm sharing profits in the ratio of 3:2:1. Vikas retires on
31t Dec 2023.0n this day the balances of Capital Accounts were 6,000, 5,000 and %4,000.
Goodwill is valued at 4,500 which will not appear in the books. On the basis of revaluation,

machine and stocks are reduced by X1,200 and X800 respectively. Provision of 280 is made for
doubtful debts. The creditors are reduced by X600 and the patents of which the book value was
X300 became valueless. Prepare profit and loss adjustment account and partner’s Capital
Account.

SQTT o gLOT ol ToRAT oI | 4

Write the procedure of forfeiture of shares.
FIET/OR

U FIA1 o 2,000 HTLTIT F9T L0 AT 10%  Sfezw g2 [Aetfea & 1 2 S9es 913 200
ster ey, W2 T sfer it T F SAAH JTAAT T AT Tal (hAT ST I8 ST T LT FX T
AT | 20T Tor T SfelT | & e sver X8 AT Ster Bt I H q: T w7 e g ua A
A & gafaq e giatear S

A company issued 2,000 equity shares of X10 each at a premium of 10%. The final call of X 2
was not paid by A, Who holds 200 shares and his shares were forfeited, Half of the forfeited
shares were reissued at X8 fully paid up. Give journal entries for the forfeiture and reissue of
shares.



23.

e Tafer o SvaeTa =T FhaTsti & Thg YaTg STd e il fafer 7 aoi Srfor |

Explain the method of calculating “Cash flow from operating activities” under indirect

method.

AJAT/OR

T GEATell | FATA gaelt Thavett & e TaTg sl TUET shiford -

R 31-03-2022 (%) 31-03-2023 (%)
T 2T T ST 2,40,000 2,20,000
T 1,24,000 1,00,000
g1 T 84,000 48,000
=T 1,52,000 1,60,000
T 8,000 16,000
T 76,000 52,000

Calculate cash flow from operating activities from the following information-

Particulars 31-03-2022 (X) 31-03-2023 (X)
Surplus in Profit and Loss 2,40,000 2,20,000
Debtors 1,24,000 1,00,000
Outstanding Rent 84,000 48,000
Goodwill 1,52,000 1,60,000
Prepaid Insurance 8,000 16,000
Creditors 76,000 52,000

4
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frder—
I it e erfeyard R

U HHIDB 6 23 TP NG [dbed QY T T |
U HHIG 1 W 5 TP 32 GRS U 2| UAP SuUeT B o 1 3fF amafed B
[32x 1 = 32]
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Instruction :
I.  All questions are compulsory.
Il.  Internal options are given in question number 6 to 23.
[lI.  Question number 1 to 5 are 32 objective types questions. Each objective
question carries 1 marks. [32 X 1 = 32]
IV. Question numbers 6 to 15 each carries 2 marks. Answer these questions
approximately in 30 words each.
V. Question numbers 16 to 19 each carries 3 marks. Answer these questions
approximately in 75 words each.
VI. Question numbers 20 to 23 each carries 4 marks. Answer these questions
approximately in 120 words each.
VIl.  Draw neat and labelled diagrams whenever necessary.

P.T.O.




qe! faden BT g— 1X6=6

i. = A B e @K | Hrer 8-
a. Uit > qaras b. wIferdl < ywraH
C. UIf&l = 9era= d. oIfedi X T
i. RBI = Jerrfl Ager ofkdl, oiFedl fbaw @rdl § qier &—
a. ar b. =
c. IR d. 4=

iii.  JISTANTT SUYHRT hT Hod—

a. uATRa feeer b. Termef faer

C. TATRIT SUHIT d.remel IuHnT
iv. Hid gad ggiy (MPS) &7 9 28—

C. % d. é
v. SUERT 7 & 999 Agayol FuRke g—

a. fHeat s b. H&a 3ma

C. BNT] I d. faceh sma
vi. 9 d 9 ol garg T9d B

a. APS b. MPS

c. MPC d. APC

Choose and write the correct alternative :

i.  Which of the following is current account deficit:

a. Receipts > Payments b. Receipts < Payments
c. Receipts = pPayments d. Receipts X Payments

ii. The transaction of balance of payment are divided in how many accounts by

RBI :
a. Two b. Three
c. Four d. Five

P.T.O.



iii. The value of planned consumption:

a. Ex ante investment b. Ex post investment

c. Ex ante consumption d. Ex post consumption

iv. Formula of marginal propensity to save (MPS) is :

AC AS
a. — —
AY AY
c s
c. = d =
Y Y

v. The most important determinant of consumption demand is:

a. Netincome b. Gross income
c. Household income d. Foreignincome

vi. From the following the saving per unit is :

a. APS b. MPS
c. MPC d. APC
Reac et &1 gfef asIfe—

i. ST T BT ST &I € |

ii. Bl SUARTEAT H IREAT BT oo HEd T |

iii. ITUTET BT ANTAN T ¥ e FamT 2 |

V. B ARTT = X HTAT

v. of ufoafirar % wH &1 AR b BT 2 |

Vi g =22 X 220 Pt Wi 3 o @ 2

Fill in the blanks.

i. Slope of indifference curve is...................

e e is the change in total utility.

iii. Production function is a relationship between input and ..............

iv. Total cost = ............. X Quantity

v. Demand curve in the perfect competition is .......ccccuvene.ee..

vi. Elasticity of supply is.............. in the equation e, = — X —
3

1x6=6

P.T.O.



Vi.

ac /I ey — 1x6=6

IR BI URT 1 B ol ReR AN DI AT AT FHEd & |
STq A AN YA Bl © d9 Bel ARTd gAdH BT |

i. gff 9% &1 T FoTHS BT B |
iv. AT a% & 9 iR Ride 89 W avg @ dIFd FH B 2 |

PR gRT BT TR a1 Ha1 &I Izacd FeiRa $9d BT SHd dd $el Sl © |
28 B AHIT G St = HHEA drd X 219 b1 AHid ST

Write True / False :

Vi.

Vi.

Vii.

Total fixed cost per unit of output is called Average Cost.

. When marginal cost is zero then Total Cost will be minimum.

iii. Slope of supply curve is downward.

Price of a good goes down when Demand curve is shifted leftward.
The government imposed upper limit on the price of a good or service is called
price floor.

Marginal Revenue Product ) = Marginal Cost X Marginal Product,

GEESISIICRIFC 1x7=7
dhel TN IUIG - a. GDP — 7o g9
NEZGENED IS - b. NDP + Hcg 8™
Y& BT AT - C. 9Fhd a9 — I g™
et faer - d. GDP + NFIA
SECE] - e. ISP °eT — Yg TSl Il
RISTHIN HTeT - f. 921 & qoa # &
IS e - g Hd FI — (oM UIqdr + IR T 9 Jhora
ECIRERUIREL)
4

P.T.O.



Vi.

Vii.

Match the correct column:

Vi.

Vii.

Gross Domestic Product - GDP — Deprecation

Gross National Product - NDP + Deprecation

Net Domestic Product - Gross Investment — Deprecation

Net Investment - GDP + NFIA

Devaluation - Fiscal Deficit — Net Interest Labilities
Fiscal Deficit - less value of currency

Primary Deficit - Total expenditure — (Revenue receipts +

Non-debt creating capital receipts)
Th IR H I ferRau— 1x7=7

JdYerd HIghT g b AN B dlel FAIRAT BT &°

IR TN BT 3T AH T 87

g T HIHT fod JHR B Ry 27

F STAMTAT o9 Rer Bl & T Wi SUAIRar 8 |
fafea = @1 iR gaT1 &1 DI |1 sl 87

dep &% H URadd P BR Tl © 7

RO g1 &7 g4 forfaw |

Write the answers in one sentence each:

Vi.

Vi

Which economist used Micro word first time.

. What is another name of opportunity cost?

iii. Tea and Coffee are which type of goods?

When total utility is constant then marginal utility will be?
Which type of function of money is exchange?

Who can change the Bank Rate ?

. Write the formula of Revenue Deficit.

P.T.O.



10.

Bald roTag rfegawern &1 37ef forRau |

Write the meaning of central planned economy.
3rerar / Or

IR 3referaren & ref forfay |

Write the meaning of market economy.

STAATAT Herd &1 g3 forlag |

Write the formula of Consumption Function.
3ferar / Or

s awgall &1 o1ef Td HIE & IR forfag |

Write the meaning and any two example of gifin Goods?

SYARTT & TUFTETad ey o1 o1ef FHengy |

Explain the cardinal approach of utility.

3ferar / Or

ST & hHdrad faveiyor &7 3ref x|
Explain the ordinal approach of utility.
UM & uireet T dferd H faRag |
Write in short Return of scale.
31erar / Or
aRacil aruTdt &1 fem @ 27 foRay |
What is the Law of variable production? Write.
3IAR AT BT 37 ITER0T Afed forRay |

Write the meaning of Opportunity Cost with an example.

3ferar / Or
6

P.T.O.



11.

12.

13.

14.

DA @1 /1 57 ey |
What is price line? Write.
A srfeaven @ o1$ <1 faRwary fofay |
Write any two features of mixed economy.
31erar / Or
afte sefeme vg gafe s | o8 o siay falau |
Write any two differences between Micro Economics and Macro Economics.
9] fafrra yomell @ @IS a1 HiT foRkag |
Write any two limitations of barter system.
3rerar / Or
&1 & BIs QT B faaRay |
Write any two functions of Money.
T B AT & DIy & DR Ry |
Write any two causes of demand of money.
31erar / Or
RS dbf & DIg &l B IRy |
Write any two functions of commercial bank.
gfe APS &T #1M 0.75 & I APC &1 #I9 ST BIfTY |
If the value of MPS is 0.75 then find the value of MPC.
3rerar / Or
afe MPC &1 919 04 & @l MPS &1 #19 =10 BIFT |

If the value of MPC is 0.4 then find the value of MPS.

P.T.O.



15.

16.

17.

18.

Ife MPC &1 @19 02 & T T[0Td &I A9 =1d DI |
If the value of MPCis 0.2 then find the value of multiplier.
3rerar / Or
Ife MPS &T A9 05 & O OI& &I A9 S0 BT |
If the value of MPS is 0.5 then find the value of multiplier.
RGN °1C @1 A ffag |
Write the measures of Government Deficit.

3ferar / Or
BN qolc & PIg o I faalay |

Write any three objectives of Government budget.

I Ud JeIerd H BIg o R forlay |

Write any three differences between devaluation and depreciation.

3ferar / Or

Rer fafma <% vd faxdht faffrmg <x & @18 9 ofax g |

Write any three differences between Fixed exchange rate and Flexible exchange

rate.

IRE JERIT UG RIFTI~ a3l &l AT HITTT |

Explain complementary goods and substitution goods.
31erar / Or

TUIAT ArEeR AR U quiad] dArdeR HiT Bl sy |

Explain perfect elastic of demand and perfect inelastic of demand.

P.T.O.



19.

20.

A ATy 6 wife @1 AT &R gl 9% 39 veR fear & 3
q° = 1000 —p
g5 =700+ 2p

HIET P ST BT |

Suppose the demand and supply curve of match box are given by:

q® = 1000 —p
g5 =700+ 2p
Find the equilibrium price.
3erar / Or

A9 foTg 6 v gof ufoeaell aroiR 4 ag @1 |RT @ gfd 9% e geR oy W @

q® =700—-p
g5 =500+ 3p
9 a%g & folg A AT a1 g1l |

Suppose the demand and supply curve of commodity x in a Perfect competitive
market is given by:

q? =700-p
g5 =500+ 3p

What will be the equilibrium quantity for this commodity?
ST ash @1 BIs IR faRwarg foRag | 4
Write any four features of Indifference curve.
3rerar / Or
SUAIAT @ BIg 4 faRwary forfRay |

Write any four features of Utility.

P.T.O.



21.

i’\(’\(\ (N

HARIT TIfeTdT, 5™ BT ol IUTEH YA <dl © | TewU 5 B AT I Ud
A IaTe g MaTiery | 4
The following table gives the total product schedule of labor. Find the

corresponding average product and marginal product schedules of labor.

L TP,
0 0

1 15
2 35
3 50
4 48
5 40

3rerar / Or

freferRaa arferar, &1 @1 fid SeuTe SRl <l 8 | da%U 5/ P ol Scdla Gd
AT Seare SR Feprfery | I faar T & {6 W & 3y ISR R R gl Scd1ed
N

The following table gives the average product schedule of labour. Find total

product and marginal product schedule. It is given that the total product is zero

at zero level of labour employment.

L AP,
1 2
2 3
3 4
4 4.5
5 4
6 3.5
10

P.T.O.



22.  fa=faRea sfiwst & ama fAfy gRT &1 I @My &1 T BRI

Vi.
Vii.
Viii.

iX.

HHATRAT BT qTRSHS
EICIN

JAfATRT o4
o o R

SRIE]

RIS

faf3ra s

el | U g A I

T B

8000

200

1000

500

1500

1200

300

— 500

700

(@RS . H)

From the following data, calculate National Income by Income Method.

VII.
VIII.

Remunation of Employee
Dividends

Undistributed profit

Corporate profit tax

Rent

Interest

Mixed Income

Net factor income from abroad

Depreciation

11

(In crore)

8000
200
1000
500
1500
1200
300
- 500
700

P.T.O.



3rerdar / Or

ON  ON N

FrfelRad offrsl & Hed B DI UM BIFTE:

(RS &. #)
i.  PR® AN TR I 3 850
ii. SOIR ®Fd R el B IS 1100
iii. fa<wr ¥ o Fed RS 100
iv. g MTE PR 150

From the following data, calculate the depreciation.

(In crore)
. National income at factor cost 850
Il.  Gross domestic product at market price 1100
Ill.  Net factor income from abroad 100
IV. Netindirect tax 150
23. U fhar fAfY ®I Preule IETEROT gRT FHSSY | 4

Explain the Multiplier Mechanism with an example.
Jrrar
S W@ e R YT @ (A) 50 FRIS . B R AHIG g9 ggiky (MPS) 0.2 der
A (Y) BT TR 4000 HRIS ®. B A1 YR TAKT AN ST BN |
Measure the level of ex-ante aggregate demand when autonomous investment
and consumption expenditure (A) is Rs. 50 crores and MPS is 0.2 and level of

income (Y) is Rs. 4000 crores.

12
P.T.O.
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IGECE
OEEIREEIREIRE
(ii) T FHH 1 § 5 T qeqAS T g1 TH® T A7 1 i [eIiiia g1 aeqias =10 Al SIgHe Tt 70 §
AR TorweT T T4 2|

(iii) T FHIE 6 T 15 T TH T & (o102 30wk AT g1 orex HHT AT 30 9153 2|
(iv) ST FHF 16 | 19 T TAH T & (o0 3 3 R g1 s TAT T 75 9752 5
(v) T FHTE 20 & 23 TF TeF T=F o o7 4 37 [Heifa g1 oreg ST ST 120 9752 21
(vi) ST W o To1T Srafed o 59 & 9@ 29010 U 3

Instructions:

i) All questions are compulsory.

i1) Question No. 1 to 5 are objective type questions. Each question is allotted 1 mark. Internal
options are given in all questions except objective type questions

ii1) Question No. 6 to 15 are allotted 2 marks each. Word limit is about 30 words.

Iv) Question No. 16 to 19 are allotted 3 marks each. Word limit is about 75 words.

V) Question No. 20 to 23 are allotted 4 marks each. Word limit is about 120 words.

Vi) Marks allotted to each questions are mentioned against the question.




77 1-wg Awer-gaa ofen
(1) 9va § 9fa ad sHeear § e Graetr gfy g o 22
() 1.70 FZ () 1.50 FITE
(H) 1.30 F< (3) 2.10 FT

(2) ST &t @eIar gl g -
(37) worrt () FTeATeft
() geAT BERENTED

(3) SufaeraTs e &= F1 qiRomw 22
SIRINEEIEIS () FHTSTETE

CIEIEISCEIE BEIREEIE

(4) T AvHRAT H FA " gehT agfa st it @2

(37) U TR T @) & == ggfa
(|) Sgaei T T (=) e s
(5) ST FHTST &t f@eroar g -
ENEEIEEEIEIE I (@) we= g Rt
G ERINERELIEICIF- SEGIREUCREREL
(6) ATLT | X HT TIT THISHTAFRLIT T T 2
(3T) Taraeft aeger a¥ Asiar (@) Fraeft fFarer & 3
(F) TATHT HEpia 7 o () TR § gy

Choose and write the correct options.

(1) How much does the population increase every year In India
(A) 1.70 crore (B) 1.50 crore
(C) 1:30 crore (D) 2.10 crore

(2) The membership of caste is -
(A) Permanent (B) Temporary

(C) open (D) Formal

1x6=6



(3) Colonialism is the result of which thinking ?
(A) Humanism (B) Socialism

(c) Imperialism (D) terrorism

(4) which party system has been adopted in Indian democracy ?
(A) one party system (B) Tri Party System

(C) multi-party system (D) Party less system

(5) The characteristic of Industrial society is -
(A) Developed market system (B) Ascribed status.

(C) Enhancement of personal relationships (D) informal control.

(6) Which condition in India is the results of globalization

(A) Dependence on foreign goods (B) Increase in foreign investment

(C) Development of local culture. (D) Increase in urbanization
qu—W/Wi%i@Ql 1x6=6

(1) T SATTA T Farer I SATAAT F 2rav 2l

(2) USRI o AT § ST BRATAT ST HATSH § FTg] &ATAT 6 ST | ez Frail gl
(3) TTSIT T HIG T il AT TTZATE T ST AT FHT SATaT B

(4) AT T 73 AT HATEA TATAAT ST AGEAT H G 180d gl

(5) A T T T SATerF ATH TSI TT5T HI TTH g B

(6) SETEIFHIOT o TATH & HSIGL THT T 9T1<F § g BT AT

Write True and False :

(1) The dominant caste is related to the higher castes.

(2) The impact of globalization increases the use of external sources in economic activities and
services.

(3) Raja Ram Mohan Roy is also called the father of Indian Nationalism.

(4) The 73rd amendment of the Constitution is associated with the Panchayati Raj system.

(5) The state of Punjab has received the maximum benefits of the Green Revolution.

(6) The power of trade union increased within impact of liberalization.



w1 3 R el & qfd S 1x7=7

(1) 9T #T T TAEEAT AI1d2000F AHT T qH SAEEAT Uwar G wA

FT qET 2
(2) FGAAT F I8 ARG H TqSAT A IS F g 9T BFFEr T
(3) T AT FT AAT HidemT | Ay BT T
(Q)9a §_ srdereedT i Aifd ot it )
(5) THAUSATRIU & HATSd TS Aifd &1 49 3l
(6) AT H TTHAAT T ARATA_ H T3 Tl
(7) IACTEE F AT arRed §_ T gew qiuwr A

Fill in the blanks :

(1) According to the National population policy of India 2000, the target is to achieve
population Stability by the year

(2) After independence the states were reorganized on the basis of in India.

(3) The new constitution of independent India was implemented in the year

(4) The Policy of economy has been adopted in India.

(5) The name of the basic policy related to globalization is

(6) The Postal service was started in the year in India.
(7) played a key role in the Chipko movement of Uttarakhand.
T4 E A FE SAE AR 1x6=6
D EESEEIEICIRRE (31) FTT AT
(ii) FTERTd® 8= () FTEASTAE SN | FEERET gS(t H araer
(iii) ST el (7) 1951
(iv) STHETT I ger (=) THTST qETT AETel
M EIREEEG (Z) ATHETAHAT sl ATaAT

(vi) gTRTaTiEs At Faqer wEat (F) 1955



Match the correct pairs of the following.

(1) Hindu Marriage act (a) Soap opera
(2) Cultural identity (b) withdrawal of government capital from public
industries
(3) Jyotiba phule (c) 1951
(4) Abolition of zamindari System (d) social reform movement
(5) Disinvestment policy (e) sense of community
(6) Music of serial-full Episodes (f) 1955
o1 5- ferforfera &1 v oreg / a9 ¥ sa G 1x7=7

(1) 9T & TocT TO=ET ST  sresey T 776 #4787

(2) Hifser Hifa = 82

(3) 9T | g sarar e e & 82

(4) T =T T Wi AT TEqh % @ FT AT FT &7

(5) Tore g & Toreft 2oft a7 forgelt Foelt o e o= a1 @die ST 9ad § SHET 919 497 57
(6) FIETSA I SAAATSA I+ TAT SgiedT il LT & (o0 Foh Tahelleh & AT A9TF 87?
(7) TIIT 3 TEUOT T Tl | GATST FIAHT T FAT ATH 57

Write the Answer in one word/sentence of the following.

(1) What is the name of the chairman of the Second Backward commission in India ?

(2) What is monetary Policy ?

(3) Which religion has the majority population In India?

(4) What is the name of the author of the book social change in modern India?

(5) What is the name of the centre from where shares of any foreign company can be sold or
purchased?

(6) Which technology is required to connect to the facility of online games and whatsapp on
mobile.

(7) What is the name of the program related to preventing pollution of Ganga?

TT6) SAAEEAT fAThe i o forfery |

Write the meaning of population explosion.

(2)



FAI4T/ Or
forer o7 2T &7 o forfer|
Write the meaning of child death rate.
T 7) SIS U a9 H S A oaw oty | (2)
Write the two differences between caste and class.
JAI4T/ Or
T IRE™ Ud User I # S &7 3iaw ey
Write any two differences between joint family and nuclear family.
TT8) AT AT [ohel Fgd ¢ ? ey (2)

Write what is indirect market.

JAI4AT/ Or
ITATHTATE F T FAT G g 2 orfem|

Write what do you understand by consumerism?

T 9)  WTIA Hl Uk gHAGeT 5T F91 gl SI1aT g (2)
Why India is called a secular country?
AT4T/ Or
AT | 2151 6l q9eq1 #7182 ot |
Write why rationalism is a problem in India?

T7 10) ATHTSTR STECRTT T F9T 99 3| (2)

What is the meaning of social exclusion

AI4AT/ Or
SR fArowar & T F4T 99T ¢ ?
What do you understand by gender inequality ?

I7 11) UTH 9=0Eq F &l F1 orfew | (2)

Write two works of Gram Panchayat

JAI4T/ Or
Al =t s & faeraard e
Write two characteristics of democracy
T 12) EEATA UF qTATaal | Hle & < oe| (2)

Write any two difference between Strike and Lockout.



97 13)

T 14)

57 15)

T 16)

T 17)

FAI4T/ Or
FEUEE FAAT il HIe & FHEATY o |
Write any two problem of multinational companies.
THSATHLOT | Fle a1 TRy fofe|
Write any two result of globalization.
a1/ Or

faffaer =1 o ot |

Write the meaning of disinvestment.

=T T UHUH A9 | AT 3T | (FE aT)

What are the difference between radio and FM channels.(any two)
JAI4T/ Or

HITAT &1 AT T TS FAT FZRMAT |

Why media is called Guard of democracy.

AT AT % g &7 gior ferfem|

Write any two results of labour movement.

FAI4T/ Or

AT AT 6 S AT FC0 ey |

Write any two reasons for labour movement.

AT Fof=TaeeT T AR At Ara9Tawar #41 g2 ffery | (71 6

Write why Indian needed Policy of liberalisation for their economy? (any three)
FAI4T/ Or

AT FIE A1 TR AT =TT e |

Explain any three result of liberalization.

ST weRaT fRrgia it =TT |

Explain the theory of demographic transition.
AF4T/ Or

SIEEAT gfa % FIOT 1 A0 a0 | (FHE d9)

Write description of factors responsible for population growth. (any three)

(2)

(2)

(2)

(3)



T°7 18

T57 19)

7 20)

T 21)

T 22)

(o o o o

HLAATHS TRAAT Toh Fgd 8? SRR IRTuT T ST 1 qTHTor ST 9% FT TATT

TeTl

(3)

What is the structural change? What effect of industrialisation in Indian social structure.

T4t/ Or
AT H T ot 7 =aret fifey | (#rE i9)
Explain the ill effects of urbanisation in India . ( any three)
TTHTIST AT SR & THTSTE TATAT 61 SATEAT HIT9U | (FTE T1)

Explain the social effects of social reform movements .( any three)

FAI4T/ Or
ST Py A & 2 e AT RO # At ARy | (A )
What is Sanskritisation? Describe the characteristics of Sanskritisation. (any three)
SR Py e &2 ST A ST FSTTeR T T | (=)
What is caste ? Analyze the main characteristics of caste. ( any Four)

4T/ Or
Tpeh a3 Tor ue Ay A e filvdr | (FE 9w
Analyze the merits and demerits of joint family. (any Four)

e avt & FAT gq TLHTE & TATET 0l faa=er sy |

Analyze the efforts of government for Welfare of other backward classes.

AT4T/ Or

TRAT FHEITIT §q TLHTL FIT FATT T AT FHIGAT o0l (degd ATEAT Hiod |
Explain in detail the four laws made by the government for women's welfare.
9 e 7 o forf 2 s qeme & oot #7 foega =amer S|

Write the meaning of Land Reforms ? Detailed explain the result of land reform

AT4T/ Or

(3)

(4)

R T e Fgd © ? SR (T F FIF TATST T2 g0 THRHF T 1 Eeqa AT

EAIER]

What is green revolution ? Detailed explain the effects of green revolution on farming

society.



T 23) TAAAAT o THTA U STAST T SR hl (Seqd ATEAT it |
Detailed explain of tribal movement after independence.

ST27ET/ Or

AT % TH@ FUF AQral w1 [@FE e § 9o g | (FE =9R)

Detailed explain the main farmer movement of India. (any Four)

(4)
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frder —
(1) = gz afard 2
(2) &I T MATID B, A% AR oldel arell NI 1 |
3) UAP U & foIy Iafed 3fd ST U € |
(4) U HEAT 1 W 5 IS THR B U T | FoT AF 30 B
(5) T WRT 06 W 17 TP YAD U 2 3P BT § (g AT 30 Q) |
6) T AT 18 W 20 TP UAD U 3 3fF BT 7 (Ig AT 75 ) |
(7) U WRT 21 W 23 TP UAD U 4 b BT & (I8 AT 120 Q)
8) U HHIG 6 W 23 H NdRd fAwed fAv 7y g

Instructions: -

(i)  All questions are compulsory.

(ii)  Draw neat and labeled line diagram, wherever necessary.

(iii)  Marks allotted to all questions are indicated.

(iv)  Question number 1 to 5 are objective type questions. Total marks 30

(v)  Question no. 06 to 17 each question carries 2 marks (word limit 30 words)
(vi)  Question no. 18 to 20 each question carries 3 marks (word limit 75 words)
(vii)  Question no. 21 to 23 each question carries 4 marks (word limit 120 words)
(viii) Internal options are given in question numbers 6 to 23.

1. IS gE= (1X6=6)
1. HITIH IATRITSS BT Sl b 1 3MfAThaT fbd bR &Y 3ifAfhar 2

a) SR arfHfdhar b)  <fed rfAforan

c) SR AHHAT d)  SuTerdr srfafean

2. WU (C:Hs) & SifRiIS 9 S84 @ oy dqfold FHIdRul &
a) CsHg + 502 — 3CO2+4H0  b) CsHs + 302 — 3CO: + 3H:0
c) CsHs +402 — 3C0O:+4H.O0  d) CsHs + 202 — 3CO2 + 2H20



e g e & dR g9F @ fog F=faRed § 9 o 0 9l 991 STH &
a) €T b)  TgAfH

c) & d wRe®d

SERIFTAT AARHAT H, a7el U &R & AT AFAHAT FRD IaTE 1l &
a)  oqul 3R ST b)  Had oA

c) HI IOl d sEsoE

fIea Soft &1 e Foit # uRafid FR= el IuHRIT 2

a) TUHICY b) SRR

c)  Hex d) IeAdaeR

Y AW &1 Juadid R HRar g

a)  UBR B TR W b) HEH P g W)

c) Mgl d fyafa

Choose and write the correct alternative :-

(i)

(i)

(iii)

(iv)

(V)

What type of reaction is the reaction of calcium Oxide with water

a) Endothermic reaction b) Redox reaction

c) Neutralization reaction d) Exothermic reaction

The balanced equation for the combustion of propane (CsHs) in oxygen

a) CsHs +50: - 3C0O2+4H.0 b)  CsHs+ 302 — 3CO:2+3H:0
c) GCHs+40:—3CO:+4H0 d) CsHs+202— 3CO:+ 2H.0

Which of the following materials is most suitable for making the core of an

electromagnet

a) Copper b)  Aluminium

C) Iron d) Plastic

In a neutralization reaction, acid reacts with a base to form product:
a) Salt and water b)  Water only

C) Salt only d) Hydrogen gas

The device used to convert electrical energy into mechanical energy: -
a) Ammeter b)  Generator

c) Motor d)  Galvanometer



(vi)  The refractive index of a medium depends on:-
a)  Wavelength of light b)  Density of the medium
c) Frequency d) Vaccum
2 R = o gfd S - (1X6=6)
) fepanatl 1 wgen g1 I far simar 2 |
(i) IR BT & S & W & IR, AT IF[ET gy HI faem H gRa wvar

(i) Toferal & g<a o dda PeT B T |

(iv) 3 BT I8 T S S T TS BT & =

) ¥ SOl BT garg U faem | BIar 2 |

(vi) T BIS 37 9Tg & AT JAHAT FHRr & A———— I IO Bl 7 |
Fill in the Blanks :-

(1) actions are controlled by medulla.
(i) According to the right-hand-thumb rule, if the thumb points in the direction of

the current, the fingers curl in the direction of the

(i11) Fishes have only chambers in their heart.

(iv) The part of the eye that provides colour to it is

(v) In the flow of energy is unidirectional.
(vi) When an acid reacts with a metal, gas 1s evolved.
3. fr=feReg sl @ forg w8 /1o fafeg - (1X6=6)

(i) wfoadt fhar # e oRT Fovoy], WIeR, =R SR ART £ |

(ii) 3l & pH A9 7 & 1% BIam 2 |

(i) P IS IWfhar H SRl BT SHM B9 JMMBRDI & G &
SRTER BT 7 |

(iv) BT & Udh ATH W A AgH H FAM i | I B R AYac il
g |

(v) 1 grqy S diell 8l € iR g8 Wigd: dR S5-I ol Fhdl & |

(vi) ¥4 3ATF & M1 H gfie & forg s 3R DI BIRGIN Bkl © |




Write true /false for the following statements :-

(1) The organs involved in reflex action are spinal cord, motor neuron and brain

(1) Acids have a pH value greater than 7

(i11) In a chemical reaction, the mass of the products is always equal to the mass of

the reactants.

(iv) Refraction occurs when light travels from one medium to another at the same

speed.

(v) All metals are ductile and can be drawn into wires.

(vi) The retina in the human eye contains rod and cone cells for vision.

4 & ST §15T - (1X6=6)
Bl A dieH B
@) ugd 3T - (a) ST rfAforar
ii) AT BT TN - (b)  SraIREma & aH
(i) aRIeH - (c)  Yart Ul H gol Wi @
(iv) D.N.A - (d) HCl
v) wHsd - (e) 3o fohamwl & A #=ar @
(vi) “aq” Ui ® - 6 <=
Match the following :-
Column A Column B
(1) Strong acid - (a) Endothermic reaction
(11) Absorption of heat - (b) Laws of Genetics
(1) Cerebellum - (c) Substance is dissolved in water
(iv) D.N.A - (d) HCI
(v) Mendel - (e) Controls involuntary actions
(vi) “aq” indicates - (f) Gene

5 T IE / a9 § IR fofeg -

(1X6=6)

() 3T gTgall BT ITEROT SIRY FT-IeT i &H BIal © ?
i) TPl o g9 & R JEod &3 X@RI B fawm F1 Bl 87

(i) AFE BT AHI [HAY T 87



(iv) HFE AR BT DI AT 9RT Frae, G-, G R q@q & oy faediad
g?

(v) AR (Fee gieam)al S &3 & oy B A1 of| SUanT fHar Sirar 272

(vi) TH & IEEAG GI T 50

Write the answer in one word/ sentence :-

(i)  Give the example of two metals which have low melting point?

(i) What is the direction of the magnetic field lines outside a bar magnet?

(iii) What is the normal blood pressure of human?

(iv)  Which part of human brain is specialised for thinking, hearing, smelling,
seeing etc.?

(v)  Which lens is used to correct myopia?

(vi)  What is the chemical formula of ethene?

T I Soldgid Sic G¥adT 9413y | @)
Draw the electron dot structure of ethane.

3qI/OR

NI BT Foldeld Sic IRTAT 918U |
Draw the electron dot structure of methane.
frfeRaa sragal & wcie fug 999U <1 gRUY Rl # SUAnT foy o & (2)
() de (i) UfRE®
Draw the symbols of the following components used in the circuit diagrams:
(1)  Battery (1)) Resistance
312di/OR
Bl a1 &1 9feRe g R iR aRar 8?2 a1 dR$l & T/ oy |
Write the name of any two factors on which the resistance of a conductor depends.
ar fewfeny gy i fewrd g @)
Explain why stars appear to twinkle
312di/OR
3T iefl i fa=arg <ar &7
Why does the sky appear blue?



9

10

11

12

13

14

SRt &1 IRl B JTocdra dal o7
How the leaves of bryophyllum reproduce?
3RIEI/OR
3T H fgdsT @ ufhar &1 auie @ |
Describe the process of binary fission in Amoeba?
ST 3R ST SrfAfhamell # T ofax 77
What is the difference between exothermic and endothermic reactions?
3RMEI/OR
SITRATDHROT IR T=I IfAfHAT DI ARATT DI |
Define oxidation and reduction reaction.
HSd & QUHRUT FIF BT T A8d &7
What is the significance of the Mendal law of Segregation?
3RIEI/OR
Hed & U & 199 DI T IERY &I WA I FASISY |2

State the Mendal law of dominance with one example.
ATg IS T3 BT AT &F a9 |

Draw the labelled diagram of human excretory system.
SRMEI/OR
€SI B q HUEl & AW I8 | S9d Uh Udh B forfRgu |

Name two valves of the heart. Write one function of each.

gfdad! a9 9T 8?7 Yeb SaTexRvl Aol |

What is reflex action? Give an example.
31rEar/OR

A IRR H R BT fHhT AU |

Explain the role of Neurons in the human body.

3 @1 frm faRay 9 s e efvie fofReay |

State Ohm’s law and write its mathematical expression

3EI/OR

ST H I A9 UfCRIE & el JfARE B T B Ri=2 Q, R2 =3 Q, 3R

R;=50Q

2)

2

2

2)

2)

Calculate the total resistance of three resistors connected in series: Ri =2 Q, R»

=3Q and R5=5 Q.



15  JUAcHI® PI GRAIMNT IR | Ul &7 (qac-Tid foIlRay | ()
Define refractive index. What is the refractive index of water ?
3RMEI/OR
T IS ¥ Dl BIbd qUI 25 FAT & | o B 2ARh DI TUMT B 3R qa1g b
g SMWART o & AT ITANT oid |

A convex lens has a focal length of 25 cm. Calculate the power of the lens and

state whether it is a converging or diverging lens.
16  Sial § pH A9 &1 Had F9ssY | & Sarexy forfay | ()
Explain the role of pH in living organisms. Write two examples
3RMEI/OR
ST ATST DI T HRA WR B aTell RIS AMTHAT fhA UHR BT 57 IErIfTH
FHRoT fTRa |
Name the type of chemical reaction that occurs when baking soda is heated?
Write the chemical equation.
17 STcl UHYT &l & R &R d6hd 82 Big &l Surd foailay | Q)
How can we control water pollution? Write any two measures.
31Ear/OR
IR YUl & T BRYT 52 Plg al HRYT [IRay |

What are the causes of air pollution? Write any two causes.

18 Fr=ifeiiad erqell @1 SeTexeT AR (3)
i O od 999 9@ 91 SR UF & WUS H I @ a1 I ST A8
ST |

ii T4 a9t 1fde faga araddar & forg S ST 2 |
i O A W A A BT S Adhdl g |

Give an example of metal which

1. Does not corrode even after prolonged exposure to air and water?
il. Is known to have the highest electrical conductivity?
1. Can be easily cut with Knife?
3RMEI/OR



=feTRaT ereal @1 aR|Tig HIfsTy:
() ST (i) o=« (iii) TATSTZIoTT
Define the following terms:
(i) Corrosion (1)) Ductility  (iii)) Anodizing
19 o1 &3 XE@RI & aIRE® o1 foRay qen yenfs o Jerar 3 99ssy | (3)

Write the characteristic features of magnetic field line and draw the sketch

diagram.

3RMEI/OR
Uh WY GRTATE] ATl T2 Ub gbR ofd & aRl AR GIDbIA &3 Er3il Bl
Ue 91¢ 3R WHsIy | 9 b9 = €7
Draw and explain the pattern of magnetic field lines around a straight current
carrying conductor and a circular loop. How are they different?

20  3mvifas g3 CaHoOH arel Hrefias A &1 IUPAC 9™ a1 2 R+ sfehiga
THE BT &7 SHG] GYa 9918 3R {vIfaa aHraad! &1 = forfRag | (3)
What is the [IUPAC name for an organic compound with the molecular formula
CsHyOH that contains an alcohol group? Draw its structure and write the name

of possible isomers.

3RI4I/OR

AP §91G AR et Aiffiept & forg TUPAC A ford:

(a) CHsCH2CHO (b) CHsCH2OH (c) CHsCOOH.

Draw structure and write the IUPAC names for the following compounds:
(a) CH;CH2CHO. (b) CHsCH-OH (c) CHsCOOH.
21  HFG UEE OF B O §98d 9T R @ B foRay | 4)

Draw the human digestive system and write the function of saliva.

3EI/OR

AT ged BT o 9918y 3R forfRav fo gaRT uRG=Rer 91 5 TR & 87

Draw the human heart and write which type of circulatory system we have?



22 HIE] Yol OF ® AT IR 9FT &1 T g8 AR I qecd o | )

23

SRMEI/OR
HTA% gae o= o7 fafa= faftat ofik Y # S9a 7z &1 avie & |
Describe the various methods of vegetative propagation and their importance in

agriculture.

U 5 TH Hdl I& Iadcl qUU & FHET 20 HH BT g R T Sl 8, o]
Frpd 0 10 TR R | <UT GRT I TSl TR @ R, Tpfy iR SMER S
BT | 4
An object 5 cm tall is placed at a distance of 20 cm in front of a concave mirror
with a focal length of 10 cm. Find the position, nature, and size of the image
formed by the mirror.
3EI/OR

Teh PR 8 HIER &I X R T a8 & WY $ g & folg IWINT fby MY Il
UV & A el 7, TId aehdT T 6 IR & | QU §RT g+ arell ufafdd
&1 Reifdy, 7efT 8k STPR ST BN |

A car is parked 8 meters away from an automobile's rearview convex mirror with
a radius of curvature of 6 meters. Find the position, nature, and size of the image

formed by the mirror.

el
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fa&em: - 1.9d gear: faarat: afedl
2. YA FFEAW 3SHT: e |

3. {AY YA SRITOT FEhc $TNIAT Mo |

01. 3 ey Recar fow@a - 1x6=6
1. 3FAC_ ACETT TSI Tq3Td: SEaaeIed &9 AT -
(31 FIH (§) 3EATHH
@ 3R (@) 3rEFsEH
2. A ScARAA UG wfea: wRka -
(31 & (@) cfadhr
@) aqdf (@) |
3. oA 3fd 9e aeetd e -
(37)  ThdHeH (8) gfaaasa
(@)  SgaEeH (&) FeTaaeTA

e

4. qHoT i ®uH IR -
(31)  JANT, Thadey (@) IJH, ThaTTE"

(4

(@)  ggH, dgadaEd (&) e, Sgaderey

e

(1]



5. '31g ¥9: TacITed AT ' sATEA arerd 3reagA e -

() ' () TR
@)  HereH (@) wonfey
02. ved usd: ReFaearyfct Fed - 1x6=6
1. GITH: SATEHA TS vorr wevvres e T 3| (I2T/52)
2. AHA SCATEAT TG wove wvvree e RY: | (TIH/ACTH)
3. U3 Yrdl: faffiss ohRET AT Thadaed ... ¥ HARA| (TS
[aST)
4. AHTAH 3T FT o e e AT (GATTIET/agaT=TEy)
5. A9 3aRAT 9¢ e e e 3aaeT: IR (fFa/feR)
6. TgUPR:  SARTHA T cvue coer oo uweT: Rl (wfarm)
03.  CY ATl HALT "INH" HYY g FHET " s fowd - 1x6=6

1. & + 3eedn: = ggeledn: Hafdl

2. 'TANHAT" ST TS & et e

3. "INISTA" 3 ue fawet afeer: &
4. "farEH:" scafens 9q sgeife wAmE: el
5. "3 3fa ue e AR 3Rd|

6. "B 3fq 9 gfasy TEw: iRl

(2]



(37) (C))
(i) SpdAdr 31T
(i) g oTeeT:
(i) IS Fefead
(iv) faeforf RIS
(v) oad: Fh:
(vi) e JCEH
05. THAHRIT I fa@d -
1. "GHANY" SATTAT U¢ &F: JeIg: e ?
2. "HIRAIHA" 3AEAA IS & Yogd: e ?
3. "3UTSIdareT" ScAfeAe 9& &: Yead: 3fed ?
4. HIGRM: WIU: §heue Hgeded ?
5. ST &: ellefeig: afd ?
6. 3iferer AgeRAYY fF yefa ?
FeNfAf@a weareny sauior xpasmrn faad -

06. HIA: Fer EaT AT TTCAfT ?

3ar

3EAT 9RO & & g i ?

07. SiFge: b des] SATERY 3UgTH FAT ?

3ar

gf¥ear: T o S ?

1x6=6

1x6=6



08.  dIfd &T ¥dd ?
3rear
ST Fhecel feFT REN fhaerdan ?
09.  dTefemTard fgdeht: S fawrsid 2
3rqar
W gy geed fohae garfd »
10. R GEI e §E Hafd ?
3rgar
fg o e o Hafa der 9o Y [eead ?
1. YWERHFAICAYT TRARATTT Fd - (FRAE)
1. TRl sTaETeT gdTeratd afedr|
2. QU cIUT Hed SIgAd TR
3. ITcdeh: gt JAfd]|
12.  INfaf@afa g & & ufa Fafa - @si 5)
1. 3fe]d 9&ff A H1h: & F: - F
2. 8T ¢d AT - F
3.99FT & 3ol 3 WAl F: - &
13, NTATGAT areraiey Tea HARTERT foagd -
(i) STEhehcIcaTg: SUTEN: Ye: Hleteld IETS|
(i) zamer: ey SAfAfe Fear Torfda:|

(iii) AT AT TH T IIRTAI

(iv) FeGcTeat AT AT Aol JTaTGecl 3ard |

14. TRAT FHTTAT {eiIhle] A8 TIUTGTEHI HTNARS (Teh) for@d |

(4]



15.  INfAfAAY Jreu-aRe A e aofan: - (#Isf §) 2
1. g &)
2. faezrer: aRa: gam: afed|
3. geTEg TATOT geffed |

16. Reawuefa @Id - (FRq gcai) 2

17.  areg aRads F%d - (s E) 2

18. 3mufof@d srcane afscar weaArrH 3awmr forad - 3

G 9y 3T UraelarH| dHUCT FseUce fAfRd gereolied 8 Thedd dgedl
SATATTRRIOT i TiEret| 3Rel gUseds 3eTe, JIfAGFaed Hciia HeAhR: | HREd:
ATET Tohollel Tgal copd GOaH M| H HRAGAA Foaid FH| dET Foce
farey Afea Imel doarg - ¥ geel dFA fiet caansg ARdrar #ssurar Igvne
aie:| geldl fAeehcaey Bl Hgadl IRAA DAHAN o aETIET FREUS
Joegd” 3fd Wew 3T Eddl U 3t qeAR THREA dcaR
YT |

(5]



1. PUAPTT: & I ?

2. 38t o $F Tt ?

3. HRAGATT &: Fogid TH ?
rgar

EIE\FJCIFZITﬁ A Gecfd T | TUTTeAqRA I3 TSy cAdeAHTs1ara | Jcife
IAHAIAT golel: | FASaIAY  Siefell Joddeholl Ud| UMY el o AJ: AR

FaT Hgord " 3| AU Hoar o AFATEIEUSHEAY geaAGAdl F A
dFATHA AT - "5 acd | T9 85 SR|” ARG gusarde AeRdeT I Jav:
AT

1. gUsdaTdel AERAT HE &: THSAIT ?
2. Ag: 3fAHT FUT HIEA 1afd ?

3. QAT Hcdl A HET gaIAGA ?
19. HNTATGTA: TR IfScdl TeARMARET TRATAH ITRIOT HEhc AT
forad - 3

el URTVET aTd TR ASEGERAC|
RIS Hel U fFAsuad farg: ||
1. farge: fgel am gRcgerafa »
2.999 %l F: IR ?
3. faoge: Iger Bel g ?
3ryar
3RS gAY e
EIAIT AAMRT dgled S|
IefFdAcggfd afosar o |,
WeAdaTwer & geer:||
1. O[T 3119 dhiger: 37 JEgd 2
2. §eEd: HGY: Hafed ?
3. gffsdr ot: & Fefa 2

(6]



20.

NG AT qfScal ATCARMARET TAAH STOT HEHIHATIAT ferere-
o - JE: g AT

faqye: - ®yufAg ?

& - dNaeaae i AT e, Harare, areHlhagRid|

T - 3T T gAEdIae, aaE! HEaaAH|

faeuer: - (3Ugcy) AT #aTe|

TH: - 3T PARARAAREATS T FEUT FHEY: FeFagecled: ?

1. dNGeTaT deT: U HATAY Shol ATFAT TEaTTed ?

2. FEAT: g ATHAT ?
3.§%m:ﬂmamﬂﬁ¥:ar«rmamﬁ?
Fgar

Rig: - (PO Tk o | 3 Gorior: o o SEd ? e AR gefed ad
fAforear?

Teh: dN: - Idl: T FoRrer: Aidq J HAUSAY:| T J T&Teh: #afd W &are g
#eTeh: | AT T TRETIANT gAd: afF |, I syweas dEasafy »

3o det: - foh o AT caar gsAdeAtad: -
T o @Il faaedre disgaA=r @ e |
Stecel TYaEI0T § cdleal o HUL: ||
@leh: - TH Tcd A cadT - TEJ: Tolol: Hidd J AT I |

Oeh: - (3UgEs) HY @ AT Torel: HiAG, 9 AT F-h1 S FHehaedisen
ATARUTATG AR | o TG, o R ed |

1. Fdled: & Hodd ?
2. T frger: safd 2
3.%: gTaTaluT &Henel eafelel JMhellaniifal 2

(7]



21, INTATATH IATSANEIIRN IfScar TRATAH ITRIOT FEHAHATIT fodd| (Hrsfdear:)

FRARISY TAIRAVSS UF: BEFAURER: fed | afeA e af wepd
FFEAYUT Fdffod | T GRAEISTY HEho# adicy FHYT: Fied | Aieas] g 3ifeH=g:
ATH Teh: Jaoh: IR| TS FEpaHA Fefd | TsheT o Teh: TEhd TEATIh: TITcdle]
| T HE JHTHAY: HEpclol FEATNUT FHldlel | TET Jaohed Fiashi  gsear Jreardeh:
HAAIS A FIHIOT Eale], | TEAT [T T8 HATH Feaped 9T Fgelr 1A
oA | &: wfafes Mdram: @i afScar- afScar ater eolteret 3 |

1. TEFIINER: FF AT ?

2. UTEATId: HEH Ad FIHRITOT gAaTe] ?
3. gTEdTOeh: AT od Fgehiior fhaAd gaar ?
4. gash: HY IMNAT: LT IEAR ?

5. O gerar AT fohe Jasicy FHAT |fed 2

22. YEREGHA TAGEEEAH JahrRndd v gy fowd | 4
3ryar
Ta-a1faear faare =g Tafd=s gfa 97 foaa |
23, INTARGAY Toh AT Eiehed TEpd AR et foad - 4
(37) wrRATaRoTH
(%) FEPAATIAT: FHgeeas]
(|) 3THATH S
(&) HETha: HIelard:

(8]

4
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U - 03:00 GUC qulie - 75
- i Oy sferd 5

i-  UYHHD 1 9 5 dP 30 TS UY 81 TP 3U UY W 01 3 HeilRkd Bl

ii- Y HHD 6 23 dF YD Uy H 3MidRe fawed e T 31

iv- T BB 6 17 dF 12 U4 81 IdP U9 & g 02 sics MuiRa g | IR
o1 Teg AT 30 L 5

V- UYHH® 18 20 IF $A 03 TH & | TP U W 03 3 FufiRd §1 Sar
&I Teg AT 75 T 5

vio  UY HHI® 21 ¥ 22 9% A 02 UY g1 U U & AT 04 3iw FAuiRka
21 IR B! Ysg AT 120 U B

vii- Y TP 23 BT IR, 38 T FCRIER YRd & @1 IFRE R gRiisd|
IR & ford 04 3fw FeiRa g

Instructions-

I- All questions are compulsory.

ii-  Question numbers 1 to 5 are objective questions. Each sub-
question carries 01 mark.

iii-  Question numbers 6 to 23 have internal choices in each question.

iv-  Question numbers 6 to 17 are 12 questions. 02 marks are allotted
for each question. Word limit is 30 words.

v-  Question numbers 18 to 20 are total 03 questions. 03 marks are
allotted for each question. Word limit is 75 words.

vi-  Question numbers 21 and 22 are total 02 questions. 04 marks are
allotted for each question. Word limit is 120 words.

vii-  Answer of Question Number 23 should be indicated on the outline
map of India as directed, carries 04 marks.




UH1- gl [ddhed g fafau| (1x6=06)
() Frafafea & F frg g & WeR (Mot ) Tt Bt ot B -

(37) GolTd @) IIRYUCY &b A
@) giarn () STIRIAUS
(if) PTel HaT fpd I H I &9 9 UTS ot g -
(31) O HRAR (&) IoTRIT
(¥) HeRTY (@) IRYUs
(i) HRA | iolae TR URTSHT 8 TR™ 88 -
(31) 1980 @) 1973
(H)1976 (q) 1970
(iv) TITefT R o gaim o -
(31) 5 ATI1931 (@) 3 A 1932
() 4 A1930 () 2 ARI1933

(v) YRd H =< & aramar forant Hrwaft o1 Tfem ot smadt syt & oof faar
g -

(31) 15 @ 17
()19 (@) 21

(vi) HRd & aifde IeRaraarIsa g -
SOREL! (@) sfamon
() B (3 ) PAlcH

Choose and write the correct option:

(@) In which of the following states terrace farming is done -
(@) Punjab (b) Plains of Uttar Pradesh
(c) Haryana (d) Uttarakhand



(b)  In which state black soil is mainly found -
(@) Jammu Kashmir (b) Rajasthan
(c) Maharashtra (d) Jharkhand
() When did Project Tiger start in India -
(a) 1980 (b) 1973
(c) 1976 (d) 1970
(d) Gandhi Irwin Pact was signed on -
(@) 5 March 1931 (b) 3 March 1932
(c) 4 March 1930 (d) 2 March 1933

(e) How many languages other than Hindi are listed in the 8th Schedule of
the Constitution of India.

(A) 15 (B) 17
(©) 19 (D) 21

(f)  The state with the highest literacy in India is -

(A) Punjab (B) Haryana

(C) Kerala (D) Karnataka
Yy 2- Nad = &t gfd ST | (1x6=06)
() YR D! Ta TS PEH S oo gl
(i) DA EET YUl B SIS T oo HET TG |
(i) SATUUCRT & HPRIATSA A€ W JaTIDH FRI&T UG TERT TGE. ..o g
(iv) SPIBIH 1890 H ERIB T ... A SR §gd doit I T |




Fill in the blanks.

(a) The largest artificial lake in India is .............
(b) "Kartan Dahan system” is called....................... in Chhattisgarh.
(c) The safest and deepest port on the Coromandel coast of Andhra Pradesh

(d)In the 1890s, a disease called....................... spread rapidly in Africa.

(e)In the Act related to equal wages, it is said that..................... will be given
for equal work.

(f) Average income is also called.....................

UY3- I / 39 ey | (1x6=06)

fewn) TR HeElu &1 Yad 981 3WId HREMT |

(i) PRUMRITTIGE GRS TP o |

(i) Ty Bics I e & oY RHET HUST ISR 2T |

(iv) T TR Uicke YURDI H ¥ TH Y|

(vi

YR PTF B UTct BT 311885 H gl AT
) @dhd-d dfad o1 TRAT B ST 5

Write True/False.

(a) TISCO is the largest steel factory in the continent of Asia.
(b) Agriculture and industry is complement to each other.
(c) Smith Field was the oldest cloth market in London.

(d) Martin Luther was one of the Protestant reformers.

(e) The Indian National Congress Party was formed in 1885.

(f) Democracy enhances the dignity of a person.



UY4- ol SilS! 913 -
3
(i) e AR
(ii) $7CIUS
(iiiy Fafseres=1 aret
(iv) TRDR BT dgR T
(v) A STRGHT
(vi) 100 f&aE Pt ASATR TRUCT Gl

Match the correct pairs -
A
(i) Gulam Giri
i) England
iii) Republican Party

(
(
(iv) Better form of government
(v) Democracy is responsible

(

vi) 100 days Guarantee scheme

UY 5 - U 9if § IR oIy |

(A) Christianity
(B) Democracy
(C) Jyotiba Phule
(D) America

(E) MNREGA

(1x6=06)

(F) Responsible and legitimate

governance

i) SiaeR, FRIgi, aid, ToigR 3Nfe &1 YTt fovy & o 3Tl @ 2

) HRA H BT TRHR DI B J B! Al DI SR HRaT § ?
iii) SRR H UTHIUN dob) Y RITYAT o 3R T o1 ?

v) JIT T TaR WEife! &1 9ea & 71 Hed § ?

vi) faY IR 776 T BT AR TG ?

(
(
(
(iv) SGRISIT HHIGT GRT (4 D1 R HEA © ?
(
(

(1x6=06)



Write answer in one sentence.

(a) Services of doctors, teachers, lawyers, labourers etc. come under which
sector?

(b)Who issues currency notes on behalf of the Central Government in India?

(c) When and who established Grameen Bank in Bangladesh?

(d)What is investment by multinational companies called?

(e) What is information and communication technology called in short?
(f) What is the motto of World Trade Organization?

WH6- TaT 3RS 4 T 3R g ? 2

What is meant by soil erosion ?
HYdr/ Or
UgTS! &3 H HeT 3Red &1 AHUH & ol o9 I g HeH IHT AT,

ferfad |
Write any two steps should be taken to prevent soil erosion in hilly areas.

WH7- S[C DI eI ST & BT ol 6 ? 2

Why is jute called golden fiber?
3{Ydl/ Or

HRd P T T O bl 71 fIRIT 3R W8T g UeT Bt oilat g 3 &1 BT
f} 7 forfau |

Write the name of a food crop of India and also name the regions where

is it grown ?
WH8- SMHYRYT I T A 3 ? 2

What is meant by basic industry ?
SYdl/ Or

YRA H Y S1Rd ST dH-HH A ?

What are the agriculture based industries in India ?

6



H9- RIIY UG 3R AR H 15 &l R W Hifod | 2

What is the difference between the Local and International Trade. (Any
Two)
HYdl/ Or

YA T TS AT J o7 3N § ?
What is meant by Pradhan Mantri Gramin Sadak Yojana?
UH10-SAa- T G ? 2

What is Zollverein ?
AYdl/ Or

Uifera Hfed ¥ T SR g 2
What is meant by Napoleonic Code ?
TY11- TS A SgANT 3MT<le anfuy o= o1 Saral i fobar 2 2
Why did Gandhiji decide to withdraw the non-cooperation movement?
3{Ydl/ Or
e TaE T AT ? 3R T8 Hd &1 2

What was Rowlatt Act and when was it made?

UY12 - BT Al I R R ¢ ? 2

What is meant by Corn Law ?
AYdl/ Or

31T Yech I T AT @ ?
What is meant by import duty ?
W13 - TIRIeR UN e &1 § ? 3R T8 e o1 2 2

What is Vernacular Press Act and when was it made ?

3[Ydl/ Or
YT T T MR g ?

What is the meaning of Gatha Geet ?



Y14 - 1 BT IWIER AU F1 5 ? 2
What is vertical division of power ?
3{Ydl/ Or
T BT &S SeaRT R BT | ?

What is horizontal division of power ?
UY 15D G [bd Bgd § ? [l &l AP IASHITaD gall & A fafed | 2

What are political parties? Write the names of any two national political

parties.

3H{Ydr/ Or
J0Y U Y T R 3 ?
What is meant by affidavit ?

UY16 - To5~1 SRISTRI I 31U T IHd o ? 2
What do you understand by disguised unemployment ?
3{Ydl/ Or
T &% T § ? 3aTeRUl G [ARaY |
What is service sector? Write with examples.
W17- I AT omelt ¥ o7 TR § ? SaIexUl g oy | 2
What is meant by barter system? Write with examples.
AYdl/ Or
&I 1§ ? 3P ol UIE B [Aad |

What is money? Write its two main functions.



WY18- YRA H a1 &I fdva1 T & dfel T § 2 Wie o IHemsu| 3
In how many parts the forests in India are divided ? Explain in brief.
3{Ydl/ Or
ey foaret ¥ fod UeR Wil amegfa sifd ud uroft Siifa & e
BT 8 ? Jad Ty H 39+ faaR fafad |

How the natural flora and fauna are being harmed due to human

activities ? Write your views in this regard.
UY19- fe1 &t Afge HrETRY = R S+ A=l o gadd i {2 R
afgd ferfed | 3
Why did the women workers of Britain attack the Spinning Jenny
machines? Write with reasons.
STYdl/ Or
TR, BoR 3R BiiaT T 3 Wy FHifor)
Explain the meaning of Stapler, Fuller and Carding.
UY 20- YT A IR B! dii [IATAT3H BT qui SHifere| 3
Describe three characteristics of the federal system of government.
S3{Ydl/ Or
YRA B &% INPR 3R I8 PR & s [Aurf qifaadl o1 fqurem fasan
T 8 | TR0 S ey |

In India, legislative powers have been divided between the central

government and the state government. Write with examples.



UY21- HRd BlS! 3Gl HI SRHAdT & IR HRUT [T 4
Write four reasons for the failure of Quit India Movement.
3H{Ydl/ Or
&R U & fo fAafefed o Rad fafad |
(i) a1 3fa3l SHT<Ie

(ii ) SIferaTaTel aNT §ATHIUS
Write a report on the following for the newspaper.
() Civil Disobedience Movement
(i) Jallianwala Bagh Massacre
UH22- ORI AR fFY Hed § 2 39 UHIdd H Il IR BRB| Dl
JHAIRU 4

What is international trade? Explain the four factors affecting it.

HYdl/ Or
URagd Td IIR & 1Y fHdt 2 ot deqa=yT ot sita= 31 i /4 SiTd
T | 390 HYT B TIH T U fITR Igexur s oy |

Why are the means of transportation and communication considered the
lifeline of a country's economy? Write your views with examples in
relation to the above statement.

UY23- HRd & AR | FafiaRad e a Soil &3 o gzl 4
() RIRI
(i) H=U
(iii) el
(iv) SR&CH

10



Show the following mineral and energy sectors on the map of India.
(1) Singrauli
(i) Namrup
(1ii ) Katni
(iv) Amarkantak

S{Ydl/ Or
YRd & HFfH | Fafeied Rl & gzl
(i) URTGTT ST
(i) BT farsragR, SFTCIRIgR A uTed e
(iii ) TSRS
(iv) 3fpAR

Show the following places on the map of India.

(i) Paradweep Port
(i) Hazira Vijaypur, Jagdishpur Gas Pipeline
(iii) Balaghat

(iv) Ankleshwar

11
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i, ity sfrard 7 |

i, Ud® Uy & o edfed s Iud T Sifahd § |

i.  UHHHID 19 5 b 30 TS UY ¢ | TP IU-UYH R 1 3% FufRa g |

iv. UAPHHD 6T 17 a6 $d 12 U4 | IAS UY W 2 3k Ruika 8 | sg Far @ 30 T2 7 |
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1. 8! faweu &1 99 o fafau - (1x6=6)
i. Sfderer Bt TSN BT guH fava § -
(31) TP T I @) 4R quA CRIESCIE] (@) Fg au
ii. o ' Wea FT 9 § -
(3 g4 gl @) e () SToR BT @) g g
iii. ST Wt W g -
(31) GY X B @) AU T BT CIEERSES @ YIHS X B
iv. T YT oIt A UFAeT o1 e foar -
(37) TGl @) gl () BIGHRI (@) SIaTuit
v. For o & v v st ok g ve Al e R S PEd © -
(31 fe wo™ @) &g 99 () ST YEa TN (§) HHYRYT IHN
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(31 fRrager we™ @) PHAYR (@) BUNERAIY Y (@ S gred
2. fYoa vl @1 gfd o= fafee - (1x6=6)
R | M © | (MEH/AR)
T | RAR 3| T2 K3 r-Aon: e = R — TOT BT § | (TS
iii. TP b Siia 1 bt Teb TeT BT YUicll b A1y Formor - # 81§ | (FUSHId/HETDIe)
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R 1o Rfdern &t R Sfaar § | e ufean)
3. Frafafed sy & 9we I a1 oy fafee - (1x6=6)
i, TRERM By & S HaHid 81 77U |
i, 38T U aftfep TR |
iii. SaTt T &1 UgE faur g |

iv. TGS P TaTel BT UeR bl Sl g |
v. T 93 T8l gl | UG ar=a g |
vi. PIBR 3 TIT 3THa BT & ST Ted Tl 2 |
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4. g oS &1 e w7 fefaw - (1x6=6)

T (3D T (9)
i QTYRT (@) WUSHIA
i 3dH _ @) TeI=id
il g USRI &1 AT @M UeharH ufed
iv  gemmERd @) Ue & §d o
v TSP Ve @) AT
vi T 3R U TRE @) dF
5. frafafaa usl & SR ve aray | fafae - (1x6=6)

i. ST TG $1 /B’ HiadT s U § UhIRid gs ot 2
i "OR W UR T Ufdd I Ugad SdbR & Y fafau |

iii. T H p1Rf Py A A ufaffa g 2

iv. T § 3ifi 31f 37 1 WG T BEAd & ?

v. foram arf 3 Wgh A frge e sar g 2

vi. TR 3R YT 3NAT<R fIT=Ier ) {6 YohR Uga= uran g 2

6. JfdepTelia HIS o HIITT B TH 376! Uh-Us [T & 1Y faf@u|
3ryar
TS Pfadl &I 1S - < fadvany vgiat |

7. ORI JrydT et FAUTd! TR &1 Progrd faRivery Fafefead forgaii & efuR w fafee -
i AIEE i, HTaUe — Hamgef

8. TRYRM A Hg¥aag &I a4 Fi fopam ot ? fafey |

3yt
TR R I8 ufRrl fodent Ul © ? S0 A1 ¥ Sid SRRi®R UNTe &1 g1 I18d & ?

9. B AN & TR B &1 ¢ 2 [T |
3ryar
TTaPR o - T Peor =0t H e e — MRSTSH &1 Heg B & ?

10. U BT ford Ed § ? 3% UBR & 1Y [y |

3yt
Aregd 1707 Bt TRUTT IgTERT Aigd A |
11. TIUTE B & &0 IATERVI Aigd A |
WWW%WWWW|
12. HEF SR I B HE —af 3R e |
Wﬁiwﬁﬁ%{g&ﬁ?%@ﬁl
13. I S ST IR Bt A1l fRvan FafiRad fargelt & smur w fafee -
i QTGN i HTT-RIeR
14. -TIT9 TT6E GRTERT @M B TR BT qUF T@-dT SET U6 & YR W R |

3yar
AT 7 HeR! & Afdkid W fob-fo safaadl &1 fvd = u & gy uer 2
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(2)

(2)

(2)

(2)

(2)

(2)

(2)

(2)



15. T[S B gi-aT H SHRIG &1 0 TTe; fobaT ST /7 )
3T
TGS YT 3T DT & TR AT TR ?

16. FRufafad areaia & foru te se forfau - ()
i. AP TG-S DI T8 a1
ii. o SleT A ST 9%
3Yqr

frafeRed depiferral & 3red ferard gu dTeg H Wi IfeTg -
i. 3TH & 3MTH oferdl & aH
i. 3¢ &b gg H IR

17. B A9 N H T TarBTSit BT T B THT- 3T STERT B 3R Hbd BT @ ? )

3T
m;@%Wwaﬁwﬁ@wﬁ@WWﬁﬁmmw%mw
HRUIE ?

18. ffiRad Breuier o1 Hau-uw afed Hrard fofeg - ®3)
T 1 A Hie T8 |
DT TIE B T H, el IR Hel|
3fafer YR Y STa I, q 7 forr Fg |
319 37 O Yol g-gi, faRfe faves <&l
Aefa goit TRT fordie o, 9d o YR Ta1
PR e IR RfE T, TRewmer A @d 1|

3ryar
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g !, B 81 I8 & 3T H-AfeH SUs™

19. Fofoaa T &) Teuf —ueT gfed s oy - 3)
BIUGR WTed P! g Uged fad Hu-t & S & RIaRia H 39 He ¥ oAl Uedl 4Tl Hdl §gd del ol YTl
1 UawT AHH H8T ol & o FS gt ABM AR R IR H8T off b 9T U gt d6IR UT| e § T
TASH! P Tpd, TP TSB! BT Wpd, Ub WA BT BIel-91 BRAM], & 37 TR RAATR 3R T of
TRt Hf ff| TR R d@ $B-9-F2 Fxat ot @ B Fft DS TeF gawt wRa1 &, Fft B
URMEER §941 [AT, HHt Rl Bt SRl a+a1 & ot H Bid THe Hrar el

3rYar
g fq-muT & SO &Y M1 <81 o ! ST 7RG &A1 &, Sfcdh H ol I8 S@1 15l § [ b
Hfadd B DH-U1 Gelt 3R WfHT IR afdda & am-am & 1A gs ¢ a1 fob Srom-3rarg g 3%
IR 7 W iR fort Uit 1 579 2 feam

20. YHUH &I AH & e G g1l Sard §U U I a1 a farfau | 3)
3ryar
R Sl 1 e vy W e srgwe Rl |

21. FafaRaa smafdd wreaier srydr =il I Ugdhr e TN Usil & IR farfau - (4)

Ife o T51 &l Ghd oY, Hic HA-I-HH 7d qiaf |
T SATH AT Bt U], FHSIR §ST HIFG bl A
HA 1 Liieed BT H BIdl, Hecll BT Y TH |
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HIGH SCHOOL EXAM 2025

SUBJECTS- ENGLISH
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16 06 03:00 75

Instructions: All questions are compulsory.
Marks are shown with each question

SECTION A (READING)

Q.1  Read the following passage and answer the questions given below it.  (1x5=5)

Discipline must be enforced early in life. Discipline at home makes for the
future greatness of a boy. It forms his character and makes him a good citizen. The
child who is allowed to have his own way becomes way ward. A child whose habits
have been disciplined and who has been taught to rise early, attend to his lesson
properly, take physical exercise at a proper time and avoid things that are injurious,
will grow up to be a useful member of the society. The spoilt child who has been
allowed to run his own course will show vice in younger days. His parents would

wish that he had not been born at all.
Questions:
1) What does discipline do for child?

a) forms character and makes him a fit citizen b) makes child dull

c) makes him strong d) makes him way-ward
i1)  What evils does a child pick up when he is allowed to do what he likes ?

a) make himself happy b) catch cold and fall ill

c)  becomes a way ward d)  develop discipline in him
ii1)  What are good habits?

a) running in the sun b)  playing all the time

C) avoid things that are injurious d)  exposing himself to cold
iv)  Which of the following is the appropriate title for the above text ?

a) Importance of Discipline b)  Importance of Physical Exercise

c) Importance of Daily Routine d) Importance of Nature



V) What does ‘spoilt” mean ?

a) greatness b) injurious
c) destroyed d)  disciplined
Q.2 Read the passage and answer the following questions. (1x5=5)

One day a wonderful plate made of gold fell from heaven into the court of a
temple. These words were inscribed on the plate. “A gift from heaven to him who
loves mankind the best.” The priests invited people to the temple and told them
about the gift from the heaven. All claimed that they loved mankind the best. Then
each one got up and one by one narrated his own kind of deeds but as soon as he
touched the plate, it turned into lead. The richest man in the city got up and spoke
about his big charity. But as soon as he touched the plate it turns to lead. A poor
farmer was also present there. He did not know about the gift. He sat in a corner
quietly. People called him. He bowed to the priests and touched the plate. It shone
more brightly. The priest awarded the plate to the poor farmer.

Questions:

1) From where did the plate of gold fall ?

11)  Who was awarded the plate ?

ii1)  What happened when the richest man touched the plate ?

iv)  The noun from the verb 'invited' 1S ..............ccooiiiiiiiiin.

v)  The word ‘inscribe’ means -

a) to carve b) to read c) to paint d) to write
SECTION B (WRITING)
Q.3 Read the passage and answer the questions that follow: 4)

Spiders are men’s friends. The spiders are among our best friends. They
destroy many harmful insects, including some of our worst enemies. There are the
insects that devour crops,cause diseases both to us and to farm animals and torment
our skins. Spiders do not have specific insects, which they prey on. They kill and
eat whatever insects are available, though they do not usually prey on the large

ones.
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There are two main groups of spiders: the weaving spiders and the hunting

spiders. These two groups differ in various ways. The weavers have bigger spinnerets

(those parts of the body from which the silk comes out) and their legs are generally

much longer, with special claws at the end. The hunting spiders (which do not spin

webs) have smaller spinnerets and strong thicker legs. They have better eye sight than

the weavers but the weaver’s sense of touch is more developed and they are highly

evolved than the hunters.

a)

b)
Q.4

Q.5

Q.6

Make notes on the basis of your reading using recognizable abbreviations
wherever necessary.

Give a suitable title.

You are Alok Sharma, a student of Class X-A in Govt. Higher Sec.

School, Rajgarh. Write an application to the Principal of your school

requesting him to issue you books from the School Book-Bank. “4)
OR

You are Ritik /Ritika, live in Indore. Write a letter to your friend inviting

him /her on your birthday party.

Write an essay on the any one of the following topics in about 150 words. (5)
a) Value of Games and Sports b)  Importance of English
C) Science and Man d)  Freedom of Press

OR

Write a paragraph in about 150 words on ‘Online Education’.

On the basis of the picture given below, describe the impact of mobile

on students (in about 75 Words) 3)

LEARNING YOOLS AND
APPS:

ORGANIZATION AND
PRODUCTIVITY:

ACCESS 1O ONLINE
LEARNING:
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SECTION - C (GRAMMAR)

Q.7  Fill in the blanks choosing the correct alternative given in the bracket.

(Any five) (1x5=5)
1) Heruncleis .................. MLA. (a, an, the)
i1) His grandmother died .................. cancer. ( from, than of')
i11)  The train had left the station before we ............... there.

( reach , reached, had reached )

iv)  Walkcarefully ...................... you will fall down. (or, and, but)
v)  Thereare.................. flowers in this garden. ( many , much , any )
vi) We..oooooiiiin to respect our elders ( should, ought , must )
Q.8 Do as directed. (any five) (1x5=5)
1) Unless he invites me, [ won’t attend the party. ( rewrite the sentence using ‘If *)
1) They have made it. (change into past continuous tense)
ii1)  She is too tired to work. (rewrite the sentence using ‘so ....... that”)
iv)  He cut his finger. (change into negative sentence )
v)  Anuj is playing chess. (change into passive voice )

vi)  The boy is my best friend. The boy is standing in the corner.

(combine the sentences using ‘who’)

SECTION D (TEXT BOOKS)

Q.9 Answer the following questions: (1x4=4)
1) The bakers are known in Goaas .......................

a) packer b)  pader

c)  kabai d)  bread bangle
i1)  Lencho called post office employeesa .......................

a) a pack of thieves b) a bunch of crooks

c) a team of players d)  a group of actors

111)  What food did the seagull’s mother get for it ?
a) insect b)  crab
c) prawn d) fish

1v)  Anne Frank called her diary .......................
a)  Margot b)  Young girl
c) Kitty d)  Grandma
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Q.10 (A) Read the following extract from the prose and answer the questions given

below :

(1x3=3)

But for Valli, standing at the front door was every bit as enjoyable as any of the

elaborate games other children played. Watching the street gave her many new

unusual experiences. The most fascinating thing of all was the bus that travelled

between her village and the nearest town. It passed through her street each hour, once

going to the town and once coming back. The sight of the bus filled each time with a

new set of passengers, was a source of unending joy for Valli.

Questions:
1) What was Valli’s favourite pastime ?
a) standing at the front door b) standing at the back door
C) standing at the park d) standing at the balcony
i1)  The source of unending joy for Valli was to watch
a) old passengers b)  new passengers
C) children playing in the park ~ d)  villagers
ii1)  The bus passed through her street each hour. (True / False)
(B) Read the lines carefully & answer the questions given below them
If strolling forth, a beast you view,
Whose hide with spots is peppered,
As soon as he has lept on you,
You’ll know it is the Leopard.
I will do no good to roar with pain,
He’ll only lep and lep again.
Questions:
1) From which poem have the above lines been taken ?
a)  How to Tell Wild Animals b) A Tiger in the Zoo
c) The Ball Poem d)  The Fog
i1)  Which animal has been described in the above lines ?
a) lion b)  tiger
C) leopard d)  panther
111)  What does the word ‘beast’ mean ?

a)  bird b) insect

C) animal d)  creeper

(1x3=3)



Q.11
i)

i)
iii)
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Vi)
vii)

Q.12

ii)
iii)

Q.13

ii)
iii)

Q.14

Q.15

Q.16

-6-
Answer the following questions : ( 30 words) (Any six) (2x6=12)
What did Lencho hope for ?
What compelled the young seagull to finally fly ?
What twin obligations does Mandela mention ?
Why did Anne want to keep a diary ?
What are the elders in Goa nostalgic about ?
Where is Coorg situated ?
What did Mij do to the box ?

Answer the following questions (30 words) ( any two) (2x2=4)
According to Frost, what are the two different views about the end of the world?
( Fire and ice)

How does the fog come ?(The Fog).
What does the poet compare their branches to , in the poem ‘The Tree ‘?
Answer the following questions (30 words) (any two) (2x2=4)
Who is the real culprit in the story ‘A Question of Trust’?
Why is Bholi’s father worried about her ?
Why had Fowler wanted to meet Ausable ?
Answer the following questions in about 75 words. 3)
Describe the narrator’s experience as he flew the aeroplane into the storm.

Or
What does Kisa Gotami understand the second time that she failed to
understand first time ? Was this what the Buddha wanted her to understand ?
Answer the following question in about 75 words. 3)
What is theme of the poem ‘A Tiger in the Zoo’ ?

Or

Write the central idea of the poem ‘Amanda’.

Answer the following question in about 75 words. 3)
In the end of the lesson, Mrs. Pumphery says * This is a triumph of surgery.”
Why?

Or
How did the invisible man first become visible in the story ‘Foot prints without

Feet’ ?
skoksksksksksk
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Total Total Printed Pages Time Maximum
Questions Marks
23 8 3 hours 75
fder—

(i) ot g% it |
(ii) U2 HHIB 1 W 5 IF & UId IuUeH W 1-1 376 FiRd 2 |
(iii) U= HHIH 6 H 17 b d YD U 2 37 BT ¢ |
(iv) U= HHiH 18 ¥ 20 T& & UAP U 3 3% & 7 |
(v) U9 HHid 21 9 23 IF & UIdH U 4 3(F BT T |
Instructions:
(i) All questions are compulsory.
(ii) Sub-question of Question numbers 1 to 5 carry 1 mark each.
(iii) Question numbers 6 to 17 carry 2 marks each.
(iv) Question numbers 18 to 20 carry 3 marks each.
(v) Question numbers 21 to 23 carry 4 marks each.

1 el fasen grax fafag: — 1x6=6
(i) (12,16, 20) BT HCF &—
(o)1 (b) 2
(c) 3 (d) 4
(ii) Raw Igus @1 °1a BN -
(a) 0 (b) 2
(o) —1 ()1
(iii) ¥R e a;x + by + ¢, =0 T a,x + b,y + ¢, =0 & & Ifgdg g
W BT o g
a; _, by ay _ by _
@, 5, ®==n=x
@5 =5*s @5 =5,
(iv) feora wfiaxv ax? + bx+ ¢ =0, a # 0 ¥ 3 R IRIAD ol S G-
(a) b2+ 4ac =0 (b) b?> —4ac >0
(c) b?> —4ac <0 (d) b>—4ac=0
(V) AP. —3, =, 2,...%T 11 4 U8 §—
(a) 28 (b) 22

(c) — 38 (d) — 22



(vi) g P(=7,7) ok Q(—2,—3) & &1 & g 8-
(a) 5vV5
(c)6V5

Choose the correct option and write it -

(i) HCF of(12,16,20) is -

(@)1
(c) 3

(ii) Degree of linear polynomial is -
(a) O
() -1

(b) 5v6
(d) 4V5

(b) 2
(d) 4

(b) 2
(d)1

(iii) The condition for the systems of equations a;x + b;y +c¢; =0

and a,x + b,y + c, = 0 have a unique solution is -

aq b4
(@) = # b,
G214
(C) az by > C2

(h) L=2=2

a; by

@ 2=2

a; by

(iv) The quadratic equation ax? + bx + ¢ =0, a # 0 will have two equal real roots, if

(a) b* +4ac =0

(c) b?> —4ac <0
1

(b) b?—4ac>0
(d) b> —4ac =0

(v) 11th termof the A.P. —3, _7, 2,...0s
(a) 28 (b) 22
(c)—38 (@) — 22
(vi) Distance between points P(—7,7) and Q(—2,—3) is —
(a) 5v5 (b) 5V6
(c)6V5 (d) 4V5
R o=t @ gfif S —

(i) fgara FHaT ax? + bx+c=0,a # 0 & forg fafdadar D = ...

(i) A.P. D YTH N UG BT AT S =

(00) T G o SRl

(iv) IO T IFHT TR XET & IHIMD 4G o B P ©

(v) &0 v &1 |1 URME geRll ST YRSl BT M. ... BT & |

(vi) g9 & N fdg oR woel Y@, el fdg A S arell B9 W e Il & |

Fill in the blanks :

(i) For a quadratic equation ax? + bx + ¢ = 0,a # 0 discriminant D = .........c..........

(ii) Sum of first nterms of an A.P.,S =...cccovvveevvenne.
(ii) All circles are ....coeeevveereererennnens

(iv) The common point of a tangent to a circle and the circle is called .......ccccoveereeevenennee.

(v) The Sum of the probabilities of all the elementary events of an experiment is ............

(vi) The tangent at any point of a circle is .....ccccecveericvnnnns

contact.

to the radius through the point of

1x6=6



& WIS sy — 1x6=6

Hus 3’ s §’
(i) 3Tl &7 T ORI &b (a) 0
(ii) 991 BT G T EFAB (b) 1+ cot?A
(iii) I & TP FURITS BT &b (©) —
(iv) cot A (d) 2nrh
(v) cosec?A (e) an
(vi) sin0 () E
Match the correct column :

Section ‘A’ Section ‘B’
(i) The curved surface area of the hemisphere (a)0
(ii) The curved surface area of the cylinder (b)) 1 + cot?A
(iii) Area of a sector of a circle (c) —
(iv) cot A (d) 2nrh
(v) cosec?A (e) Zm”
(vi) sin0 () ﬁ X Tr?
f=fofRea § v /s failReg — 1x6=6
(i) TR (x — 2)2 + 1—2x—3W@WWW:I%T%\’I
(i) AP. 2,2, =, =, .. @ WER —2 B
(uz)@ﬁm@‘e@%{ﬂﬁwﬁﬁ%l

(iv) fa=gait A(3,—1) 3R B(6, 4) &1 77 fag (9, 3)2 |

(v) f&ft ge1 E & forg P(E) =1 — P(E)

(vi) ddr gygfcd & AMSGT § Ue ARG Fey g, 91 fFrferRad 2 |
3 AIEAH = Tgeleh + 2 ALY

Write True/False in the following:

(i) Equation (x — 2)? + 1 = 2x — 3 is not a quadratic equation.

(ii) The common difference of the A. P. g, %, _71, _73, v iS—2

(iii) All isosceles triangles are similar.

(iv) Mid point of points A(3,—1) and B(6, 4) is (9, 3).

(v) Foranevent E, P(E) =1— P(E)

(vi) There is an empirical relationship between the three measures of central tendency.
3 Median = Mode + 2 Mean

TP BT TP e /90 H Ik forlag — 1x6=6
(i) DIUT—BI (AA) FASRUCT BT forfay |

(ii) ﬁ@&ﬁ P(x1, y1) 3R Q(xp, y,) & 14 Eﬁaﬁ ferfeay |

(iii) 3fe Y@ &1 ufvamr forfay |

(iv) o9 & BFu@ve & 9N & s & G oy |

(v) & g & fran wet Y@ g dad 2

(vi) JFaTHT BT BT aRETT fARIT |




Werite the answer in one word/sentence of each :
(i) Write the angle-angle (AA) similarity criterion.
(ii) Write the distance between the points P(x;, y;) and (x,, v,) .
(iit) Write the definition of line of sight.
(iv) Write the formula for the length of the arc of a sector of a circle.
(v) How many tangents can a circle have?
(vi) Write the definition of the angle of depression.

5005 Bl ST [OTRITS & ©F H A DIFIY | 2

Express 5005 as a product of its prime factor.
31eqar / OR
8,9Td 25 &I HCF 3R LCM =d HIRT |
Find the HCF and LCM of 8,9 and 25.
fgamd 9gus x% + 7x + 10 & YD 1A DI | 2

Find the zeroes of the quadratic polynomial x? + 7x + 10.

3ferar/ OR
foell Tgue Y p(x) & foTT, y = p(x) &1 U6 - faar T 81 p(x) &
SR X~ X A |
v

The graph of y = p(x) is given below for polynomial p(x). Find the number of zeroes of p(x).

Y

fgemd agus x2-3 @ YD BT INTHS T4 [OFH A DI | 2
Find the sum and product of the zeroes of quadratic polynomial x?-3..
3qdr / OR
-1 1

v feend ague Sra S, Rrd el o1 AT 9 Trhd HA: -, 2§

. . . -1 1 .
Find a quadratic polynomial whose sum and product of the zeroes are w3 respectively.



10

11

12

ﬁﬂqa'a—,z—;sﬁ?z—:aﬁwwaﬁaﬁﬁmﬁsﬁwmmwﬂﬁﬁ%mwﬁ |

as
2
3x+2y=5
2x—3y=7
On comparing the ratios Z—:,z—: and E—:, Find out whether the following pair of linear equations are
consistent or inconsistent.
3x+2y=5
2x -3y =7
3ar/ OR
=1 XRaw TRV I B BT HINY |
x+y=14
x—y=4%
Solve the following pair of linear equations.
x+y=14
x—y=4
UGS §RT GHIBRYT 2x2 —5x +3 =0 & o A DI | 2

Find the roots of the equation 2x? — 5x + 3 = 0 by factorisation.

3rrar/ OR
fgamd AT 2x2 + kx +3 = 0,¥ k &1 VAT A9 910 SINY {96 &I aRER I 8 |
Find the value of k for quadratic equation 2x? + kx + 3 = 0, so that they have two equal
roots.

TI 3! aTell fhd=l G 3 & faursy € 2 2

How many two digit numbers are divisible by 3?

3rar/ OR
Th A.P.Ha=5, d=33R a,=50 8n d BT
InanA.P.a=5, d =3and a, =50, Find n.
afd AABC % DE || BC 8, @ EC Td HIfTY | 2

LSem 1 em

Ifin AABC, DE ||BC then Find EC.

1.5 cm‘v,/ﬂ cm
D ]E 5

3em
P \

B ‘c



Write the statement of Basic Proportionality Theorem.
13 fa=gall P(—1,7) 3R Q(4,—3) &I M arel War@ve T 2: 3 ¥ 9T &_ aret fag &
Fcen®  91a IR | 2
Find the co-ordinates of the points which divides the line segment joining the points P(—1,7) and
Q(4,—-3) intheratio 2:3.

3qar / OR
afe fdg A(6, 1), B(8, 2),€(9, 4) 3R D (p, 3) U FHicR TGyl & AN Al %A H 81, dl p
DI HIT <S1d &7 é|Q |
If the points A(6, 1), B(8, 2),C(9, 4)and D (p, 3) are the vertices of a parallelogram, taken in

order, find the value of p.

14 ?Jﬁ{sinA=%,ﬂTcosA3ﬁ?tanA€FrHWQﬁmﬂﬂﬁﬁml 2

If sin4d = Z, then find the value of cosA and tan A

sin60°cos30° + sin30°cos60°

Evaluate the following.
sin60°cos30° + sin30°cos60’
15 UTWRgAINTS TS b= ¥ S5om U W 2, I W W @ BT o418 4em 1T B

s g S | 2

The length of the tangent from a point A at distance 5 cm from the center of the circle is 4 cm.
Find the radius of the circle.
3rar / OR
g oI & aga g & ga =GN T2 et Y@l o gl R B g |

Prove that, the lengths of tangents drawn from an external point to a circle are equal.

16 afaar iR gHieT <1 A3 § g9@t w1 wi¥edr € 6 <=n 2
(i) & S=-fes fa=1 f=1 &f ?
(ii) &1 STfes U &1 81 ?
(7 &7 9§ BT BT §Y)

Savita and Hamida are two friends. What is the probability that both will have
(i) different birthdays ?
(ii) The same birthday ?
(ignoring a leap years)
3qdar/ OR
afe P(E) = 0.05 &, I ‘E <81’ &I Uifidar a1 2 |
If P(E) = 0.05, what is the probability of ‘not E’
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18

19

20

21

TS UHR F Bl T8 52 Ucdl Bl U T8 H ¥ Udh Ucdll wTall 1Al € | SAd] UTiidvd]
YRe&ferd HINTY fh I8 U -
(i) U® gl BT,
(i) T sap1 A8 BT | 2
One card is drawn from a well- shuffled deck of 52 cards. Calculate the probability that the card will
(i) be an ace,
(ii) not be an ace.
3rdar/ OR

T ol # 3 oTel MR 5 BIell 1< &1 39 I # | TP 5 IgeodT N@rel Sl 8 | g9 Wi
w1 ® b g (i) orat 81 ? (i) ot F81 8 ?

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from this bag. What is the
probability that the ball drawn is (i) red ? (ii) not red ?

Rig HIRT & 3 + /5 v uRay G 7| 3
Prove that 3 + \/E is anirrational number

3qdr/ OR
S BITY b T bl UThd W& n & oY, 61 67 3feh 0 TR FATG 8 |ebdll & ?
Check whether 6™can end with the digit O for any natural numbern ?

A R v g W, HFR 31 urg g 30m B Q@ W ¥, AR B R B S+F B
30° 8| WHR B SaTg Sd B | 3

The angle of elevation of the top of the tower from a point on the ground, which is 30m away from
the foot of the tower, is 30°. Find the height of the tower.
3e@ar/ OR
1.5m oW T UeTd b -l & 28.5m & g WR ¢ | ID! ARl I AT & RIRER BT I~
DI 45° 2| Fome @ TS ST B
An observer 1.5m tall is 28.5 m away from a chimney. The angle of elevation of the top of the
chimney from his eyes is 45 .Find the height of the chimney.
6 cm 331 ATl U g & Y (oaravsS & &b S difly, eargvs &1 dior 60° 71 3
Find the area of a sector of a circle with radius 6 cm, If angle of the sector is 60
3qdar/ OR
U TSl B e B ge foaa] g 14 om 21 39 g gR1 5 e d Rq ashe wid P |
The length of the minute hand of a clock is 14 cm. Find the area swept by the minute hand in 5
minutes.
ST 3BT B THh AT T IHD 3Pl Bl Soled UR g1 AT BT AN 66 © | IS AT & 3l
PT IAAR 2 B, AT FEAT A DI | 4
The sum of a two digit number and the number obtained by reversing the digits is 66. If the digits of
the number differ by 2 . Find the number.
Jgar/ OR
AT AN AL IS I TN R AF 1 (@ O §, AT A9 1 H Igad Il g1 I W A 1 9IS T,
a7 - & ol ¥ | 7w e R 2

If we add 1 to the numerator and subtract 1 from the denominator, a fraction redues to 1. It
becomes ;, If we only add 1 to the denominator. What is that fraction?



22

23

g Ract=T 3591 3.5 cm aTel Ud 2 & SMHR BT &, ol ST AT dTel Td @A TR
IIRINT 2| 39 Racll= & Tl Ja15 15.5 cm & | 39 RacT &1 G0 q&SH &% 91d
BIFTT | 4

A toy is in the form of a cone of radius 3.5 cm, mounted on a hemisphere of same radius.
The total height of this toy is 15.5 ¢m. Find the total surface area of this toy
3erar/ OR
TP SN, Ud G TR TS Uh g & AMHR & & el B 1.om & e oiq o a1
SAG] 35T & IRIE] 8| 39 1 BT AT 7w b Ul | S BT |
A solid is in the shape of a cone standing on a hemisphere with both their radii being to 1cm and the
height of the cone is equal to its radius. Find the volume of this solid in terms of m.

frferRaa AR 35 TR & AeRdaT &% (@ #) S € | Ay AeRar &)

ST DI | 4
[neRar &3 (uforera ) 45 — 55 55 — 65 65—75 | 75—85 85 — 95
TRl B H=T 3 10 11 8 3
The following table gives the literacy rate (in percentage) of 35 cities, Find the mean literacy rate
Literacy rate (in %) 45 — 55 55 — 65 65— 75 75 — 85 85 — 95
Number of cities 3 10 11 8 3
3rrar/ OR

T WFR AT FRRIGT § 100 oA™Y Y 3R S99 Ugad IAUSI quiHTal & 3eRT Bl
AT Bl AEfRad IRARAT g UTed g3

JERT DI AT 1—-4 4-7 7—10 | 10—-13 | 13—-16 16 — 19
BTl DI A=A 6 30 40 16 4 4
HA AT BT gD AT DI |

100 surnames were randomly picked up from a local telephone directory and the frequency
distribution of the number of letters in the English alphabet in the surnames was obtained as
follows:

Number of 1-4 4-—-7 7—10 10 —13 13 —-16 16 — 19
letters

Number of 6 30 40 16 4 4
surnames

Find the mode size of the surnames.




